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1. Guqit) qowhG opwqpiwG dnnbp:

huGnhp 1: «GnGhy» thwy puditnhpwlw6 paYtpmpymbp wpnwnpmd £
tptp wbuwly 2ppltpy’ htinmly, vwnwihb,hwjwm, oqunugnpdting dhwidwb
luwnGnipy wuwwmpuwunng SkpGwbtp b wluwwnwbp:
QtnGwpYynipjwl giluwynp hwpquwwhhlG bwlédGwpupguo b dywll] wpnw-
nnmpjwi dpughp’ zwpwpwwi yppGhpy pnuipltine hwdwn:

Unynuuwynd pipjwd GG wbnbympymGGtp 2ppGpyh ywewnph qbtpp L
thniinfuniG dwuubph Jupuptpyug:

Cpplitpy
Uhwinpp’ ynd Lbnny | Uwnuiht | dwjjwm

Jwétwnph ghlGp 120 126 110
Upunwng. dwhuubpp 1. hwdwp

<nuiph wpdbpp 11 25 20
UtuwmnwGph wpdtpp 30 36 24
fuwnGmpnh Ywwpwunmdwi wpdbpp | 32 20 36
U1 dwluubip 12 15 10

Uty wzfuwwmwdwih wpdtpp Yuqinmd £ 300 npud, huly jpwnGmpnh ujuwwn-
pwuwndwG dtptiGwgh 1 dwdp 400 npwd: Uuwwnwlpwihl dwiwpwGulyp
uvwhiwluthwlyywd b wpwpwjwl 8000 wyluwwmwdwdny, huy fuwninipn
wwuwpwuwnnn dtphGwGiph w)uwwwdwitpp vwhdwlunhwlywo LG pw-
pwpwlwG 5900 dwiny:

LCun wwjpiwlGuqgph pGYtpmpymbp wbwp L wpumwnpp wpwpwlub
250001. thwypww ppGtpy: {tnniy yppGhplh wnwybjwgnyG wwhwiowplyG
ukl ywpwpyw hwdiwp' 35000q.,huly vwnuhb zppGtpyh° 29000 1.:

MuwhwGoymy k.

w) Jwltipyl) qowjhl dpwgpdwb fuGnhpp, npp pnty) wmw npngbp henmy
L uvwnuht pppGhpyh Jwpwpwuwl wpnwnpmpjul owywlbpp L wnwyb-
pwgnt)Gh hwuglh vuyywuybhp zwhmpp:

p) Lmol wyn puGnhpp qowgpnpbl: Opnpb) dbYy pwpwpdw hwdwp
wpunwnpmpjub (wywgml dwywGhpp L vwywuybihp whnypp:

q) {dwqupyty, pb fuGnph wy momd unmwGum hwdiwp hGypwlny whwnp
L tnfuty htinmly yppGhpyh wSwnph qhlp:

huGnpp 2: Uhowqquyhl pwGYwihl Yuwqiwybpuynpjwb Ghpppmdlbpp
qony YunwywphyG hp mpwiwnpmpjw wwl mGp 550 §)6. wnu:

Lu mumiGwuppnd £ hGupwynp GipnpmudGhph snpu nnwppbpul.

» whunwlwl wpdkpnpbp,
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» JhmpjmGGuph wpdtipnphn,

» uyquwuwpydwl nnpunh §ymutph hwuwpuy pwditnndutp,

» wmnunpmpjuG ninmnp §ymuntiph hwuwpwy pwdGhnndutp:

Yunwywppsh Guunwy b GepnpnudGiph Jspunwupddwi yuwhh dwpuh-
dwgnuip: Swpbywl wnynuwnpnypp 1, 2, 3, L 4 nwppbpwlltph hwdwp
Yuqimd t 8%, 9%,10%, L 12% huiwuwunnwufuwGwpwp: Q6EpnpYwse npw-
dwlwl vhonglGtnn demd 66 pwlljughl huyymd L pipmd 56 uvmupbljeG 4% ywh:

Guwnuwnjwphyp npmpby B 50 d16. gnwdhg ny wwljwu Gepnlty ShmpymGGb-
nh wpdbpnptph dbe, huly nhulh wwpptipny GepypmdlGsp Junwpt 300 §a.
npuihg ny wybih: fwgh wyn, 6w hwiwpmd t, np npwdwiwG dhengGhph
qnGt Ytup whwp t GhpnGt; hwuwpuy pudGhnniubph dbe, huy Ghpnpmd-
Gbph pGrphwimp gmdwph dbY punnpnhg ny wykhG wpnwnpmipjwl ninpuh
§jnutiph pwdGnndubiph dhe:

huGnhp 3: QtnlwpympymbGp pnnpupymd t A L B tpym nbuwly wpnw-
npulp: A wpnwnpuph hpugdwG owjwp Yuqimd b B wpnwnpuiph
hpwgiwG owywih 60%-hg ny wpwhwu: Gpym wbuwl wpnwnpubiplbph pn-
nupliwl hwiwp ywhwieynn hnuiph dby opfw wwywpp Yuginud t 400
wni: A wpnwgpudph hmdph dwhup uqimd t 10, huy B wpnwnpuéph
hnudph dwpuep 20 wnd dtY dhuwynph hwdwp: A L B wpnunpuGpGliph
qGtpp hwiwwywwnwutwiupwn hwjwuwp 66 40 L 70 wnd-h:

A UL B wpnwnpu@pGhph pnqupydwl hwdwp npmzt) hndph jwywaqm)l
pw2funuip:

lulnhp 4: QtnGupympymGp pnqupymd £ A L B tpym nbuwl wpnw-
nnubp: A wpnwnpulph hpwgiwl dwywip juqimd b pighwinp wpow-
nnuiph hpuwgiw dwywih 40%-hg n wjwhwu: Gpym mbuwl wpnwgpuip-
Giph pnquplpiwG hwiwp wwhwieynn hnuiph kY opyw wwywpp Yugqinu
t 400 wmpi: A wpnugpuGph hndph dwituup juqimd £ 10, huy B wpwnwn-
pwGph hmiph dwhuup' 20 wnd dhy Shwynph hwiwp: A L B wpnunpuGpGs-
nh qGtpp hwiwwwwnwuppwGwpwp hwjuuwp GG 40 L 70 wnd-he

A U B wpnunpuipGtph pnmupydwG hunfurp npngt) hnwdph jwwugnyG
puwfumain:

luGnhp 5: UM pGytpmpymGp pnquipymd t Gpym dLh qifuwpy: 1-hG dlh
qluwpyh wpnwnpiwG wluwnwnupmpmbp bpyo wiqud wyb b 2-pn
4Lh qifuwipyh wpnwnpiwl wloununwpnipjnilhg: Gph Atnfiwpympymbn
ponupytp dhw)G wrwehG duh qiuwplGhp, www dhY opyuw pGpugpmu
Jupununpytp 500 giluwny: Gpym qluwnlGlph hpwgiwé opwlwi wiuip
Juquimy t 150-hg -240 qiluwpy: UnwghG dlh gqiuwplh qudwnphg uwnwg-
Jwd 2whniypp hwywuwp t 10 wnd, huy Gpipopn dUpGp’ 5 wnu-he

UnurjbpugnyG pwhnyp unwlwm hudwp jmpupwGymp duhg pwGp®
q(luwpy wtwnp t pnnupyly:
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luGnhp 6: Gpym Guwhiuqotph hpwlwGugiwl hwiwp wWwhwloynid LG
npnpwiyh npuniwljuG dhenglGtp ULl wwph wig A Gwjuwghop bpwpfuw-
Unpnud t Gepnpdwo 100 wni-h phiwg unwGuy 70 wyd jwhmyp: B Gw-
luwghop Gpwpfiwygnpmd b ympwpwbsymp Ghpnpwd 100 wnd-h nhdwg 200
wnd Jwhnyp vnwGuy tpym wnwpp htnen: B Gwfuwgdh ppGubuwynpiwb
ntupnd  GhpppmuiGbph  dwiwlwiwhwujwon pwqiwuyuwwbply b bpym
nwpwé:

hG;wt®™ whwp b wlGophlGly 100000 wnd gmiwpp, npujkiugh Ywpuhdwgyh
Gtpnpdwb uyqphg bphip nwph wig unwgywd gmuiwpuphb ywhnypp:

heGnhp 7: Opw i-pn dwihG wyunnpnuGtph wihpwdbyn GJuqugneb
pwlwyp hwjwuwp t b;, i=1,2,...,24: 3mpwpwlymp wjnnpnmu ppmnnud
thGmy t wGplnite 6 dwd: Gpb i-pny dwiwlGwwhuwnywomd wynnpnmubGhph
pwlwlp qtipuqubigmi t by dkompjwbp, wyw dkYy Jhptwdundh hudwp
wnwowlmu kG ¢; swthny jpuugmghy Gwhuubp:

SYyjwy huGnhpp dLwibpwbp npwybu jpugmghy dwuutiph YhGhdwgdwd
panhwGnip fuGnhp:

lulinhp 8: EiywpnGwjht wanymbGwptpnipjwl dtnGupynipynidp panup-
ymd t Gpym wntuwl pwnhnpGnmGh, pGn opmd, jmpuwpwyymp  wnbuwyh
hwiwp wywhwloymd £ wnw(épG mbfubnnghwljwb qhd: UnweohlG qoh wp-
wnwnpnpjul opwywl owywin fuqimd t 60 shwynp, tpypopn qoh opwlwd
owduyn' 75 dpwynp: Unwohl whuwyh nwnjinpGymbhsh pnqupliwG hw-
dwp wGhpwdbyn t 10, huy Gpypnpn 8 dhwGdwl vhubiw: Oquwuqgnpdynn
uutdwGbph opwywl wnwybjwagnyld ywwpp hwyjwuwnp b 800 dhwynpj:

Unwoh6 L tpypnpn wmbuwyGhph 4Gy punhnpGnmGhsh hpugdwG pwhng-
pi hwiwujwnmwuppwGwpwp hwjwuwnp £ 30 L 20 wyrd-h:

lpnpty ympwpwlynip wbuwlh nwnhnpymbGhyGeph  wpnwnpmpyw
opwlwl wpnniGwybn dwjwp

lGnhp 9: UM pGYipmpjwl wpmwnpulGpp hwlpuwdwiw; pupdlGhm L
wpunwnpmpjwl dwyuwp dhowgibim Gwwwwyny Junwlwphyp npogby b
gqnjugnly wpnugpuGpp: CaybpmpjwlG pymebtynmd gnjwqn dwjuuliphd
wpwiwnnjuo b wduwlwG 500000 wynd: Owihngndugnp jonipupwGyymn
mwtb wpdh 500 wnd, hul htinnwwwnwgndugnhGp’ 5000 wnd: Wy wywnéw-
nny pGybpmpjwl hwdwp dinGunm b nwnjngwigp oguruwgnpdby hinmuwnw-
gwlghg gqnGbt Gpynt wlqud wyblh hwéwju: Uwlwyl Gwfunpy wnwphttph
thnpap gnyg b wdhy, np hirpnunwagnguanfr jmpuwpwGyymp pnubng wuw-
hnyynn ppuwgdwl owjwp 2,5mblguwyd wybih t nwnhngnyugnh dby pnyting
wuwwhnyynn hpugdwb dwjwihg:

Nwnhn b hipmuwnwagnyugnh pGiphwGmp dwdwpwlwyp swybwp t qbpw-
qugh 4d.: Npn2ti; nwnhn L htnmumwgnjugnGbpph hwiwp wpudwnpjuo
npuwiwlwb vhonglGhph wiuwlw G puyduwgnyyl pw)junuip:
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luGnhp 10: Gpym wbuwy wpymbwpbpulwl wpnwnpuGphg jmpw-
pwiynipp hwynppupwn dywyymd t tpkp wwppbp hwunngGpny: <wu-
winglGtipp Jupbh t oqunugnpoty opwlwG 10 dwnd: Uwninpl ppwd wnymuw-
ymd GEpYjuyugywd GG ympuwpwGynmp wmbuwyh dkY wpnunpulph Quy-
twl dwiwpwGwyp L Jwdwnphg unwgywd whnypp: Qubp jmpupwi;-
Jmp mbuwyh wpnwnpulGph panupydwl podwgnyyG dwyup:

Upunwnpuwiip |Upnwgpubph dywidwi dwdwGwlp (pnyb) | Swhnyp
I hwuwnng | Il hwuwng HI hwunng

1 10 6 8 2 wnd.

2 85 20 15 3 wnd.

fulinhp 11. YpudwlwG ShengGhpp Yupbih b pw)tubi snpu nmwppbpuwyny,
NG npmy fuwnp mGh Gptp Gp: Unmuwymd ptipjwo t6 tptip Gipthg jnipw-
pwlyymph hwdwp huwdwywwnwuuwl wwppbpwymd Gepgpywd dhuwygnp

wnd-h nhdwg unwgywd whmjph (Ynpmuwnh) jwhbpp:

| Gip Ut dhuynp yni-h ghiwg unwgywd ywhnypp (Ynpnunp)
[ nwppbpwly Il mwppbpwy | I vwppbpul VI viwppbpwly
1 -3 4 -7 15
2 S -3 9 4
3 3 -9 10 -8

lwnugnnp Ywpon t hp 500 wni-p fjuwnh pGpugpmd oqunwqnpoby dh-
w)G ubYy wlquwi: fwnh §qphin Gipp Gwhiwwbu wGhwjn b vwnugnnp
pufumd b npuip wyGugtiv, np dwpuhdwglp Gepnpjwd gnudwphg unwgynn
Gwquqm )G gnuiwpp:

(OwlnpnipynG: LEpnpywd ShenglGbphg unwgywd gmiwpp Yupnn k h-
() pwgwuwlwd, qpryuljwa, Yuwd npulua:)

fuGnhp 12: CGYLpnipyniGp wpunwnpmd £ X L Y wnbuwl wpnwnpulp
oquuugnpdting A,B L C wmbuwy hnuip: Fpwlg wwpwpp, vty Shuwnp wp-
wnwnpulph hwdwp oguwgnpoynn hnidph pwGwlyp, yuwswnph qGtpp L thn-
thnfumG Swpuutipp pipdwo LG utnnpl:

Qb X U Y whuwl wpnwnpwiph pnpupiiw6 wjG Swywip, npp dwp-
updwglimyd t pGYtpmpymG 2whnypp: <Gunnwgnunt; FOl-h qqujnilnipyni-
(pX L Y wbuwl wpunwnpubph qGtph Gyuwndwdp:

4nuip (4q)
Upwnwgpuip A B C
X 4 2 5
Y 3 5 2
Mwywn 220 250 300




1.1 Yuquiby qowjhG opwgpiwG dnnbip

Upwnwnpuip Jwawnph qhb Onthnfuwlwl dSwhuubp
/uin | dhwynph/ / udn 4ty Shwynph/
X 400 200
Y 500 350

Qunlb; X L Y mbuwl wpnunpubph pnqupiwG wjG dwdwyp, npp dwp-
updwglmy t pGYtpmpymb pwhnypp: {<bmwqninty F0u-h qquyniGmpyniln
X L Y whuwl wpmwnpubph qGtph Gundwdp:

hGnhp 13: CGYLpmpymGp pnnupymy b uwhdwlGuwthwy pwiwynipjunip
tipYnt mbuwy Jugph htinmy X L Y pwniugwo tpkp punwunphyGtphg” A, B
L C: X LY wmbuwl yugph hinmly wpunwnpbint hwdwp ogunmugnpoytijhp A,
B L C wmbtiuwy pununppsGeph wwpwpp b hhGg (hwp wpmwnpuGph hwdwp
oquuwgnpdytihp pwGwyp ptipywo GG vnnpl:

X Y Muwpwnp / Yq./
A / gpud / 200 500 20
B/ gqpui / 500 100 25
C/qpui / 250 300 [ 30
11-g unwgunn
swhnypn /wynd/ 500 400

Mwhwloynmu t qunGhy, pti X U Y wnbtiuwly nppwl htinmYy ubtwp b wpunw-
nnb), nputugh pGYbpmpywa whniypp thGh wewybjwgnyGp:

luGnhp 14: QunGwpympjmbp pnqupynui £ Gpym wmbuwly wpmwnpubp’
A UL B: A wpnwnpwiph hpwgdwl Swijwip Yuqind bt wpunwnpuph
ppwgdwl pGnhwGmp dwywh 50%-hg ny wwlwu: Gpym wnbuwl wpnw-
npwlpGtph pnnupyiwl hwiwp wywhwbgynn hnuiph wky opjw wuwywpp
Juqinui £ 100 wni: A wpnmwnpuph hmdph dwhiup Juquind £ 2 ynd dby
dhwynph hwiwp, B wpmwnpuGph hnudph dwpuup® 4 wnd Wby dhwynph hw-
dwp, huy hmhnfuniG dwhautpG 6" 10 L 20 yni hwiwwwwnwuppwiwpwp:

A L B wpunuwnpupGtph qGtpp hwiwwywwnwufuwGwpwp hwjwuwp 66
20 L 40 wni-h: A L B wpmwnpuipGtph pnnupydwG hwdwp npnpt) hnidph
(wywgniyi pwfunuip:

hoGnhp 15 «Gupubtiny AL pGYbpnipym GG wpmwnpmd b Epym ntuwy
qnpq’ «Uhpbih» L «Lwgby: Fpulg wpnwnpmpjul yepwpbpyug hwjnGh t

Q-npg «Uhphijh» [3npg «Lwgbihy] Nwyw
Ywbdwnph ghlGp /wynd/ 500 350
1 gnpgp \hnhntu. dwhau /wynd/ 250 150 6000
1 gqnpghG whhpwdbym ¥/ ¢wd 50 30 600
1g-p6 wlhpwdbtyw ppyw phiy / Yg/ 10 6 120
I qnpgpG wiihpwdbywm Gply/ Yo/ 5 4 80

Muhwloymd t Ywqut] wjGuhuh wpnwnpujwG opwghp, np Swpup-

dwgyh uuuytijhp zwhniypn:
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ulinhp 16: QtnGwpympymbp ponwpymd t tpym dLh dwpquijwt qqbuwn:
1-nG dLh dwpquiwb qqtunh wpnwnpiwG w2fuwnwnwpmpymbp kphp
wlqui wybiih t pwi 2-py dLh qqtivinh wpnwpiwG w2fuwnwwnwnmpymG-
n: Gpb dtinGwpympymGp pnqupybp dhw)G wnwehG dLp dwpqujwui ggbiuwn,
wujw ¥ty opmd Yumnunmitp 400 qqtiuwn: Gpym qqhiunlGhph hpugdwb opw-
Yué dunjunp yuqimd t 350-hg - 500 qqtiunn: UnwghG 4Lh qqliunp YJwdumphg
unwgywo Jwhnijpp hunjwuwn b 90wni-h, huy tpypnpny dLhGp' 60 wrp-h:

UnwybugnyyG whnyp unwwint hwdwp jmpwpwlynip dlhg pwGh®
Jwpquijub qqbuwm whwnp t pnnuipyt:

fuGnhp 18: UM pGybpmpymGn wpnwnpmd t Gpym nbuwly wnnunpuip’
A uB: A wbuwyh dkY wpnwnpuiph ywwnphg pytpmpyniGp unwGn t
75 wny, huly B nbuwlh Sty wpunwnpuiph Jwéwnphg' 60 wnd:

A wbuwlh g6y wpnwnpuGph wpnwnypmpyw hwdwp whpudtn t 4
dwpry/dwd L 60 wnd hnudp, huy B nbuwlh dhY wpnwnpuGph hwdwp 3
Jwpydwd b 70 wni: Cenhwimp dwpyduwdh pwGwlp uwhiwGwiwy t
3500, huy Uty wpwpyw huniwp hmip qGkm dwhuup Gwhunnbugwd t ny
wntith, pwG 80000 wynd:

bhGywhup®G whwp t hGh pGYpmpjw wpnmunpuiwé dpughpp, npubu-
qh Gw vwnlwpwGGhph Juwnphg wnwybjugniyl whmjp unwGu:

luGnhp 19: ShyhG LGpmyp dnwnpyly b qGk) bptip dinGupympymGabph
A, B L C pwdGbnndubp’ GhpnGlimy 2 46 wyni: Pwdlbnndubph qGdwé
lunphppunywlw6 dwnwympymbhg Gpub hwynGbghG, np A, B L C pwdGt-
wndutiph GiwdwnwppmpmGi Lk B gqnpdwyhgGlpp hwdwwwmnwuuwlw-
pwp hwjwuwnp &G° 0.11, 0.15, 0.08 L 1, 1.2 L 0.9: ShyhG LGpmyp by t, np B
qupdwlhgp pGopnymd b Gepnpdw@ nhulh suhp b guwGYwlmd , np wjG (hGh
ny wybihG pwG 1.1: bwqiky $Ch-p L whyhG LGpnizh hwdwp gty Ghpnp-
dwl (wjwgmjG mwppbpuyp:

tulnhp 20: CGYLpmpmGE opwiljwl wpwwnpmd & bpynt mbuwy vwihy A
L B, pln npmi hnuiph wywljwuh wwwndwpn] B whuwyhg Yupnn b wpnw-
nnby 110 dhwynphg ny wyty: CGYLpmp)maGGE opwywl A L B wnbuwy hi;pwi
uuwihy wtanp t ponuipyh, npujtiugh wrwybjpugnyl Jwhnyp unwGw:

luGnph modwG hwdwp wihpwdbyn wyjwGbpt GG.

punwnpuwiwy | Ywpnnmpjmb QuwpnnmpywG | ULY dhwdnph dwluu
oquuugnponuip (wnu)
(duni/fhwiynp)
A B A B
1 600 vkpLGwdwd 2 5 800 950
2 120 dbphliwdwid 1 0.5 600 700

huGnhp 21: CGYLpwlgnipyoiGp wpnwsnmyd b Gpym wbuwl wpnwnpuip
A L B: CGytpwYgmppuG ybpwnhp owhuubpp’ npwijwy Lk dhehG npwih
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wzfuwnnnGtph hwiwp juqimd b gkl wyfuownwduwdh hwiwp hwdw-
wuwwnwefuwlwpwp 2 L 1 ygd: Opuljwg wpuwmnnGiph wzfuwnwdunitph
pwlwyp Yuqimd t wiuwlw6 2000 dwd, huy ShohG npwyh wyfuwnnng-
Gtphlp’ 2500 dund: Ununftpugnyl upubwGownlp 1-hG wnuyh wpnwnpuGph
hwiwp wiswlwb 150, puly 2-pn mbuwyh wpmwnpwlph hwdwp wduwlwi
120 dpwynp t:

MwhwGoymd t uqily wyGuhuh opwghp, npp wnwytjwqniyGh hwuglh
pGytpwygmpywl gwhmjypp: ULY dhunjnp wpnwnpulph Jipwpbpw;  dwG-
pwdwuGlpp pipjwo GG unnpl wnynuuwymad.

Uhwiynplbkph A mbiuwly B ntuwy qlwgmgul
pwlwy wnunwnpuwlp | wpanwgpuiip
Jwdwnph ghG, /wnd/ 125 165
Znuip g/ 6 4 5 wynd/ Yg
W2 huwnw dwd®
npuljuy 5 10 3 wnd/ dwd
dhoht npwith 10 25 2 ynd/ dwd

luGnhp 22: UM pGYtpmpniGp wpnwnpnad b Gpyne mbuwly thnpkhwG A L
B: A wmbuwlh dtY nybhwGh Juwdwnphg pGYtpnmpniGp unwind b 90 wny,
huy B wbuwyh vkl thnpthwGh Jwdwnphg 75 wyni: A whuwyh WGy k-
hwGh wpmwnnmpjwl hwiwp wihpwdtyn £ 4 Jwpy/dud L 40 wnd hnudp,
hulj B wGuwih dbl uwnGwupwlh hwdwp 3 dwpn/dwd L 60 wynd:

Clnhwlmp dwpry/duwdtph pwGwyp vwhiwGwihwy £ 4200, huy kY Jwpwp-
Yuw huiwp hnwip qGiym owuup Guhuwmbu]wd b ny wgbih, pwG 100000 wnu:

hGywhup®G whwnp t hGh pGYtpmpywl wprnwnpulwl dpwghpn, npwtu-
qp Gw thnpkhwGGGEph ywwnphg wnunbjwagniyl pwhnyp unwGw:

hoGnhp 23: «3-QU» UM pAybpmpniGp dpGwluGtiph ninpunmd funphpp-
nuunjujwul SwnwympymGatp b dwunmgmy GepnpiwG jwywgnyG thupbiph
dLuunpiwG Jepwpbpjw;: dwdwhinpnp guwGyuwlmd £ 25 4§ja6. gpud Ghpnly)
A U B wpynmGwpbpwlub dtnfiwpympmbGlibph pwdGbnndutipph dte pym
wmhwh pwdGbhnndubphg qGhny ny wybh pwl 6000 hwwn, plin npmy nplk
dtunGupympjul pwditnndutph pwGwlp swtwmp t gbpwquigh 5000-hg: A
atinGupympwl Wil pwdGtinnduh wpdtpp’ 5000 npwd k, huy B dbnGwpyni-
pwl kY pwdlGbinnduh wpdtipp’ 3000: «Q-Q-U» pliybpmpjwut gGwhwmiwdp’
hwonpn mwpmd A U B dinGupympymGGtph gkl pwdGbtnniupg uupuuytjhp
2whnypp Juqitim L hwdwwwumwujuwGwpwp 1000 L 750 npuy:

hGywhuh®G YihGp funphpppuwnmyuwwt dtnGupympyul ywnwuuwbp hp
hwéwhunpnh:

luGinhp 24: UM pGlipmipyniGp wpawnpmd b pyne wbswl wponwnypuGp
A L B: A LB wmbuwlh dtYy dhwynph ywéwnphg pGybpmpiniGp unwlms k
hwiwywmnmwuuwGwpwp 400 L 600 wni: A wbuwyh kY dhwynph wp-
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nunpmpjuG hwdwp wGhpwdbn t 5 wuwnwdwd b 500 wnd hmdp, huy
B wbuwyh sty dhwynph hwdwp 4 wytuunwdwd b 600 wnd: CanhwGnp
w2fuunnwdwih puwGwlp vwhdiwGuwy t° 2000, huy dGY Jwpwpyw hwdwp
hnudp qGhym dwjuup Gujuwntuwd t ny wybkh, pwG 500000 wnd:

bGywhuh®G wbwp t \h6h pGYkpmpjuwl wpnwnypuywl dpwqhpp, np Gw
wmnuwnpuiph uwnphg wewybjugniyyG zwhm jp unwGw:

luGnhp 25: tnGupympymGp pnnupymd k tpynt mbuwl wpnwnpup' A
L B: A wpununpuph ppugdwG Swwip Yuqinmd £ B wpnwnpuGph hpug-
dwl dwywih 40%-hg ny wwljuwu: Gpym wtuwy wpnwnpulpGhph prqupy-
dwl hwiwp wwhwGeynn hnwiph kY opdw wwwpp Juqimd t 600 wn:

A wpnwnpuiph hnuiph dwjuup yuqimd t 15, huy B wpnwngpuGph
hmiph owpuup’ 24 wnd dbY dhwynph hwdwp: A L B wpunwnpupGhph
qGtpp hwiwwwwnwuhwGwpwnp hwjwuwp 6 40 L 70 wni-h: A L B
wuwnulpltiph pnpwpydw G hwiwp npnpt) hnwdph (wywgqnyl pwfundp:

luGnhp 26: JtnGwpympjmibp pnywpynud t Gpym mbuwly wpnwnpuip A
L B: A wpnwnpuGph hpwgiwl dwquyp juqimd t hpugdwG pGnhwGnip
owyunh 40%-hg n; wyb;: Gpym nbuwl wpnwnpuGpGhph pnqupldwG
hwdwn wwhw(eynn hnuiph dtY opjw wwpwpp uqimd t 2000 wnu:

A wpnuwnpuiph hawph dwpuup juqdmd £ 50, huy B wpunugpubGph
hnudph dwhuup' 80 wnu Wby shwynph hwdwp: A L B wpnwnpulpGtph qik-
pp hwiwwywwnwupuw Gwpwp hwjwuwp GG 400 L 700 wni-h: A L B wpunw-
npuGpGtph pnqupydwG hwiwp npnt) hnwdph (wyjwgnyl pu funuip:

huGnhp 27: GtpunpnGuwihG wpnymGuptpmpjwl thnpp dtinGupympymbp
pnnupymu t tpynt mbuwl] nwnhnpGnmGhs, pGn npoud, yjnipupwGymp k-
uwlh hwdwp wwhwigymd t wowGdhG wpunwnpuywG ghd: Unwehl qoh
wpununpmpjul opwlwl wnwybjugnyG owjunp Yuqimd t 60 shunp,
tpypnpn qoh opwlwG Gyuquagm)yG dSwywip’ 80 thwynp: UnwohG wnbkuwyh
nwnhnpGnmGhsh ponupiiwl hwdwp wGhpwdtym t 10, huy Gpypnpn 8
thwidwb dwipuwdwu:

Oquuugnponn Swipwiwutph opwwl wnwybjugnyG wwpwpp hwjw-
uwp t 800 dpwuynph: Unwehl L tpypnpn mbuwyGtph vty nwnhnpGnmGhgh
hpwgiwG pwhmpp hwiwwwwmwujuwGupwnp hwyjwuwp t 300 L 200 wnd-h:

NwnhnpGnmGhyGhph GuqugntyG wwhwiownyp ymywymd 40 Shwynp t:

Npnpty yjmpupwsymp wnbuwlh nwnhnpnmGhsGtph wpymGuytn wp-
wnwnpmpjwl opwlul dSwywn:

IuGnhp 28: @npp dtnGwpympymGp poqupymd E vwhdwlwihwl pwbiu-
Ympjwdp tpym nbuwy pugph htnmy X L Y pwnjuguo tptip punwunnh;-
Gtphg' A, B L C: X L Y wmbtiuwih gty hwnp Jugph htinml wpununpbijne hw-
wp oquugnpdytithp A, B L C mbuwy pununphyGtph wwwpp L dkY jhap
wpunwnpuiph hwiwp ogunugnpdytihp pwGwyp pipdwo LG wrniuwynud:
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X Y MNuwywpp
A 40 50 200
B 50 40 200
C 148,5 65 520
11-g uwnwgunn ywhnypyp / wynd / 500 400

MuhwGoymu t qulhy, pt X L Y wmbuwy nppwl htigmy whwp L wpnw-
nnby, nputugh plYbpopjwG pwhniypp (hGh wnwytijugnyGp:

luGnhp 29: Gpym wbuwy wpymGwpbpulwl wpunmwnpuiphg ntpw-
pwynpp hugnprupwp ywiynud t tptp wwpptp hwuwnngGhpny: {wu-
wngGhpp Jupbijh £ oguugnpdti opwiwl hwiwwywwnujuwGwpwnp 16, 24 L
18 dunl: Unynuwlmd Gepluywgywo Gl jnipwpwlynip mbuwyh dbl wp-
nwnpuiph Guyiwi dwdwluyp b Judwnphg uinwgywd whmjypp: Fwnbp
Jnpupwlgmp nbuwyh wpinwnpuGph pnnupiwl uyjwgnyG owdup:

Upwmwnpwip | Upmwnpwlph dpwliwi dwiwlwlp (dund) Cwhnyp
[ hwuinng II hwuwng I1I hwuwning

| 8 8 12 200und.

2 10 16 9 300wn.

FoGnhp 30: CGYEpmpymGp wpnwgpmd £ X LY wmbuwl wponwnpulp
oquugnpohtiny A,B L C mbuwl hmdp: HpwGg wwpwpp L Wby Jhwynp wp-
nwnpwph hwiwp ogunwgnpdynn hnuwdph (Yq.) pwGuyp, Juwéwnph qlkpp L
thnthnfum G dwfuubipp pipjwd GG unnpl:

Upwwnpuwip A B C
X 8 10 15
Y 10 6.5 6
Mwpwp 800 650 900
Upwwnpulp Jwdéwnph ghb Onthnfuwywl dwjuubp
/upin 1 Shwynph/ /updn | dhwydnph/
X 400 250
Y 500 300

Gt X LY wmbuwl wpnwnpwubph poqupydwG wiG dwyuyp, npp dwp-
uhdwglnd E pGYpmpjwG ywhnpp:

Yhpp pipdwd fulnhplGhpp

> ndty gdwuywwnltiph Shengny

> Quqdty 96u-p tpywyh fuGnhpp L ww wlinbuwghnwlwG shyGuw-
pwiinuip

> quliby ipjwyh fuGnph nplp htiGpwyhG (nionud

» Quqikp wyn hbGpwyhG modwG hwdwp updwbpy wiynvwyp b

qu by pudugm )G (monwdip
» ol mnhn fuGnhpp odwlnwy fulnpp oglnipjwdp
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» oquuytiny tpywihmpyul 2-pg ptnpbdh wprymGpGtphg hYGwpwGli
unnwgywd ymomubtipp

> qulit bpyuiyh fuGnppGph wipnugwphy ymomuiGhpp:

luinhp 31: «t[mﬁ» dtinGwplynipjwl fowlmpp hp mpudwnpmpjwl nwy
mGtGuny 5004° mwpwdp, 3600 Gwpn-dwd wuwnwbpwyhG ntumpulbp L
810 hwgq. npu pewlwnne dhenglGtn qpunymd t 4 wnbkuwly wupwGpGtph
Judwppny: 3mpwpwbymp wbuwlyh dhwynp wwypwlph Juwdwnphg uwwu-
ynn whnypGtpp hwiwwwmwupuwGupwp juqinu & 90, 70, 60, L 40 npud:
Uwnnpb ptipdwd GG jmpupuGynp wbuwlh wupuGph Shwynph wwypuG-
pwznewiwnnipjul Yypw nhunipuGliph dSwhuubpp (nbu wnymuwy ):

(Hauniputibp Uwpw(ph nbuwyGkp
{ 11 11l 1\
Unlunpuiwl quhihéh dwibpbup | 10 5 2 1
LD fuwwinwdwiibiph wwpwpn 6 6 2 2
C.powlwnnipjui wufuubpp 4.5 13 1.5 6

GGy, pb np wwypwlphg hlypwld whwp t Juwdwnh «Lwl» dtnGuwpln-
pJwl fuwGnipp, npuytiugh unwiw wnwytjpugqnyyG pwhmjp:

holnhp 32: dtinGwpynipymbp hp wpnwnpmpjwd pwdpwlh, wplwownyh
L unyuph ymnbph juwpGmpnny ywupwunnad t ynpu wmbuwy SwpquphG,
nnnlg pwnunpnipyiGGtpp L qGhpp phpdwo GG unnpl wnuwymauy:

Npnpty phiphwGmp wpununpulph W69 ynpupwyynp wbuwyh YwpquphGh
pwdhlp (%), npybtuqh hwunypp hGh wnunbiugmyGp, tphk hwipnGp £, np hmdiph
wbuwlGtpp hwpwpbpmd GG hGywbu 2 : 3 : 5-hG:

<nuiph nbuwGtipp CuwnunpmpymGGtpp (%)

T wbuwl | A wbuwy |G wmbuwl |V inbuwl
Cwipwl 10 15 30 40
Uplwownhly 10 30 30 20
Unjw 80 55 40 40
Qhip (npuilyg.) 400 500 600 650

hoGnhp 33: QwuunnguphGwlywG qnpowpwGp utthwiwl YuphpGpp
hwiwp pupupwsmp wihu ogunmugnpdmu t Lptip nbuwy wunhonwlyGtp
hwdwupunwuhuwGuwpwp 1200, 2000, 4000 dhwynp, npnlp dtnp & pipmd ym-
Yuymy gy dhunjupp hwdwp Yéwptinyg' pi=20, p;=16, p;=10 npwd: Gnpow-
pwlp, wiuwywl mGhGwny 16w, dhnwnh punhnG, npnpb) t JunithyGlpp
tpypnpn htppwihnju wyuwwmwgGbing wpunwnptp wjn nwhonwyGtinhg,
hwwnlugltny 50000 npud $hGwlGuwljub shengltn:

Npnty, gnpdwpwlp np wbuwl wnwthonwlyGphg hGypwl wpwnwnph,
npuykugh wuthonuyGiph wwhwGownyp punjupuph (wqugqnyi dwlu-
uny wGhpwdtyn ntntympymGGtpp wbu vnnpl phipwd wnymuwmy:
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Hhumpulbpp Swhiup
N-Gumpubtpp Swithonpytiph mbiuwyGtpn Nhumpultph
Utd(hwq. | UhghG ®npp | wuwwplbpp
hww) |(hwg. hww)| (hwqg. hww)
Utiinwnh pwihnG (4q.) 22 14 8 16000
Uwidthy (dun) | 04 0,3 0,1 96
bh. shong ((npui) 8 6 4 50000

luGnhp 34: nGupympymbp pnnupynud £ «U», «P» L «G» nbuwl wp-
wnwnpup, npnGghg jmpwpwbyympp hwonpnwpwn Szwyymd t ynpu funudp
vwppwynpnuiGhph Ypw:

UwppwiynpmiGlph Uhwynp wpnwpgpuwnbuwyh | dwdwbwlyh
fudptipp uwppwynpnud/dwd dwhuup | wwpwpp
«W» «By «F»
1 2 3 1 15
1 4 3 18
II 4 0 2 16
v I 2 0 8
Uhwinpjg uwjwuynn ) 3 )
whnypp (gp./ huwn)

Apnytp wpnwnpuunbuwyGhph wyl pwGwynipyntGGtpp, npp Yuwwhnyh
wnwybjpugm)li pwhmyph umwgnuip, tpt hwjwnGh GG vwppwynpmuiGlph
Judptiph dwdwGwyh wyuwpwpGhpp, Shuynp wpwwnpuuntuwlyGbph Yypw jm-
pwpwlyjnip fudph vwppuwynpmu/dwd dwjuup puin wpnwnpuntivwybtiph, b
Jnipupwrlgymp wpnwnpuwnbtuwYGph deY dhuoph nhdwg vujwuygnn 2whng-
ph dtonpyntlp (nbtu Yupp pipwd wgmuwlyp):

dtnGwpympyniGp uwpnn b qGh npbt judphg dbY vwppwynpmd Lu, npp
hGwpwdnpmpynid junw wyny judph wjuwnwdwih yuw)wpp dkowglbyne 3
whwynpny:

Oqftip dtnGupympjubp YnniGnpnyybint vwppwynpmy qltn hwpgm:

huGnhp 35: dupdtpp whwp b npnph Gpyne Yynyumpwibph guiph jwyw-
qmji hwiwygnipymGp, tpt Gw hp mpwiwnpmpjwl nwy mGh 70 hw Jupk-
|whnn, 94 wpwljnnp/dund, 480 dwpn/op w2 wnwGpughi nbumpulbp:

gnplil (1 hw) |  Yuwpunphp (1 hw)
Lhppwwympni (g) 20 100
Sblulipjwjp dwhuu (wnp / d) 0.6 4.6
Uy tu. nbiu. dwjuu (wpn /op) 2.0 22
1 ghGwn{itph uwwuybijhp ghtip (npuni) 150 100

Uty ubgnGh hwdwp jmpwpwbyymp Ynywmmpwjh ybpwpbpjuwy wnbn-
tympymGGEpp ppywd GG unnpl wnymuuwynd:
®npdtp julnhpp nhot) mpwdwpwlwyws Jepmompjwb shengny:
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luGnhpp |mot wnwybjugnyl bjwdnn unwluwm swihwihyGpny:

luGnhp 36: MuwhwGgymd t tghujnwgnptGh L qupnt fuwnGmipnny Yug-
db] opwujwhpy fjungmyGhphG Yepwyptim hwiwnp: Aputv fuGnph MotwG yw-
thwih) YtipgGly Guqugniyl owhup. hwynGh b, np d6Y fungmih opwujwhp-
4n whwp b wwpmGwih 2,3 Yq. Yepwiha Shwynp L 270 g wpnnbhG:

Uywd uGGnubymplph pwlwlp qupm L bghuywnwgnphlGh dby, hiyubu
Gl wyn dptippGhiph qGtpp hwjwnGh 66 L pepYwd &G wnnpl wnMuwYm:

UGGnwGjmpbpp Gghwuwgnptiti (1 Y4q) | Qwph (1 Yq)
YbkpwjhG Shwynp (4q) 0.45 1.2
MpnwnbhG () 280 80
Qhip (ppwd/yg) 200 150

fuGnhp 37 Ywyybt hpph wpnwnpmpjul «Lwhph» dtnGupympymin,
npp dwuGwqghugt) t dtnGngGhph wpnuwnpmpjwG sk, npnpby b hp mGhgud
ntiuntpuGliph uwhdwGGbpmd wpnunnt) Gul JuGwgh wwjntuwlGhn:

Cmjujh munmiGuuhpmpjmGhg wwpgyty t, np dtinGngGhph wwhwie-
wpyn sh qbpwqubgh 500 qniyghg, ghGp vwwuymd t 4000 gpwd, huy wwjn-
uwlyGbph hwiwnp” hwiwwywwnwufuwGupwp 100 hww L 10000 npwd:

JtnGwpynpjul mihgud rtumpubtph L G2wd wupwlpGiph Shwynpp
wpnunuwnpmpjul hwdiwp dwhiutph YGpwpbpng wbntynpmGGtpp phpjwo
Gl uwnnpl wnmnuuwym:

(thunipuliiph wmbuwylGbpp | ULY Jhwynpp ypw dwjuup NbuntpuGliph pwGwyp
Jtnling (qnuyqg)| Muwjnuwy
Guph (8% 0.4 0.8 500
“Fpwd. nbu. (hwqg ngpuid) 0.6 0.9 600
Ywph dbphlw-dwd 0.5 1.0 500
MuwhwGownl 500 100 -
QhG 4000 10000 -

Nnpn2t; wpnwnpoipjub (wywgnyyG Junmgywdpp, hpugnihg wnwyb-
juqnyyG hwunyp unwlwm swhwhyhg tjGbny:
Wihnihnfubtp wpnn®p tuGnph (nomuip, tipk
w) Yuph dhptGubGtph hqnpmpyniGp wybjubwp 100 dhynpny.
P) wwjnuwlGph qhlGp mwmnwGytp 8000 - 10000 npud.
Yuunwpb] unwgywd wpnymbpGtph JhpniomipyniG:
huGnhp 38: UwhdwGwihwy wywwnwuhiwiwmympjwl pGytpmpynGp hp
wnpwiwnnypwl nwy mGhGuny tpip wmtiuvwl numpuGp guwlyuwlimyd
wpununpl) ynpu mbuwy wypwGpGp: <wpnGh 66 jopwpwbymp wpnwn-
puwwnbuwyh dhwynph hwdwp ntumpuGtph Swuup, ntuntpuGbph wwywpp b
Juipuwpwlsymp wbuwyh wwpwiph Shunjnph phiwg vwwultthp whmjipnp
(nbu unnpl pipYwd wnmuwyp ) :
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Muwhw(9ymu t npnpti pwhnypp dwpuhtwgling wpnwnpuwnbuwyitphg
JmpuwpwGyymph pwGwympnilp:

luGnhpp mdty, tpk

w) wwhwGeoyh, np I-hG wpunwnpnunbuwlyp (hGh ng wwlwu 40-hg, huly
IV-p ng undtjh 10-hg.

p) I L IV wpnunpuumbuwlyGiph pwGulnpymGGtpp hwpwptptG hGy-
wbiu 1: 6-hG.

UpunwnpuwnbuwlyGtp

Nbunipulibp Uhwynp wpinwnpulph ypw| OLunipuGtph

owfuunuilitp wwwpltpp

[ 11 {1 v
«UW» nbunipu S 1 9 12 1500
«P» nkunipu 2 3 4 1 1000
«G-» nhunipu 3 2 5 10 800
Cwhnypp (gp./hwwn) 12 5 15 10 -

lGnhp 39: dtnGupympjmGp, npp wnwl@dpG wmbuGninghwlywb qobtpny
pnnupymy t tGpynm wmbuwy nwnhnpGnniGhGtp, oqumuwgnpomyd b dhlingl
nwnhnufutidw)h dwhpwdwubpp, I mbuwlh hwdwp' 10, huy Gpypnpgh bw-
dwpn 8 dpuynp: Uyn tilumpnGwjhG dwipwdwubph opwljwG wnwybjugnyi
wupwpp 800 dhwynp t: I-hG hnupwjhl qoh opwlwG wpunwnpoqulywlni-
pjnilp 60 nwnhnpGnniGhy k, huly -hGp” 75 nwnhnpGnmGhy:

EtywpnGwjhl wwppbph opwlwl wwywpp wylwybu puptuby tpym hnu-
puyhG qotiph dhol,, npujtiugh nunhnplnmGhsGph hpugnuihg uinwgynn wd-
uwlwl pwhnypn 1hGh wnwybjugnyGp: 3nipwpwsymp mbuwlh nwnhnpd-
nniGpsh Shwynph hpwgnuihg unwgynn pwhnypp hwiwwywwnwuhiwGuwpwp
Jwuqinud £ 12000 L 8000 npud:

Uju fubnph judwgn)G inomip gnyg b wmwiju, np nhbhghnwhb LG ELY-
wnpnGwjhG dwlpwiwubph yuwpwptbpp U 1 wbjulGnnghwywl qoh wpuw-
nunnuiwinmpymbp: Lwyh wnGbiny wjn, npnyt)

1. I hnupuyjhG goh wpumunpnpuijwimpjul dEdwgdwl uwhdwp, nphg
ufjuwd GwwuwmwljushG pmbGyghwih wpdtpp sh wah.

2. II hnupwjhG qoh wpwmwnpnnuwlmpjul GuqiwG vwhdwlp, bpp
unwgqwo jwywqgniji jnomip 3h thnfuyh.

3. LyupnGuwjhG dwipwdwubtph opwiwl wwywph dGowgdwl uwh-
dw(p, nphg htinn GuwwmwlwjshG mGYghwih wpdtipp sh dEowGw:
luGnhp 40: UGhwwnwlwl wwwytplbph Yuwhmph dtnGupympyminmy

wuwppbpwpwp wnwowlmd LG Gpkp wbuwy nbumpulGbpp pwthnGGbp by, by,

b; hwiwwwwmwuhiwlG pwlwynpmGitpny: tnGupynipywlb wGopkp

dnwhngjug wyn thwuwmny hwGdGuwpupb) b dwyb) nbumpulGbph ogunw-

qnpoddwl nwppbpwyGhin:
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SGoptGhG GapYuywgytghl htinbyuny Gpynt wewewnplGtpp.

Swppbpwy 1. Ywwwpbing jmpupwlymp wntuwyh dhwynph hwdwp ¢,
¢, (pugmghy dwhuubp Juqiwybkpyt) tpyn nbuwy wpnnGhph wpnwnpm-
pymG, npnGg wwwuybtiihp qhGp hwiwwwwwuliwGuwpwp p; L p; t L bph
dtnGwpympyniGp wmnwnph I nbuwihg M, hwwn, huy II-hg Mz, wuyw Gw
Junwlw wnwybiugqnyl zwhnyp: Un niypmyd pwihnGibph pwlwlyp YYwqdh
Ab; (1=1,2,3), tpp jmpwpwlymp wnbuwlh d6§ wpneh Ypw nbumpuGhph
owfhuup byy, by, by L byy, by, by hwynGh dEdmpymGGLpG GG:

Unwownnubp. Yuqibk) gdwhl opugpiwé wjG tuGnph dnntyp, nph mo-
dwl wpymbGpmd winwgyty 66 M, L M, dtompymGGtpp: Uyn fuGnhpp moky
htwnlyu pywihG ophGuyny.

b, = 200, b, = 240, b; = 360,

bi=3,b)=2,by3=4,b,=2,b;=3,b5,=5,

p1 = 10000, p, = 8000, ¢, = 2500, c;= 2000:

Swppbpwly 2. Qwplaw danGwpynipymbp, npp qpunymd t wpnnGtph wp-
wnwnunipjudp wnwowpyty b qlkp wyn nbumpuGlipp, jmpupwGsynip mkuwyh
ntuntpuh Shwynph nhdwdg Yyewnptjny huwiwwjwwnwuuwGwupwp yy, y;, y3 wnud:

UGhwnwywl wwwmytpitph Ywhnyph 4dbtnGwpympjmlp dtpdhg wyn
qGtpp L infuwpblp wnwewpltg yi*, y2*, y;* qGpp, hhdGuynptiny, np
npulp (wywgqmjila GG Gpym AdtnGupympymGGeph hwdwp, huy npwbhg
gwop qGbpp wnwpytjh G6: Uhwdwiwlwly Gp4tg, np wyn qGtpp hwuwnw-
umG gkl L punhnGGiph pwGwyGtph thmpnfunipjubp qnigpGpwg npuip
wtunp b YapwbwjgG:

UnwownpuGp.

w) Gph wyG huGnhpp, nph omdp §hhiGwynph wnweowpyywd qlkph
(wywqnt)G thGbp.

p) UtjGuwpuGhpuihwnwui ywuytpGiph Jwhnyyph dunGwpynipjub
wnwownplwd wywjdwGGbpp.

q) huGnhpp (mot Ypp npgwd pyughG ophGuyny.

) Qull nbumpuGtph hmhofudwG dhowlwptpp, nph niypmd wnw-
swnyywd qGkpp y6G thntuygh:



2. Lmob) qowwunnytiph shengny

2. Lmoty qowuwjwwnybtiph shongny

L. X, + Xzs 3
2X] + X2 3
2x1 + XZZ 3
Xi 2 O, i =l,2

3. -2X;+ X, 23
X1‘72X2ZI
—X]+2XZ21

X; 2 0, i =1,2

5. -X;1+ X3
X1+ X,

2x, - 3x,

X2

VIAIA IV

OO\)M »—-._.Ao

7. 10x, + X,
X, +10x,

-X, + X

2x; + 3x,

X; = 0,i= 1,

Ny IVIVIV

9. —4<x —x,<~1
X)+x,<5 2
2X1+X22—2

Xy 2

11. X1—2X2
X1— X3
X]+3X2
X1 — X3
3)(1 +4X2 2

X 2 0

13. —4SX|-X23—1
X|+X2$ 2
2X1+X22—2

XzZ 0

VIANIAIN ©

S \O 00—

2. X+ X223

12. 2X]— X2<

oo
>
+
>
o
v iIvIvIVIVEIVIA A

X1+ X <

3X|+4X2 >

X22

4. 2<x,-x,<2
2_<.X]+X2S2
—le, <l
XzZO

-b-h"‘ww TNo—o

21



22

15. =X+ X,
_2X|+ X2
—3X|- X2

X — X2
X|—2X2

v IVIA VIV
|
W

I
N

17 X —2X,
X1 — X3

X1 +3X2

3xl - 2X2

3x, +4x,

X2

IV IV IVIA IAIA

19. X|+2X2
4X1+3X2
5X|+2X2

X|20

IAIAIA

21. X1+X2_—l
X1 +2x, 22
X|+5X2 2
X1 >1 Xz_—l

16.

18.

20.

22.

I. &5U3hL 6ruarvdy vuaheuee
e —

2X|+X22—2
X]—Xzs 0
Xy +x, 2 -1
2X|—X22—2
X, £1:
2x,-2x,< 5
l4x,+ x,<30
X, + x,2-1
2x, +2x,< 5
X, - x,20
~-1<x,<0
6x, +4x, £5
2X|+3X2$2
3x; + 2x, <1
XzZO
X, +x,20
xl—xz_O

X, —%X,22
x,21,-1<x, <1

3. Lmoty G-Olu-p qdwwwwmytph dhongny

23, -2x;+Xx; = max
—ISX|+Xzsl
-1<x;-x,<1:

25. X, +4x, — max
X — ng I
“1< x5 €10
X1 <l:

27 2X;+ X — max

-1<x,+0.5x, £ 1
X+ X356
X+ 2X2 2-1

—0.5X|— XZS 3

0<x,< 3:

24.

26.

28.

8x, + 3x, — max
"2SX|+ X2 <2
-1 <x,<I:

X; —2Xx, — max
X+ Xzsl
X~ X, <8
XiZO,i=l,2

-X;+ 2x, — min
4X1+ X224
4X]— 8X224
—0.5X|+ Xzs3
Xl+ 4X2$8
x;1—0.5x, 2 2:



3. Lmot| qowjhG dpwgniwG fuGnhpltpp gowujwwmytph dhongny] 23

29. X, + 2X, = max
X;—2x, <1
X1 — X3 <1
x;20,i=1.2

31 X;+ X, — max
Xy +2x%x,
X1 — X3
X1—2x2
2X|+ X9
2X|"‘ X2
Xy 2 0,)(2

IV IAA A IAN A
O ot e

33. X] + X, = min
OSXI <1
0< Xzsl
OSX1+X253
—le,—XZSO

35. X;+ X, — max
-1<-x1+ x,< 1
X|+ X > -1
21— X, < 2
-X]+2X2S 2
XIZO,XZ >0

37. X — XZ—)min
~2x|+ 2X2S 5
X+ 14x, <30
2X|+ Xzs 3
—X]+14XZZ3O
2xy+ 2x, <5
lel <1

39. 2x; + 3x, — max
7x, +6X2 <42
-Xx; +5x, <15
Xy ZO,XZ 20

30.

32.

34.

36

38

40.

2X; + X, — max

2x;—-x, <1
—'X1+X2Sl
XiZO,i=l,2:
X| — X, — min
X+ X, 21
X|—2X2S1
2X1+3X2$2
3x;+2x, £3
X+ x,20.5

X;120,x,290

X1 — X, — max
1< X1+ X2S2
1£2x]— X252

2< X|—2X2S3
XIZO,Xz =0

2x, + X, — min
X — 2x, £
-3x;+ x, <0
2X|— Xle
2x; - 3x, 23
Xx;20,x, 20
5x; -10x, — min
—2X|+ Xzs |
- X1+ x5 2
3X|+ x2S 8
2X|+ 3X22_9
4X|+ 3X22 0
X > 1

X1+ 3x, — max
6x,+5x, <30
-X;—2x, < 2

X,20,x, 20
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1. GOU3LL GrUaLUUL byabrLER
e ————————

41.

43.

45.

47

49.

51.

X, + x, = max
X, + 2x, <1
2x, +x, <1
X, — x,<4
-X,+ x,£2
x,20,x,20:

2x, + 3x, - min

2x, + x,2 2
Sx; +7x, <35
3x, +5x, <15
x;20,x, 20:
4x,-3x, > min
2x, +6x, <40
Xl+4X2 <36
x;20,x,20

X; +3x,; = min
X — X2.>."2
5X1+2X2S

X;—=3x, < 0
6x, +7x, £ 42
x;<5,1<x,<6

2x, + 3x, > max
2X,+ x, 2 2
X, +3x, £24
Sx, +6x, £ 25
3x, +5x, 210
x,20,x,20

X, + 2X, — min
—x|+ X2 25
12X]+9XZ >8
2X,+ X, 22
X;20,x,20:

42.

44,

46.

48,

50.

52.

X, + X, = min

X, +2x, 2

X, -4x,< 2
5x,-3x,2 4
6x, +35x, <30

x,20,x, 20:

X, = X, — min
_2X1+3XZS6
X, + Xz?. 2
1<x,<4
OSX2S3

3x, +2x, > max
X, —2x, 210
Ix, +2x, 2 6

X1 20,)(2 >0

X{+ X, — min
X|+2X22 2
X;—4x, < 2
2)(1"3)(22_6.
6x;+5x, < 30

x120,x220

X1+ X3 — max
X|+2X2S1
2X1+ X2Sl
2X|— X2S1
x,—2x2$l
x;20,x,20

- X; — X, — min
X1 SIS
X, 210
2X,+ x5, 2 2
120,x,20



3. Lmot qowyh dpwgmiwG fuGnhpltpp gdwuywwmlybph dhongny

SYywo t unynpwlwl mbuph G0-h Xo hblpwjhG (nionuip:

A, LA, wwpwdbwph n°p wpdtpGhph nhwypmd’
Xo-G jwywqgni}G monud £
*  TuGnhpp (monwd snilGh
* monuip yupbih tywywglhy:
53.
2x, +X, + 30,%x5 + (A, +2A,)x, — max
X|—XQ +(A.]")\.2)X3 :0
X| + X9 + (&1_"‘},2))(3 + 2X4 =2
x; 20, 1=14, x, =(,1,0,0):

Sywd L unynpuwlwl mbuph Q-Olu-h Xo hhGpwjhG (monudp
}», wwpwibnph n°p wpdbpGhph nhupmd’
Xo-0 yjwjwany)G monmy k:
*  huGghpp momy sniGh
* momuip Yupbkih tjwduwglby:
54 x4+ x,+ X, — max
2%+ X, +(2A-3)x;, =3
X, +2x,+ (A=2)x, =3
x,20,1=12,3, x, =(,1,0), O0<A<2:
55 x4+ x, +x; > max
X, + X3 =
X, +2AX;, ~x;, =0
x; 20,1=12,3, x,=(1,0,1), 0<A<1/2

66. —Ax,+x, - Ax, — max
Axy=x, +(1=-A)x3 =A
Xl—xZ _0

x; 20, i=1,2,3, x,=(,1,0), A =1

ALy, W, M3, Wwpwidtwapbph n°p wpdtipGph nhwypnid G-Uhu-p

*  miGh jwduagnjG promd
*  momd ynilh

67. X, +X; +X;>min 68. X, +Ax, +A*X,—min
Axi+ Xy + X321y A+AMx+ X + X3 2
X1 +AX 2+ X3 2|,y x +H1+)x, + X3 2,
X1 + Xy +AX;32M, X+ X A

XiZO,i=l,2,3 x:>0.1=123

25



26 [. apU3hL HruarUlv buvaheusre
e e A e

X;20,1=1,2,3
59 (W 430x, + (A +3A2)x, +(A* +30%)x,
+)x+ X3 + X322l
x+1+0x, +  x32,
X+ X +(1+Ax3 2y
Xx;20,1=1,2,3

4. Unmqgh) vmpjwd YbijunpGpp htGpuyhG jmomay GG, pb ny

L. X, +X, +XJ+X4=1 2. X|+XZ+X3=O
X, Xy +X3—X4 =1 X;—X;+X3=0
x;20,1i=12,3,4 X;20,x,20,x;20
X =(1,0,0,0): X =(0,0,0):

3. X|+X, +x3 =1 4. X +Xa+X3+x4=0
X1 -X3 =2 X] =X, +X3—-X4=0
X|_>_O,X2 ZO,X320 x|+x2.—X3+X4 =0
X =(0.5,0,0.5): x;20,i=1,2,3,4

X =(1,0,0,0):

5. X1+ X, +X3=a+ b 6 X, + X2+2X3=3
X] —2X, =a-2b 2x, +3x,+ x3 =4
x;20,i=12,3 x;20,1=12,3
X =(a,b,0): X=(,2,0):

7. X, =X3 -2x4=1 & 4x; —Xx5 +2x3= 1
2X| —X2 +X3—3X4:2 10X1+X2—4X3=—‘3
x;20,i=12,3,4 x;20,i=12,3
X =(,0,0,0): X =(0,L1):

9. X) —2X, -2x4 =1 10. 3y =X+ 3x3 = 2
2X; — X3 +2X3 —3x4 =3 Tx + X3 —2X3 =-3
x; 20,1=12,3,4 x;20,i=12,3

X=(1,0,1,0): X =(1,0,1):



smn——

4. Unmgl mpjwd YblpunnpGbpp htiGpujhG momd kG, -Eh ny

11. X1+2X2+2X3+2X4 =2 12. Xy +X, +X3+2X4 =3
X1 — X, —2x4 =1 Xy —X3—2X4 =0
X1 +2x =1 X +2X4 =1
X>01—l234 x>01—1234
=(0,1,1,0)" X =(1,1,1,0) :

13. X —3X2 "‘2X3
X) —5x, +3x4 =1 2X1 —X5 +X3 —3x4 =2
Xx;20,1=1,2,3,4 x;20,i=1,2,3,4
X=(1,0,0,0): X=(1,0,0,0):

15. X] +4Xy + 2X3+ X4 —2%Xs5 +2xg = 13
Xy ~3X, 4+ X3— X4 +6x5 — 6x6 = -6
X; — X, +2x5—2x6= 1
2x|+ X2 + X5 — Xg = 4

X;20,i=1,2, ,6
X =(1,2,1,2,0,0,)

16. X1+ 2X5 +3X3+ X4 —3X5 +3x¢ = 10
X]—2X2+ X3— X4 +4X5—4X6 =-6
X1— X3 +3x5— 3xg = 2
2x; + 5x, +2X5— Xg =—3
x;20,i=12,...,6
X=(,0,1,1,0,1,):

17. X|+2X2 +3X3+X4—3X5+3X6 =10
—27(2 + X3— X4 +4X5 —4)((, =-6
+3x5 =3xg= 2

Xy — X2
+2x5 — Xg =3

le +5X2
X;20,i=12,..,6

X=(,0,1,10,1,):

18 X +X,+X3+.+X, +x,=0
Xp+X3+..+Xu +X, =0
Xg-1 +X, =0

>0,i=1,2,.,n

X
X =(0,0,.,0)



28 I. QouU3hy oruerudy buvabhpube
e e ——

5. GGt pnyjuwnptiph htGpwjhG pnomudGtipp

L. 3x, + 8%, — max 2 4x, +x, — max
-2<x;+ x,52 -X;+x,< 1
—'ZSXI‘l‘ x2S2 XZSI
-1<x, <1 -1<x,£10:

3. x; —4x, +5x3 —>max X; = 4%, +5x; —max

2X;+ X2+ x3=4 X+ X+ x3=4
X;— Xo— X352 X1— Xp— X3=2
Xx;20,1=12,3: x;20,=1,23:
5. X| — X, + X3 — max —X; — X, —2X3 = max
10x, +x3 <10 10x, + x3 210
10x, +x3 <10 10x, + x3 <10
X; 20,1=1,2,3: x; 20,1=123:
7. 2X; —3X; +5x3; »max 8  —x; -x; —x3; = max
X1+ X+ X351 X;+X,+ x3 <1
-X;+ X, + X351 -X;~—X; —X3 <1
-X;— X+ x3<1 X] —X, +x3 <1
x; 20,i=1,2,3: x;20,i=1,2,3:
9. 2x, —4x, +X3 —max 3x, —3x, —2X; —>max

2x; + 3x, +x3 =4
2X| - 2X2 —X3 <2

10X1+ X <8
10)(2 + X3 <8

x; 20,i=12,3:

Il X, +2x, - X3~ X4 —Xs — max
X+ X, +3X3+4X4 =12
X1 — X2+ X3— X4 < 2
xiZO,i=1,2,...,5

12 x,+x2+x3+ X4 + X5 — max
X]+Xp +3x3 +4x4 =12
X] =X+ X3— Xg4= 2
x;20,1=1,2,..,5

13, x,+2x, +3x3 + ..+ nx, — max
X1+ X+ . + X, =1
Xx;20,1=12,..,n

x; 20,1=12,3:



5. Qanfik pnyjunnpbith hblpwjhG monuiGtipp 29

14 x,+2x,+3x3+ + nx, — max
Xi— X2+ X3+ +(‘1)“Xn=n

x;20,i=1,2,.
15, x, + 2x, +3x+ + nx . > max
X, + X, + + X, <n
x2+ + X, "<n
X <n
x;20,i=1,2,...,n:

6. QOlu-h tpywyh fuGnhp

6.1 3-pn L 5-pn Wwpwgqpudbibpmy pipdwo G¢Olu-Ghph
hwiwp juqibky bpyuyh fulnhpGbpp:

6.2 Ywquik) &Olu-h tipuyh pubGnhpp:

n . 2. )
%cjxj —min i]cjxj —min
= i
n .
Zlai,jxj =b;,i=12,...,m Za,,xJ <b;,i=L2,...m
J= .
20,j=L2,...n 20,j=12,...,n
3 4.
EC Xj —> max Zc X; = max
zai,jxj =b;,i=L2,....m Zai,jx,- <b;,1=1,2,...,m
=1 j=t
x;£0,j=12,..n xj £0,=12,...,n
5 6.
Zc jXj — min Zc jXj — max
)=l
Zai,jxj = bi’i=la23'“’m Zai,ij = bj,i=l,2,...,m
j= j=1

~<- 0, j=L2r"an Xj > O, j=l,2,...,n
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10.

I.apuU3hy oruarvuy vuvarhrube

n .
2.¢;X; > min
j=1

n
Z‘;a,, ;<b;,i=1.2,..,m,, m; <m

< -
Ea., ;=b,, i=m, +1,m, +2,.,m x,;20,j=12,.,n,,n, <n:
=t

Zc Xj —max

Zla” j= .,i=1.2,...,m|‘ m, <m

n . i

Eau j=bj,i=m;+lm; +2,..m x;20,j=12,..,n, n, <n:
-l

iCij —max
=l
Z;ai.jxj <b i=12..m
j:
ﬁ}ai,jxj >b i=m+Lm+2...Jmp, mp <m
j=
ﬁ‘:ai,jxj =b, i=m, +Lm +2,..,m
J=
X; 20, (=L2...m, my <np) X; <0, (=m+Lmy+2..m 0y <n):

J=1

>a;;x;<b;,i=12,...,m m <m

j=1

n

zai-jxl >bl’ l—-‘Inl-‘l-l m, +2a .,m2 m, <m
j=l

n

Ya;;x; =b;,i=m; +1,m; +2,.,m
2

X;j ZO, _]:=1,2,...,11|, n Snz
<0, j=n, +1,n, +2,...,D2’ n, <n:
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6. Lnoty @0-h tpllwyh fubGnhpp: 31

—

6.3 Spywo huGnhpGtpnud qunGhy GuyunwljuhG mGyghwjh
puwqnG wnpdtpGhnn’ oquitiny tplwyh fubnph
qowwunytiph thengny unugywd inionuihg

X, X, +X; +X, —min 2. X;+2X;+3x3+4x, — min
%, —X, 20 X+ Xy +X3+ X421
X, +X, =X, +X, +x5 21 x;20,1=1234:
X, 20, j=12,..5
X +Xy+X3+X4—min 3. Xy +X,; —X3 — X4 —> max
X1+X2+X3+X421 2X|+X2 +X3 =Xy <1
% >0,i=1234: X;20,i=1,2,3,4:

X+ 5)(2 +X3 + 10X4 - X5+ 3)(6——) min
—-X;+ Xy+X3+ X4—2X5 21

X1+ 2X,-X3+ 3X4 — X5 — X221

X 20, 1=12,3,4,5,6:

3x; +2x5 +3x3 +4%x4 = Xs— min
X1+ X3 -2x5 21

X + X3 >1
x;20,1=12,3,4,5:

X,~ X,—X3—Xq—2Xs — min
2x1+3x, —X3+Xat X >4
x,20, j=12345

Xp+Xy +X3+X4 +2X5 +10X6+15X7 — min
X; +X; +X3 + X5— Xg+ X720
X1 +X, +X4 — Xs— 3x¢+2x7 20
Xx; 20,1=12,3,4,5,6,7:
X1+ X;—X; —2X5 — min
X, —2X, + X4 =-3
3x, - X4+ X< 2
x;20,i=12,.,5:

X4—x5 — max

=2xi +2x3— x4 t xs2 0

2X,— x5 — Xet x550
x; 20, j=12345:
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1. QDUJhL osruacuuy Iul;‘lhl"“bbl‘

10.

1.

14.

16.

18.

20.

22.

2X1-X2+3X3—-2Xx4+xs5s — max

—-X1+x2+ X3 <1
X|—Xx2 + X4 =1
x120, x250

X1— X,~X3—X4-2xs — min
2x1+3x2-x3+x4+ x524
ij(), j=15

xi+2x2-3x3— min 13
-x1t x2+2x3=35

12x)-9%,+9x3 28

x,ZO, x220,x,<0:

X, +5x2 +3x3 — max 15.
X;+2x2+x3=3
2x,—- x, =4
ijO, j=12,3:
10x1+4x2 +5x3 — min 17.

5%x1-7x2+3x3 2 50
2x,-2x2+ %3220
x;20, j=1,2,3

X, +X72+x3 — mMax 19.
2x1+  SXy4xe<—4
- 3% 26
Xy + X, =1
x,20, x,<0:
X, +2x243x3— X,—>max 2L
—Xi+ X, +3x3+4x4 =12
X— X2+ X3~ x4S12
X, 20,x3<0,x,20:

X1+2x2— X;— X, —>max 23.
X1+ X, -3x3+4x4 =12
X1— X, + X3 <2
x,20, x;20:

5x1—6x3+ 7x3 — max
X, +5x,+2x3=30
x|_5X2 6X3S40

x] 2 O,XZ— 0 X3<0

2X,—x2 +3x3-2%4 +xs —max

—X1+x2t X3 <1
leO, )QSOZ

10x1+4x2+5x3 —> min
5x,—7x2+3x3 2 30
X~ Xp+3%;2 40
XjZ 0, y=12,3:

X1+X2+X3 ™ max

x2+ X3 =1

220, x40

X;+2x2+3x3+4x4 — mMax
X+ X+ X3+ X4—xs<5
ZXI_ x2+ 3+ x4—X5<l
ijO, j=15:
X1t X,—X3  —2xs—>min
X1—2x2t X4 =-3
X3_2X4 =2
x120, x220,x350, x520:
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24,

26.

28.

30.

32.

34.

36.

38.

Xy +2x2+3x3~x4 —> mMax
—x1+X,+3x3+4x4 =12
X1— Xp+ Xy~ x4 <12
XIZO,X3SO,X4ZO:

X[ +X2+X3 — max

2%+ X, $—4
X[+x2— X4 2

XZZO, X4S0:

X+ 2X,+ Xy — max
=2x1+ Xy +2x356
2XI—2xz+ 53_= 2
ijO, j=13:

5%1—6x2+ 7x3 —> max
X, +5x2+2x3 =30
Xl _5X2_6X3 S 40
x.?.O, X220, )(3S0:

X, +5x7 +3x3 —> max
X, +2x2+ X3 =3
2x—- x, =4
x;20, j=1,2,3:

X, +2x2 —2x3 —> Max
X] +3X2 + X3 =2
3)(.'“ X2 =5
%20, j=123:

2x)+4x, +4x3 — max
X+ X,+ x3 =2
xl+ 4X2+ X3 =5
ijO,j=l,3:

~x1+ X, —x3— max
2x,+  x,<-4
x220, x4<0:

33

25.

27.

31.

33.

35.

37.

39.

—X;~x2+x3— min
10x;, +x3<10
10X2+X32 10
XIZO: XZSO

X,+2x2+3x3— X, —> max
—xit+ X, +3x3+4x4 =12

X~ Xt X3— x4<12

x,20,x350,x,20:

X1— X,— X;—> max
Xl—2xz+ X3S3
X+ X2+2x3=l
x;20, j=1,3

2x1+4x2 T 4x3—3x4 — mMax
Xt X+ X, =4

X1 tdx2 _ + x4=8
ijO,j=l,4:

X;+ X,4x3— max
=2x1t X, +x3S5

X =2x2+x3=1

ijO, j=13:

2x14+4x2+3x3 — max
X|+2)(2+ X3 =3

le - X3:4

XJZO, 1=12,3

3x)— 2 x2+ 3x3+ 3x4 — Max
X, +2x2t X, =3
x1+2x2 —_ x4 =5
ijO,j=l,4

X1+2X2+x3 —> max

-x1t+ X3._"3

X]+ XZ_X3S 1
X,20, x3<0:
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7. Unmgqb) mpjwd X Ytywnnpp jujwqny)G jpdnud &, pt ny:

I X; +8x; +10x; —»max 2. X1 +4x, + X3 — max
X|+ X2+ 4X3=2 4Xl+11X2 +3X3 =7
X;— X+ 2x3=0 X1+ x;—x3=0
X 20,1=123 x, 20,i=123
X=(LL0): X = (1,0,1)

3. X+ Xy + Xx3—max 4 X; — X3 + X3 +2X4 —max
X;+17%, —12%3 =1 X+ Xp+4x3+ x4 =1
X|— X; + 6x3=1 X +2X; — X3+ X4 =1
x;20,i=123 x;201=1234
X=(L,0,0): X=(1,0,0,0):

5. X; + 2%, +X3 +5%x4 +7X5 — X —2X7 + Xg — max
X+ Xy +X3+2X4+ X5 —Xg+ X7+7xg=3
X — X3 — X3 +2x5+Xg — X7+ Xxg=1
x;201=12,.8

X =(2,1,0,0,0,0,0,0,):

6. X, +4X, +3x3 + X4+ 9x5 — max
8X1 +7X2 +6X3 +28X4 +13x$ =28
4x, +3x;3 +11x,4 +10x5 =11
3X2_ X3 + SX4+27X5 =5
x;20,1=12,.,5

X =(1,2,1,0,0,):

7 X1+ X3— X3—5X4— X5- Xg—2X7 —3xg > max
2X;+ X2+ X3+3X4 +2xs5 +3x¢ +4x7 +2xg =15
X|—2X2+ x3+2x4—x5—x6 + Xg = 0

Xi+ X, +3Xx3 +4x4 —4Xs5 +2xg +5x7+ Xg =22
x;201=12,.,8
X =(3,4,5,0,0,0,0,0,)

8. X[+ Xp+ 2X3 + 3X4 — X5 —Xg +X7 +7xg — max
X;+ X2+ (@+b)x;+ (a-b)xs+ (a+b)xs+ (a—b)xg =2
X; +2X, +(a+2b)x3 +(a—2b)x4 +(a+2b)xs +(a-2b)xs =3
x; 20,1=12,.,6
X =(110,0,0,0,):
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8. Umiytipu tnuGuy:
Lnoty" 1-hG, 3-pn, 5-pn L 6.3 ywpuwgpudlbpmd pipjud G-6hu-p
uhiwtipu binuGwyny:
9. Lmdtj mpwluwynmnuyhb fuGnhpp
Spwluwnpunuwjhb fulnpp dwptdtnhjuw b dnnbyn.
i i‘, C.X. — min

iy
i=l j=I"

ﬁxij =b;, j=L...,n,
i=1

L. bi=10 by=15 b3=20 bs=5 bs=20
a|=15 C|]=2 C|2=3 C]3:l C|4:5 C|5:l
32:25 =2 Cn:l Cy3=3 02424 Cy5=3
a3=30 031:4 C32=] C33=2 C34=5 C35=1
2. 100 150 200 300 3. 50 100 150 100
300 10 15 5 20 100 7 15 6 10
200 15 10 20 10 200 15 5 8 12
250 5 25 10 15 100 6 10 20 8
4. 80 60 120 140 5. 160 180 80 100
150 12 8 25 10 200 | 60 40 125 50
175 10 18 4 8 150 | 50 90 20 40
75 6 12 4 10 170 [ 30 60 20 50
6. 100 120 80 150 7. 80 50 70 120
160 5 15 20 8 150 5 16 12 8
90 10 16 6 12 100 6 12 10 S
200 8 10 14 8 70 5 2 3 10
8. 20 30 50 40 9. 200 150 60 100
60 3 2 10 5 300 1 6 14 9
30 6 8 5 6 90 | 8 10 5
50 4 1 1 3 120 5 10 8 4
10. 50 20 80 110 1. 130 70 170 130
100 10 5 6 12 200 3 S 9 4
70 6 8 5 8 120 12 5 10 8
90 10 6 8 10 180 1 10 6 9

12. 170 130 250 150 13. 50 120 80 60
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250 12 16 8 20 100 7 S 10 3
300 8 25 15 10 120 | 12 14 8 5
150 | 15 10 15 6 90 | 10 8 6 11
14. 320 80 150 220 15. 200 120 170 130
220 | 25 16 20 12 300 ] 13 5 9 4
180 [ 12 8 20 15 180 [ 26 10 10 8
30 5 5 10 10 140 | 20 16 6 9
16. 90 80 170 60 17. 100 260 140 120
120 12 6 5 1 160 | 8 6 10 |20
120{ 8 9 2 2 300 | 20 15 12 25
160 [ 5 7 5 4 160 | 10 10 15 15
18. 50 75 75 100 19. 80 130 120 120
60 | 10 6 8 15 160 | 15 10 5 15
00| 8 7 9 10 1200 15 20 5 8
120 4 12 5 6 170 [ 20 18 7 10
20. 125 65 85 105 21. 100 120 50 80
90 | 8 4 5 5 100 7 5 8 |3
140 6 9 8 2 140 | 5 3 7 4
150 5 5 5 4 1mo| 2 7 5 6
100 4 6 3 2 160 | 12 6 15 8
70| 8 7 4 7 120{ 20 12 8 10
130 [ 4 2 7 9 80| 9 16 12 8
23. 70 130 120 80 24. 95 35 40 40 .
135 3 7 6 4 80| 5 2 4 3
165 | 2 5 4 2 45 3 4 2 6
100 1 4 3 5 75 4 7 6 7
25. 90 60 110 70 26. 100 45 65 100
65 1 5 5 2 9 | 2 4 7 5
180 | 2 5 4 7 126 5 4 6 3
8| 2 4 2 4 104 6 2 6 7
27. 25 55 80 40 28. 50 65 85 30
45| 4 5 2 1 30 8 6 10 20
70| 4 2 2 3 80| 20 15 12 25
85 1 5 5 2 120 | 10 20 15 15
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10. Qwulwqui fuGnhpGhp:

1. %hgmp’ mpjwd k

(cx)— max

Ax=Db

x20:

Uprynp YqunGyh® dhywn wyGuhuh ¢ Ybljpnnp, nph nhwypmd fulnhpp motih
2. “hgmp' Gwjunpy fuGnpnd A dunnphgnp L ¢ ytiwmnpp hwunmwwwgpjuo
LG: Upynp Ywpth® t dhpn quGhy wyGupuh b ytluunp, nph phuypmd
fuGnhpp matjh t:
3 - 8 —pip luGnhpGpnid ghunwplymd t
(cx)— max
Ax=b ()
x20:
JulnGuwywl nbuph &Glu, nptn xe R",c€ER" L bE R™ nwpwdmpjwb
ytyunnpltpG GG, A-G° mxn-pwihwGh dwwphg b N, -nY GuGwlyfwd t wyl
pwquimpynbp, npp pwnlugwo t ce R” yhnbtphg, npnGg nhwypmd (A )
fuGnppp momd nubh (wyn pwpmd b-G L A-G ulinmG LG):
wiwliwGnpb6 vwhiwGymd 6@ N, cR"-p L N, ¢ RV

3. Uwwgmgh), np pwqlnipynilp mnenighYy YnG k, nph qugqupp Ynnpnh-
wwnGtph uyqpGultinmy k:
4. Uwywgmghy, np N, puqinipjnilip mnemghy b:
5. Uwyugmgty, np Ny puwqimpymGp mnmghy YnG b, npp ququpp Ynnpnh-
GuwwnGtph uyqpiwlybn bt (GGpwnpymi t, np N, puqimpymbp quwnwply pt):
6. Uprynp gqnynipymG mGh® wyliypuh 9Ok, nph hwGwp Ny, puqimpinin
Juwqijwd t b; L by YyhpnnpGtphg (b # b,):
7. Uwpn®n t Ny pwddnlp;mﬁn punlugwd |hGh ity by Ytlunnphg:
8. twpn™n t N, CR™™ pwquimpymbp (hGh) mnmghy:

Uwnpl pipywo *-ny fjuGnppGtpp hwpwpbpwlwG pwpng fuGnhpGtp GG:
9* Uwwgmghy, np’

Ya,x; =0, i=12.,m (o)
j=
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qowjhG hwjwuwpmiGiph hwiwutn hwiwljwpgp mGh guulwG peomy,
w)h L dhu)l wjG nliwypnud, tph

m
1=

(2=(21,23,-,2,) #2 0 ,tipi.w) z2 0, p) z2#0)
wlhwywuwpmiGiph huntwluwpgl whwdwntinbh k:
10* Uwwgmghby, np’
n -
z‘aijxj <0, 1=12,.,m (o)
J:

qowjhG wihwyjwuwpndGiph hwdwube hwdwwpgp ;momud mGh
X =(X,,X2,-Xp ) 2% 0 wyG L ShusG w)G nbwpmd, bpk

f‘,aijyi >0, _] =12,..,n

i=l

Yi 2 0, i= l,2,...,m
hwiwjwnpgl wihwiwwmbnbih t:

11. Uwwgnigky, np, tipk {Y, y }-p unynpujul wmbuph 4-Glu-h Lwqpuidh
PmiGyghwyh pwipwytnG t, wwyw 6hpwm t (X,yA -c)=(y, b-AX)=0
hwpwptpwlhgmpjnGp:

12, 9%hgmp' X-p° ungnpulwG wbtuph GOl-h  momdG t, huyy-p° Gpw
tpywyh luGnph nomdG b Uwwgmghy, np {Y, y }—[} unynpulwl wbuph
Q-Olu-h LwGgpwbdh dmGlghwyh puwdpwltinG t:

13. Oquuugnpdting 9-pn fjuGnpp winmip wupugmgty, np tp X-p L y-p
huniwywwnwutwGwpwp unynpujw b wtuph GOlu-h L Gpw pYuyh fuGnph
JuyugnyyG momiGLpl GG, wujw

®

j}_}laijxj <b,

wujdwGhg Yhtunlp, np ;= 0, hul
> a;Y; > ¢
i=l

wwydwGhg htnloud £ X; =0:

Lmoty htwnljwy @-Olu-Ghpp:
14. X, +2x, +3X; +..+nX, —min
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X +X, H.4X, 24,i=12,...n
x;j20,j=12,.,n

15. x1+2x2 +3X3 +..+an —min
Xi + X4 2 (0 4] ,i = 1,2,...,11—1
X +X, 20,
Npnyb A, B wwpwdtnptiph np wpdtpiph nbupmid QGu-p°
w) mGj uomy, p) snGh momud:
16* X +XZ +X3—>min
)\.Xl+ Xy + X3 ZP—]
X; +AX,+ X3 2 U
X; + X, +)\,X3ZM3
17* X, +)x, +A%x; —>min
A+0x+ x5 + X3 2
X +1+)x, + X3 2,
X+ X A2,
18* (A2 +30)x, + (A’ +32)x, +(A* + 30 )x,—~min
(1+}\.)X1 + X2 + X3 > LYy
X|+(1+)\.)X2 + X3 2 Wy
X+ X, + (l+}\.)X3 Zu.3
19* X, +2x, +3x; +..4+nXx, —min

X;+Xy +.+X, 2 l,] = ].,2,...,"
Xj 20,_] = 1,2,...,1']
20*. x;+2%,+3%+.4nx, —min
X; +Xi4 20;,i=L2,.,n-1
X)+X, 20,
21. Ywnrmgt wyGwhuh $h ophGwy, np Ep{uyh qnuyq funhpGtphg nplk hyp
Jwpnn £ pnypuwnptih monmyd mGaGwy, hul dynwup ny:
22 Gunmghy) wjlGwhup dh ophGwy, np Gplwyh qniygh tplne fuGnhpbpG k)
Yupnn GG momy yniGhGwy:
23. Uywgmgt), np gnympymb ymGh Gpywyh wyluhup fuGnhpGeph qmyg,
npnGg GuuwwwlyuwhlG pmiGpghwlhpp hwdwwywunwujuwl pogunpbh -
omdGtph pwgimpywi Yypw vwhdwGuhwly skG:
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24. Uwwgmghy, np bpb qodwjhG opwgpiwl hulnhpp mobtth b, wwyw uwh-
dwiwjrolmilGtph b yhywnph thnthnfunipymbp sh Ywpnn hwiglglt gow-
JhG dpwapiwG Guuunwlywihd pmbGyghwh wliuvwhiwbwihwympjwG pmy-
Jwwptih momdbtph puqimpyul Ypw:

25* TGhwnwpytitp 90 -h bpynt Gphuyh qmyq.

UyqplGwlwa juGnpp Gnywyh fulnhp
L(x)=(c,x) » max f(y) =(b,y) > min
Ax<b (o) yA>c ().
x20: 1 y=20:
L(x) = (c + Ac,x) — max L(y)=(b+Ab,y)>min _
(A+AAx<b+Ab  (B) {y(A+AA)>c+Ac ®)
x20: { y20:

Ahgmp’ (@) b (&) luGnhpGbph monuiGhpG b6 X-p LY -, huy B) L (B)
tuGnhpGtph imOmdGhpa GG X ol §'-[_1: Uuwwgmghy
1) —(Ac,AX)+ (V,AAAX) + (AY,AAX) < 0
2) — (Ab,AY) + (AY,AAX) + (AY,AAX) 20"
hwpwpbpwlgmpymGitph §unnipymGp, npnky AX = X-X,Ay=y-5
26* Uwuwgmgh), np ip X;-p L X, -p (@) fuGnph tpynm momdGhpG GG
(Gwjhp luGnhp 25-p), huy Yi-p U Y2-p (&) fuGnph tpyn imomdGlpt &G,
wuww 6hyw £ htnlyuy hwpwptpuygmpymp’ (AY, A AX) = 0, npuntin
AX=%; —X, huy Ay =Y, =¥,
27. Yphunwpyblp qdwjhG dpwgpiwb tpym motih fuGnhpGlp, npnGp tnwp-
pbpymud GG $hw)G vwhdwGuihwyndGph yeymnpGbpny’

{L(x) =(c,X) = max
Ax<b (o)
x20:

Ax<b+Ab B)
x2>0:

Lywhwykp (o) L (B) juGnhpGbph GwwwnwlwihG $mbYghwGtph wow-
ytjugmG wpdbipGtpp hwiwwwnwuhruGwpwp’ Vol VetAvy:

{L(x) =(c,X) — max
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Uwwgmgty, np Avp £ (¥,Ab), npntin ¥-p' (0)-h Gpywyp fulnph
nomuaG k: .
28. Uwwgmghy, np Avo > (¥ ,Ab), npubn Y -p* (B) uGnph bplwyh fuGnph
monudG E (wyuntin pnpnp GpwGwimdGhpp mG66 27-pn fulnph GywGwlymd-
Gtph pdwuwnp):
29. Uwywugmghy, np’

L(x)= Zc X j — max

Za,lx <b 1=1,2,.
x 20, j=12,..

qowjhG dpwgniwb fuGnhpp motph t ,bph ponp b; 20 (i=1,2,...,m) L npwig
tpywyp fulGnph wupdwGGEph hwiwupgp bwdwwnbnbih

30. Uuywugmgty, np unnpl pipjwo qdwyht dpwgqpdwb julnhpp mobtjh t,
bpt b0, 2;; >0,(i=12,.,m, j=12,.n).

j=1

x;20 ,1=12,.,n
31, Upnynp gnympymG mGh® wyGwhup Gpyuwyp puGnppGhpph qnyq, npndg
hwiwp M LM puqimpmGatpp vwhiwGuwihwly )66 (M-ny L I\7[-m| Gpw-
Guyywd kG mnhn L Gpyuyp uGnhpGeph pngpumpbh monuGtiph memghy
puqiwihum puqimpymGGLpp):
32. Uprynp qnympymG mGh° wyGwhuh Gphwlh fuGnppGlph qmyg, npnig hw-
dwp M puqdnipyneGp vwhiwGuithwy |, huy M pwqinipym Gp vwhdwiwh-
yt(Mu M uwhdwimuibtpp wtu Gwhunpy fuGypnud):
33.Uwwgmghby, np unynpwlwb nbuph qowjht opwgpiwb fuGnhpp’
L(x)= Z")cjx, — max
=1

Za,,xj<b 1=12,.,m X; 20,j=12,.,n:
=

1mobjh , tpt pninp b, 20 Lnpny i-h hwdwp ;>0 (i=1,2,...,m;j=1,2,...,n)
ntiypnid vwhdwGwhwlmdiGtph hwiwYwpgp nilp nomy:
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34, Upynp YuwhwwGyh® Gwhunpn uGnph wGnmdp, tph a;; >0 ww)jdwbp
thnfuwphGyp wnwyby pny wuydwlny. npny i-h nhiypnud, L pnnp j=1,2,...,n-
bph hwidwp nbnh mGh aj; 2 0:

35. Oquuqnpotiny tpjuyhnipjwl wnwehlG plinptip” wuwgmgt), np uwnn-
pl ppjwd unynpuul wnbtuph qowyhG opwgpiwl fuGnhpp moLih st, tiph
poinp b; <O L gnympymG mGh wyGuhuh i, np a; > 0 pmnp j=1, 2,...,n-tpp
hwdwp:

L(x) = j2_‘,_chxj — max

Yax,<b i=12,.,m,x;20,j=12,.,n
j=1

36. Uywgnigh|, np gowhG opwgpiw@

L(x)= §nlcjxj — max
j=1

Ya,x,<b i=12,.,m,x,;20,j=12,.,n
j=1

fuGnhpp tmadtih t, tptib; 20,2 20 (i=12...,m, j=12,...n) L juiwjw-
YywG j-h hunfwp gnympymG mGh qnGt gy a; >0:
37 Uwwugmgty, np gowjhG wihwyjwuwpmuiGhph

m
E:lauy, < Cj, ] = 1,2,,...,n

huiwlupgp hwdwwntintjh £ w)G L dhwyG w)yl nbupnud, bpp
Sax;=0,i=12,..m
=

hudwlwpgh judwjuyuwb ny puguuwlub modwl hwiwp ntnh mGh'

n

ZCij 20

j=
38. LGwnmgt] tpym hmpnfuwyulny dwpuhiwgiwG unynpuwjwG wnbuph
qdwjhl dopwqpiwi fuGnhp, npp mGh Gpymuhg wytih wywgnyG monu,
uwiuwhG ny popnp potgjunantiih momdGEpp (wjwgm)Ga Ga:
39* (Dwpyuwph ptinptid) Unjugmgty, np qowjhG hwjwuwpmiGbph hwdw-

Yungp Ya,x,=b,i=12,..m
o
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ng puguwuwlw @ momdGtp ymGh wyl L Shwyl wjl nhwpmd, Gpp hwiwnk-
ntih t htinlyw) hwiwlwpgp'

n -
Zlaijyi gO,_] = ].,2,..,1]
=

m
Zbiyi >0:
i=1

40*. YhnwpyklGp wihwjwuwpmiGtph hwiwwmbntijh hwiwywpgp’

m
]§1311y1 SCJ, j=1,2,,...,n ((X)

m

Uwwgmgtp, np 2 b;y; =b hwjwuwpmdG (o) hwiwlwpgh htnblopymGa
i=l

EwjG L dhwyG w)l niygpmd, tpp hwdwwnbnbih t hGnlyw hwdwljupgp

za,,, b, i=12,.,m

Cij =b:

‘™M= I|

1=l
4]. Fhwmwpytlp htnlyw| fuGnhpp

m .
2¢iXx; — min
i= l

Zau i = B J - 1 2
x; 20,1=12,..
8n1jg wwy, np tipk a;; = 0 poynp i-kph l.]-bph hwdwp, wuw fuGnhpp pnijjun-
ptith £ wyG L ShuwyG wyG nbwpmyd, bpp b; < 0 htiGg np a,j = a5 = ...= a,,= 0:

42. Qpby Gwjunpq fulnpp tpywyhG: Gapwnpbind, np wyn fuGnphpp poywn-
phith £t L ogutyny btpywyhmpywG phnpbdhg, gmjyg ww), np Lpluyh
fuGnhpGlipp mGLEG pwywgqnyG momy, tpbic; 20 (1= 1,...,m):
43* 8nygwmuwg np (cx) — max
Ax=b

tuGnhpp mGh momy wjG L dhwyG w)yl nkwpnud, tpp c-G6 A Swwnphgh uym-
GwyGtph qow)hG YyndphGugphwa t:
44, {tnljw) YulnGulywb wnbuph fuGnhpp'

(cx) — max

Ax=b,x2 0
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ypSwwn GywlwytGp (A,b,c)-ny, huy wyn fuGnph wpdtpp’ w-ny:
“thgmp' c® ytYyunnpGph hwonpnwwimpimbp dqunmu t ¢-h: (UyuhGpG,
tpb ck = (c:‘ ..... cﬁ) L ¢c=(cy,...,Cn), W

k
i

Sn1yg nwy, np bipl Wi-G (A,b,c%) fulnph wpdbpG t, wuu wi — w:

45. 8nyg ww, np bpk 44-pp fuGgpmd c-G ulbnwd t L b*— b-h,
(bf - b,.i=1m) wyw w, — w-h: (Uju tpym fubnhpGbpp gng GG nwihu,np
Q-Gluh wpdtpp wipGnhwnnpb6 b Ywhuwd b L ¢ YejunpGbphg):
46. ““hunwplybbp htwnlguwy fuGnhpp

X — max

x<l, ax<0, x=20,
npuntin o guGlugwd ny pugwuwlwb phy k: 8nyg uuy, np 00— 0 nhiypmyd
wju fuGnph w wpdtpp fuqymd k: (9w gmyg £ wiwghu, np G0 fuGnph wpdtpp
wpinhwwnnphl Ywijwd st A dunnphghg):
47. x ytunnphg Yuuygwd f(x) $mbyghwb Ynydmd t umpwnhwnhy, tpt Vx,,
X, huniwp

¢ —¢.(i=1..,n):

f(x +x;) < f(x;) + f(x;):
Uyugnighy, np ywpupipqugiwl unynpuljwl wmtuph 4-6hu-h wpdtpp
unipwnhwnjpy $mbGyghw t ¢ yuljunph Gjundwdp’
w(c+ ¢2) < w(cy) + w(cy):
-48. 8m)g wwy, np np Swpuhihqugiwb unynpwuwl ntuph GFOl-h wpdtpn
pwywpwpnd t Gubl
w(b;+ by) 2 w(b;) + w(by):
49* Yhunmwnytlp hbwnbjywy fuGnhpp
cx - max, ¢=(c, ...,c.)
Ax=Db
d £x <d* npmtind =(d,,...,d,, ), d*= (d;,...,d:n)
8myg nwy, np X =(X1,...,Xm ) ytijunnpp pugugmyGe kw6 L dhwy
wjG nwypmd, tpp 3y YyLyunnp w)Gujtu, np
tpk a,y<c,, www X; =d;
tptia,y>c,, www X; =d,;
50. Unyugmgti, np ipt A 2 0, b 2 0 L A Swnphgp sh wupmGuymd 0-
wljwl uymGuyitp, wujw
(cx) — max
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L

Ax<b,x=>2 0
fuGnhpn mGh montd:
51. Uwywmgmaghy, np
(cx) = max
Ax<0
huGnhpp niGh X = 0 nuonuip Yud momd smGh:
52. Uywgnigti], np tpt
(cx) > max
Ax<b
fuGnppp niGh mond L b* 2 b, wyuw
(cx) — max
Ax <b’
tuGnppp GnyyGutiu mGh (nuomad:
53. Uwwgnigtiy, np
(cx) — max
Ax<b,x20
fuGnhpp niGh monud pmnp b€ R™ L c€ R™ hwdwp w6 L dhwG w) nbuy-
pm, bpp 3x°eR" L p’eR™, np
Ax’<0, ATp’>0,p'> 0x°2 0
(AT-Q A-h mpwGuynGwgywd dwinphgl t):
54' Uwugnighy, np biph
(cx) — max
Ax=Db
fuGnhpp mGh momd, wujw ponp pnyjwuwpbih neomiGhpp ywgqniyGa a:

11. Unmgnnuiwl muwpptpwljllp

Swpptpwy I.
I. Muwwunwuhiwlbp wyn jund ny. hhdGuynpbp wwwnwupuwGp: /3dugnp/
Q-Olu-h pmjjwwnplijh heGpuwjhG nodwl npulub punwnppyGbph pwtiw-
Yp Yupnn E (hGb.
w) m-hg dkd, p) m-hg thnpp, q) hwjwuwp m-h, npnbkny m-p QOhs-h
uwhdiwGunhwlymiGiph pwGwya t: /3 dhudnp/
2. Lmot) 9-Olu-p gdwwunnytiph dhengny,juqity bpluyh fuGnhpp:
/3dhwynp /

141 - 54-pn fulinhpGbpl wnuwiwpyb) & gngbtin N UWjbnhujwtp:
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2x, +X, & max
2x, +3x, <12 *)
3x,—2x, <6
1 2
X, 20,x,20:
Lmdt (*) F0lu-G odwlnuly fuGnph dhengny: /3 dhwynp/
Qunlb) (*) wdpnngwpyuwyh (nonwdp <ndnpph hwwnypltiph
bnuiwyny: /3vhwynp/
QGunlbp (*) wipnnewpywjhG monwip 6ynunbiph L qGwhwwnwyubitph
tnwGwyny: /3 dhwynp/
Lndt| npwGuwnpuwhG fjuGnhpp: /3 Shwynp /
16 30 17 10 16 4
30 27 26 9 23 6
13 14 22 3 1 10
3 1 5 4 24 10
7 7 7 7 2
Uwwgmgty tpywyhmpjw nbumpjwG (bd 1: /2 Shwynp/

Swpplipwy 2.

. Lmob 4Oh-p gowujwnytph dhgngny,juiqity tplwyh fulnhpp:

/3dhwynp /
Z=-x, +x, 5 min
X, +2x, 22
X, —4x, <2
6x, +5x, <30
x, 20,x, 20:

Luwlunpy unpmy GywnwywhG Z pmGyghwl hnfuwphGby Z = Ax;+x; -
ny L qulb}, pt A wwpwitwnph n°p wpdbplGph nbwpmy fuGnhpp mGh’
w) dhwy nuomd, p) pwgiwlyh momubbp, q) inonud ymGh: / 3 dhuynp/
[.Lmdty QOU-G ogunytiny tpywlhnmpjwb wntunpymbhg: /3 dhwynp/

Z=x,+2x, -3x, - min
-X, + X,+ x3=5
12x, —9x, +9x, 28
X,20,x,20,x;<0
Uwnighy, pt mpwo X yblnopp jujwgniyG mdmd t, pb ng: /3 dhwynp/
Z=-x;+2Xxy—X3; — max
X1 — X, + 2X3 =0
X;+Xx,+5x3=2
X]ZO,Xzzo,X:;ZO
X =(1,1,0):
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5. Muunwufuw (b wyn uwd ny. hhiGwynply ywwnwufuwGn: /3dhwynp/
w) Q-Glu-h ninhn fulnhpp wpgyn®p dhpwn dwpupdwgdwG fuGnhp t:
p) @0-h GuuwmwluyhG $niGyghwb Ywpnn t dhtlnyyG wpdtipG pGnmGe)
pnyjjuwnptth pwqimpjul nwpptp Swjpwytnbpmad:
q) Unynp 94Ou-h tpywyh fubnph tpywyh fuGnhpp wyqpGwlywi fulnph
nunhn fuGnhpG k:
6. Uwwgnmgh) G-0lu-h hhiGuhw G pinptip: /Sdhwynp/
Swpptpwly 3.
I MNMwuwufuwlby wyn fud ny. hhdGuynpb] ywwnmwujuwGp: /3dhwynp /
w) pt G0-G mGh (wydwgmyG mond, wyw nilGh Gub jujugm )G hkG-
pwjhG ymantd:
P) Upduptipu tnwGwlh hpwlwlGuwgiwé pipuwgpmy hpwp hwenpnnn
htiGptpp Ywpnn GG wwppbpyty YkYhg wybtih YEhwmnpGtpny:
q) UG-Olu-h wipnnowphy jujwgnyl monmdp Jupbih b unwGuy
wlwmbubiny GO0Mu-h pudwgnyyG peodwl YninnpujuhG dwup:
2. Lmoby @0h-n qowwyunytiph dhongny,juquit) tpywyh fulGnppp:
/3dpwinp /
X1 +x, —omax (l)
2X; +x, <10 )
X=X < 1
XIZO,X2 >0: (3)
3. Gl (1) - (3) fuGnph wipnnowpywhG ymgnudp: /3 Shwynp/
4. {knwgnuty @-0lu-6: /4 Shwynp /

(2 +30)x, + (A2 +3\2)x, + (A* +317)x, —min

(l+}\.)X1 + Xy + X3 4 Wy
Xq +(1+A.)X2 + X3 > [¥5)
X+ Xy + (l+}\.)X3 ZH} .
5. Lmobp wpwluwnpnwjhG fubGnghpp: /3 Shwynp /

S{ 15 3 61 10 9
23 8 13 ] 27 12 11
30 1 S| 24 ] 25 14
8 | 26 7] 28 91 16
8 9 13 8 12
6. Uwwgmgly 40 tpyulhmpjwl wtumpju 1-hG pbnptdp: /4 Shungnyp/
Swppbpuwl 4.
1. Lmoty G-Olu-p gdwuywmltiph Shongny,wqiky Gplwyh fulnhpp:
/3dhwnp /
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Z=X| +3X2 — min
X|— X, >-2
5X| +2X2 <10
Xy _3)(2 <0
X 25, ISXZ <é6:

2. Luwfunpy fubnpd GupwnwlwghG Z $mGyghw hnpuwphlly Z= AX+X,-

ny b qunGhy, pb A wwpwdtnph np wpdtpGhph ntupmy fuGnhpp mGh w)
dhwl momd, p) pwqiwih mdmuiGhp, q) momad ymGh: /3 shwynp/
3. Lmobk] QUlv-G oqunybtiny ipfuyhmpjul tntumpjniGhg:/3 shwynp/

Z =2xy +4x, +4x3 —3x4 — max

X+ X2+ X3 =4
X|+4X2 . + X4 =8
XJZO,_]‘—“14

4. Uwnmgb) nipywd X Ybunnpp jwgwgniyG inudmd b, phi ng: /3 Shwynp/

Z=x,+ 4x,+ X, > max

4x, +11x, +3x, =7
X, * X~ X,=0
x;20,1=123 Xx=(,0,1)
S.Munmwufuw il win Jud ny. hhdGwynpl wwwnwupowbn: /3dhuynp/
w) GnpoGuwlulinud X; thnhnfuwlywGGhpp thown GG Jud hwwuwn G qpogh:
p) Lpwugnighy uwwhiwlGunhwlma Gipdmobtiny dhpwn Yupbih b dkowglby ud
tinpnuglty GywwnwywjhG doiGyghugh pujwgniyl wpdtpp:
Q) TLb ysyunpibpp thnhinfutinyg @-6lu-h jwjwugnyyG pndmuip Ywd sh
thnfuyp, jud YrpurGw wipnypunpbih:
6. Uwwgmgh] 40 tpyuihnipjwul mbumpyjuG (kd 3: /S dhwynp /
Swppbpwl S.

1. MwunwubuwGt) wyn Yud ng. hhdGunpb; wywwnwupuwbp: /3dhwdnp/
w) QOM-h jwjwgnyld modwlip hwiwwwwnwufuwbng 4 qGwhwinw-
YuGGtph GpwGGtpp ywhujwo skG,pt hG; wbuph luGnhp t nhuwpyymad:
p) @Oh-nud hwpluuG htGphipp wwpptmnud GG dhw;6 dkl Ytiunp umGyuyny:
q) {ninphh hwwnnypp Junmgbihu wibpwdtunnpimb jjw pugmghs thn-
thnfuwlwGh Yypw nG6) wipnnowphy thitim wjuyiwbp:
2. Loty gowwwinlkiph thongny,juquity phwlh tubGnhpp: /3dhwynp /

4x, + x5 —»max (1)

3x; +4x, <12 )]

X1 — X3 <1
X1 ZO, X2 20: (3)
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3. Qulhy (1) - (3) luGnph wipnnewphy monuin:/3dhwyny

4. Qunlly, pi A L Wy, Wy, B3 wupwidbiptinh np wpdtipGhph nbwpmd uGnhpp
mGh" w) dhwl jnromy, p) pwqiwlh momiGtp, g) momd ymGh: /4 dhunnpy/

X, +AX, +A% X, —min

A+A)x, + Xy + X3 2}
x; +(1+A)x, + X3 2N,
X+ Xg +(I+A)x32p3

5.Lmoty mpwGuwnpuuwjhG fuGnhpp: / 3dhwynp /
5 61 251 11 12 9
13 ) 1441 20 27| 30 ] 18
16 71 191 101 21 23
11293 23] 25] 18] 26
11 22 31 6 6
6. Uwwgmgt| ipyuwyhmpjub mbunipjwi (L4 4: /4 Shwynp /
Swppbtpwy 6.
1. Lmodt| G-Ohu-p gdwwwwnlinh dhengny,juqit; bpyuyl fuGnhpp:
/38pwnp /

Z =%~ X, = min
-2x,+3x,£ 6
X+ X2 2
6x, +7x, <42
1<x,£45, 0<x,<3.5:
2. Lwjunpy  julgpmd -2X,+3x,<6  wwhiwGuiwlmdp  thnfuwphby
-2X1+3x,5A-ny L quaGly, pb A wywpwitinph np wpdtipGhiph nhwpmd fulinhpp
mG) w)dhwy ymonud,p) pwqiwlh momuiGtp,q) ndma ymGh: / 3 Shwynp/
3. Lmoby GOhu-G° oqunybyny GpYwlhmpjwl wbumpymbhg: /3 Shuynp/
Z =x, +5x, — max
X, +2x, <3
2%, - x, £4, x;20,)=123:
4. Uwnimgh) npjwd X Ytunpp pwjugniyG inudmad b, pb ng: /3 dhuynp/
Z=x;+8x, +10x; — max
X+ Xo+ 4x3=2

X;— X+ 2x3=0
X1 ZO,XZ 20,)(3 >0
X =(11,0)

5. Mwunwufuwbhy wyn Ywd ny. pdGuwynpby ywwwuluwbp: /38phuynp/
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Uprynp 6h°w Gl htimlyw) wGnmaGbpp, bpb tpywyh tuGnhpGbphg dkyp

mGh jwjwgqnyG momd, wwyw’

w) dymup Gnywbu mGh pujugnyyl moma,

p) Wnwp Yupnn b pwywgnyG momyd ym GGGy,

q) Wnmuj GupunwiuhG $mbayghwl wluwhiwGupwy t:

6. Uwwgmgb tpyuljhmpjub mbunipywud (L 3-p: /5 Shwynp/

Swppbpwy 7.

1. Muunwufuwbb] wyn Yud ng.hhiGuwynpt ywwwufuwbp: /3dhwynp/

w) G0lu-6 Jupnn £ niGGGw] pmjjwwnpbh momd, puyg ymGhGw) jwyw-
qnyG (moma:

p) Gpt @Ohu-h htiGpwjhG jmovwG hwdwp pnjnp Ay gGwhwinwwGGspp
dko G qpnyhg Ywd hwywuwp GG qpnjh, wyw GupuwmwwihG pnGlghwgh
wpdtipp Junnn t (hGh wGuwhiwGugualy:

q) <ninphh hwwnnypGtiph EnuGwyh Yhpuwndwb plpugpmy wihpwdtywn-
mpjnl s4jw oqunuqnpotynt Gwunpn pwjmd Junrmgwo hwwnypp:

2. Lmdky 40Olu-p gowwuunytiph dhongmy,jwuqity tplwyh fulinhpp:
/3dhwynp /
Z=0.5x,+ x, —»max (1)
5x,+3x, <15 (2)
-X,+x,< 1
x,20x,20: (3)
(1) - (3) Q0IU-G 1mok) odwlrpuy fuGnph dhengny: /3 thwynp/
Loty (1)-(3) UQ-Blu-p <ndinphh tnuGwuyny: /3 dhuynp/
Lmob) (1)-(3) UQBlu-p Gnuntph L gwhwnwiuiGiph tnuGwyny:
/3dhuynp/
6. Loty wpwGuuynpumwyhG funhpp: /3 dhwynp/

11 10 15 | 8 7 16

12 | 14 [29 (20 [20 |15

18 (7 5 25 | 28 |24

24 | 4 30 |24 |26 |15

15 10 20 15 10

7. Uwwgmgb) hiGpwhG ymomubtph Yipwpbpjwy (Gd 1 L 2: /S9huynp/

Swpplipuy 8.

1. Muuwupuwbl] wn Yuwd ny. hhiGuynpty wwnwubuwbp: /3dpuynp/

w) Gphb dhGhiwgdwb G-Olu-h hwiwp uhdytpu wnynuwlymd j-pn uywh
pnnp pwnunphyGpp §69 YuG hwjwuwp GG qpojh, wuypw GuuwnwywhG
$n1Gyghwl whuwhiwGuihwy t:

p) bph QOIu-G mGh pnyjunptih heGpwhG momd, wuw niGh Gulk jw-
JuqnijG htGpwjhG ymomu:

b el
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q) Gymntiph L gGwhwnwywGitph tnuwlGwyh Yhpuwniw6 hwdwp Guw-
wwluyhl $niGyghwyh gnpowyhgltipp whnp t hGEGE wipnnewphy:
2. Lmotk @0lu-p gowwwinltiph dhongm],juqit) tpywyh fulnhpp:
/28hwynp /
X, +2x, —»max (1)
6x, +5x, <30 (2)
-X,+3%x,<6
x,20,x, 20: 3
3. (1)-(3) 90l-G oty odwlnuy fuGnph dhengny: /3dpwynp/
4 (1)-(3)UQ-Clu-h momip quulh) <ndnphh hunm)pGtph tnulwyny:
/3 Shunjnp/
5. (1)-(3) UQ-Blu-h momip qwnGhy &ynntiph L qGwhwwnwywiGsph
tnwlwyny: /3 dhuynp/
6.Lniot] npuwGuwnpuwghG fuGnhpp: /3 dhwnp/
17 | 29 2 81 18} 32
14 8| 25 15| 21 8
29 ) 11 151 13 ] 20| 13
271 15§ 19 8] 141 27
15 20 25 5 15

7. Uwwgnigl htGpwjhl momdGhph yepwpbpywy by 4: /3dhwynp/
Swppbtpwy 9.
1. Lmot| gowwwwnytiph dhongny. /2 Shunnp/
Z =X, -3x, -5 max
2<x,+ x, <8
4
-4< 5 X;+ x4
X, 20,1<x, <5:

2. Vwunpg fuGgpnd 2 £ x3+Xx; € 8 uwhdwlwthwimdp thnfuwpplb
2 < x+x; £ A-ny b quGh), pb A wwpwidbwnph np wpdtpGhph nbupmd
fuGnhpp mGh dhwl monud, pwqiwyh nonuiGhp, mond ymGh: /4 Shwynp/
3. bGuwquib) &Olu-h Gpywyh fuGnhpp: /2 dhwynp/
Z=x,+2x; +3x3 - x4 — max
- X1+ X, +3x3+4x, =12

X;j— Xp+ X3-— X4 <12

X — 2)(2 + Xg4 >4

Xy 20,)(3 SO,x4 >0
4. Lmobky F0lu-G° oqunytiny tipyulhnipjwl nbunipymiGpg:/3 Shwyny/
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Z =x|+2x, +3x; +4x,4 > max
X1+ X2+ X3+ X4—-X5<5
XjZO,j=l,5

5. Uwmmghy wpjwo X Yunnpp jwyjwgnyG mdmad t, ptny: /3 shwynp/
Z=x,+ x,+Xx,;+2x, - max
X, + X, +Xx;+ x,=1
X, +2x,-x,+ x,=1
x; 20, 1=1,.,4; X = (1,0,0,0)
6. MwuwujuwGh) wyn jud ng. hhiGwynpb] wwnwuepewbp: /3dhwynp/

w) 40l-h juwjwgnylG monudp Jupbih t thnful, Gph vwhiwGwihw-
YnuiGtph hwdwjwpghg wpunwpuytl w)l vwhiwlwhwymiGspp, npnGp
wwpniGuymd GG jphun wGhwjwuwpmyd:

p) lvhun uvwhiwGuwhwimdp (< fud >), uptih b winbub:

* *
q) 6pti ¢, = max {cj}> 0, wyuw x, >0,npuntin X -G puugnyyG modwh
=ln
k-pn pwnunnhyG b, ¢-pp GyunwywihG dntGyghw)h j-pn qnpdwljhga t:
7 Uwwgmgb] Q0 tplwlhmpyjwb wmbtunipjub 2-pn phnptdp: /3dhwynp/
Swppbpuwy 10.
1. Muuwuhiwlb] wn Jud ng. hhdGwynph] ywwnwuhiwbp: /3dhwynp/

w) Gpt tpym hkGpw)jhG momubGhphG hwiwwwwnmwupnuwbGnn htGppp
nwpplipymy b6 gnGb dkY Ybjunnp-uymGuyny, www npuip hwplwb
htGphp LG:

p) Q@0l-h odwGuny fulnph pwywgmyG monuip Gwl G4Olu-h jwyw-
qni)G htGpwhG (nomudd t:

q) <ninphh hwunpGtph tpuwGuyh shongny hGwpuynp b wiowwnti L wp-
umupubi| wipnnewphy pnyjjuwnptith monuwi@, tpk wyl gnynipymG mGh:

2. Lmok] S0u-n qowwjuwnytph dhengny: /2 dhunfnp/
2x; +3x, = max
7Xl +6X2 <12
—-X +5X2 <15
X; 20,x,20:
3. (1)-(3) Q-O6Iu-G ;mdb) odwlnwy fjuGnph dhengny: AAhwynp/
4. (1) (3) USOh-h jwjwgnyl monuip quGlp <ndnphh hunnnypGbph
tnwlwyny: /3 Shunjnp/
5. (1)-(3) UQBlu-h ujwqnoyyG jmonuip qunlty §ynuntiph L qGwhunnwlwG-
Gtph tnwGwyny: /3 dhurjnp/
6. Lmot) wpwGuwynpunwjhG fuGnhpp: /3 Shwynp/
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10 5 8 4 12 |10
5 16 12 10 15 |20
15 8 10 12 14 | 15
10 12 15 20 15 |25
15 20 8 12 15
7. Uwwgmgt) jwjwgni)G htGpwyhG inddwb gnymipywuG plinptaip: /3 @/
Swpptpwy 11.
l.  Mwuwuhiwbb wyn Juwd ny. hhdGwynpb] wwunwuuwlp: /3hwynp/
w) Bpt lulnhpGtphg dtyp ujugniyG pomy sniGh, wuyw dynup GniyG-
whu juyjwgniyfi (monud ynGh:
b) Gpt pnyjwwpkh mondGhph pwqimpymGabpp nuuupy 366, wup
Epwyh qniyq fuinhpGtpp pmomd nuGhG:
q)6pt tpluyh qmjq puGnhpGtpp Nomd smGhEG, wuyw npulg pmjw-
wptith muomuiGtiph puwqinipymGGtpp nuwwpy LG. /3 Shwynp/
2. Lmobk| @-Olu-p qdwwwinytinh shengny: /2 shunfnp/
Z=2x+ X, —>max
-1<x,+0.5x, < 1
X1+ X3 <6
X+ 2X2 =-1
0<x,<3:
3. Lwhunpn juGnpmd Z $mGYghwG thnpuwphGly Z = A X;+X;-n4 L qunGtiy, pb
A wwpwitnph np wpdbpGlph ghwpmd fuGnhpp mGh w) dhwy momd,
p) puqdwlh momdGtp, q) ;momd yniGh: /3 Yhwynp/
4. Guquit) mpjwo G-Olu-h bpyuyh fuGnhpp: /3 dhuynp/

Z=X,+ Xy —X; —2Xs — min
3XZ - X4+XSS 5
X+ X, +x52 3

X; 20,x, 20,x; <0,x5 20:
5. Lmot 3-Blu-0° oqunytiiny Lipyuyhmpjwub nbunipynGhg:/3 Shwynp/
Z=X - X;—X3—X4—X5— min
2X| +3X2 —X3+X4 +X5 <5
X1 + X2 . +X5 23
X;j 2 0,_] = 1,5 .

6. Uwmgty wpjwd X Jtlwnnpp pudwgneyG imdma b, pt ny: /3 Shunp/
Z=x,+2x,+3x,; — max
X, — X, - x,<1
X, + x,— x;<1
x;20,j=12,3, x=(LL1)
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7 Uwwgmgt) G-Olu-h modwl owpnhdwpmpywl hwjmwbhyn: /3 dhwynp/
Swppbpw}y 12.

. NMuwunwujuwlb wn uwi ng. hhdGwynpk) wywwnwupawGp: 3dhuynp/
Q-Olu-h htilGpwjhe pmonuiGkph pwGwyp Yupnn t Gk
w) nuwuuwpl,p) vwhiwGwhwy,q) wivwhiwGuihwy:

2. L.mokj GOlu-p qowwwnytiph dhengny,juqily tpluyh fuGnhpp:

/3dhwynp /

Z=2x,+ x, - max

-1<x,+05x,< 1
X, + x,<6
X, + 2x,2-1, 0<x,<3

3. Z $mGyghwi thnfuwphGly Z=A X;+X,-n4 L qunGk|, pt A wwpwibn-

ph np wpdbpGtph pwypnud tuGnhpp mGh” w) shwy momy, p) pwqiw-

Yh (monudGhp, q) ;momd ynGh. /3 Shwynp/

4. UQO-h imomdp qulbky <ndinphh hwwnyplbph tnwGwyny: /3dhwynp/

5 (1) (3) UGDlu-h qunly mdmudp §nintiph L gGwhuwnwljwGGtph inubwyny:
/3 dhwynp/

6. Lnobt] mpwGuwnpunwjh6 fjuGnhpp: / 3dhwynp/

5 3 24 10 25 124

30 2 22 16 7 15

30 24 27 29 10 16

15 17 21 2 3 24

12 13 14 31 9

7 ‘Ljwpwgpk3Ou-h Motwb updwbpu tnubwyn: /2 hwynp/
13 - 19 mwpptpwlipmy pipjwd mbpumnmwjhG juGnhpGtph hwiwp’

»  LQuqubk] @Ghu-h dnnbip: /1 dhwynp /

» Pwgunnpl] dnntih thohnuwyuwGGhph, GwywwwywihGt $mGyghwih L
uwhiwGuwihwiniGhpp nGnbuwghnulwl hiwunp /1 dhwynp /

»  mot) 90lu-p gowwwinytiph shengny: /1 Shwynnp /

»  Quulb] GuuunwlwghG pmlGyghwih gnpowyhgltph wpdtpltph thn-
thnfutw@ wyG dhowlwypp nph ghypmd fuGnph (wywqnyyG momdp sh
thnjuymud: /1 dhuynp /

» Qult) Q@6lv-h nplt htGpwyhG nomd /1 Shwynp /

> ljwqit) 9Olu-h tpywyh fubnhpp, pugunpl) bpjwih fuGnph Yunmg-
dwl JuGnGGbpp: /1 shwynp /

»  Puwgwnpty tpiwih fuGnph thohnfuwywGGhph, GuunwywshG $oGygh-
wjh L uwhdwGuhwymdiGtph mGnbiuughmwwb pdwuwnp: /2 Shunp /
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» oty bpywyh fulinhpp uhdwipu wignphpdh oglnipjwdp: /1 thwnp /

» Qwpyt) G0 mnhn fulnph GuuwwlwihG pmbGyghuyh wowlgjup puwn
bi-h i=1,2,...,m, npwntiy bi-G nmwpptpwyGtpmy pepjwo Q-Gu-h uwhdw-
GuthwlmdGhph hwdwijupgh wquum gnpowyhgGhipt 6G:/1 Shwynp/

» ybpniot] vnwgywd momdGhpp tpYywyhmpjwG 2-pn pboptdh oqlni-
pjudp’ nu wlnbtuwghnupuG dtYGwpwlmdnp: /1 dhwynp /

» qulb] fjuGnph wdpnnowpyuwyh pwiugniyl monwdp: /1 Shwynp /

Swpplpwy 13.

1. luGnhp: UM pGYbpmpymGp wpuwnpnid b Gpym wbuwlh wp-
wnwnpubp’ A L B: A L B mbuwyh dtY dhwdnph ywdwnphg pGYtpnipynGp
unwlmy t 4000 yni: A wmbuwyh d&Y dhuynph wpnwnpmipjwl hwdwp
wlbhpwdbtyn t 4 wyhmwunwdwd L 600 wyni hnuip, hulj B wmbuwyh dky
thwynph hwiwp 3 wylwwmwdwd b 700 yni: Canhwimp wtuwmwdwdh
pwlwlyp vwhiwGwihwy t° 3500, hul vk ywpwpyw hwiwp hndp qlbpm
dwhuup Gwhiwmbtuwd t ny wybih, pwl 800000 wnu:

hGsywhuph®G@ wtwp t (hGh paYEpmpywi wpmwnpuyw6 onwqhpp, np Gw
wpnwnpwiph yuwdwnphg wnwybjugnyyl Jwhnyyp unwiw:

2. Muwwwufuwbby &z Ywy /25 L hpdGwynpt) wywnwubuwGn: /28haynp/

Q-Glu-h pmyjjwnptijh htGpwyhG modwl npuijuG pwnwnphyGtiph pw-

Guyp Yuwpnn k (hGb).

w) m-hg 4o, p) m-pg ‘hnpp,q) m-hp hujwuwpnpnbny  m-p G0lu-h
uwhiwlwhwlmiGtph pwGwyE t: / 3 Shwynp /

3. 6pt {Y,y‘ }-n unynpwlwl wmbuph GOlu-h LwgpubGdh dmbGyghwyh pwd-

pwytinG t, wuw 62dwpphwn £ (YA -c,X) =(y,b— AX) =0: /3 shwynp /

4. Uywgmgty, tpt G0u-G mGh junwgnyyG jmomy, wyw niGh Gwb wyw-

qni)G htGpuyhG (niomu: / 2 Shwynp /

Swpptipuy 14.

1.luGnhp: dtnGupynipymbp pnnupymd t Gpynt wbuwy wpmwnpuip’ A L B:

A wpnuwnpwph hpuugiwl dwywp juqimd t B wpmwnpuGph ppugdwd

owyuwih 40%-hg ny wwlwu: Gpym wmbuwl wpnwnpulplbph pnnupydwd

hwiwp wwhwbeynn hnuiph kY opdw wwpwpp Yuqimd t 200 wnd: A

wpunwnpwbph hnuiph dwhiup Juqimd k5, huy B wpunwnpuGph hmdph

owfuup’ 8 wny vty Shwynph hwiwp: A L B wpinwnpulpGlph oGbpp hwdw-
wuwwnwupwlwpwp hwjwuwp GG 40 L 70 wnd-p: A L B wypwGpGtph pn-
nupliwb hwidwp npnptp hmdph (wywgniyG pwfumadp:

2. 8mjg wnuy ophGuyp Ypw, np Epwyh qniygh Gpym fubGnhpGhpG b Y-
pnn GG momd mGhGuwy:

8m g nwy ophGwyh Yypw, np tpYwlh gqnijqhg nplt dkyp Yupng b jpmomy
mGuGwi, hul dynwup (hat hwiwunng, wyuplp6 imomd ymGlGw):
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8mjg nwyi ophliwbh Yypw, np tpwyh qnygh tpym fuGnhpGhpl ty Yupnn
bl ymomud ymGhGwy: / 3 dhwynp /
3. Uywugmgt| G-0tv-h pjuhhmpjuG nbumpjw wnwhG ptinptdp:
/2 dhwynp/
4. Yhunwpylp qowyhG opugniwb tpym motih fuGnhplbp, npnGp
wnwppbpymd G0 dhw)G vwhdwGuthwynuiGhph yemnplGepny

[L(x) =(c,X) — max

Ax<b (a)
1 x20:
L(x) =(c,x) > max
Ax<b+Ab ®
x20:

Lwlwytbp (o) L (B) gowyhG wbuph wnwybjuqmyG wpdtpGtipp hwdw-
wunwufuwiwpwp Vol vetAvy:
Uujugmghty, np Avp < (Y,Ab), npintin ¥ -p' (o) -h kpljwyh uGnph monudG t:
/3 dhwynp /

Swpplpwy 15.
1. vlinhp: QtnGwpympyniGp pnnupymyd b bpyne mbuwl wpnwnpuip A L
B:A wpunwnpulph hpwgdwG Swyuwip Yuqinud £ ppwgdwl pGnhwGmp
owjuwih 40%-hg ng yWwlwu: Gpim nbuwl wpnunpuGpGiph paqnupydwb
hwiwp wwhwGoynn hmdph 46y opyw wwpwpp Jugqimd t 2000 wnpd: A
wpunwnpulph hnudph dwjuup juqinud t 50, huy B wpnwnpubph hndph
owhuup’ 80 wnd dhly dhwynph hwiwp: A L B wpunwnpuGpltph qGtipp
huwiwuwunwujuwwpwnp hwyjwuwp GG 400 L 700 wni-h:

A b B wpnunpupGtph pnpupldwé hwdwp npnpby hnodph puywgnyG
pwfumdp:
2. w) Lpwgmghy vwhiwfwihwynmd Gipdnobind’ yuptih £ poyduglty Gujw-
wwlwjhG pmbGYghwjh wpdbpp.
p) ¢ L b ybuyunpltpp phohnjuting jwyjwgnyG monuip Ywd sh thnfuyh,
Yud YrpunGw whpn jjunnphih:
q) LuyunnwlwjhG pmbGyghujh gnpdwyhgllph thnthnfumpymbp dhan wg-
nnud & gy fuGnph pwwqniG imodwG Ypw:/ 3 Shungnp /
3. %hgmp' X -p’ unynmulywG wbuph 46u-h momdG t, huy ¥ -p’ Gpu Lpljuw-

jh puGnph monuiG t: Uwwgmgly, np {Y, y }qqun unynpwjwl wnbuph
Q.61u-h LwlgpuGdh o Gyghwjh pwipwltnG t: /3 dhwnp /
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4. Uwwgmghk) 3-0lv-h ipfwlyhmpju@ mbunipyu tpypnpn pinptidh wlhp-
wdtiym wyupiwbp: / 2 Shwynp /

Swpplipwy 16.

I. oGnhp: Bpym wbuwly wpymGupbpulwl wpnwnpulphg jnuppupwG-
gmpp hwenppupwp Swipymd E bptp wmwppbp hwunnglGbpny: {wuwmnngltpp
Juwntith £ oginuignpdty opwjwG huiwwwinufuwGwpwnp 14, 22 L 16 dwd:

Upunuwgpwiph ywidwl dwiwbwyp
I pnwnpwip (dw) Cwhnyp
I hwuwmng | II hwuwng I hwuwnng
1 8 8 12 200 ynd.
2 10 16 8 300 wynu.

dtpp phpjwd wnnmuwymd GEpluywgywo GG jnipwpwliyymp mbuwyh

by wpnwnnubph Guljiwi dwiwtwyp b Jwdwnphg unwgywd pwhnypp:
Gutp jmpwpwlymp wbuwyph wpnwnpuiph poqupyiwbG wywgnyG
owyup: .
2. Munwuhuiwbty &z Ywy 725 b hpdGwdnpbp ywwnwubowéip: /3dhwynp/
Gpywyh jubnhpGtph qmygh hwdwp wpnyn®p 6hyw 66 htiwnbjw) wyaymaGLpp.

w) Gph fuGnhpGiphg dtyp (wwaqmyb pomyd ymGh, wyyw dymup GonejG-
whu (wywagm)G ppomy ymbh;

p) bBpb pniyjjuwnpbih momuiGlph pwqimpymGGhpp npuumwpy jhG, wupw
tpywy) flnhpGhpp mGhEG (wywgm G momauy;

q) Gpt huGnhpltiphg dbyp (wywgniyG momy ymGh, wuyw dymup Jupnn k
mbGw jwywgnijG momy:/ 3 shwynp/
3. Uwywgmgty, np’

n
L(x) = X ¢;x; — max
j=1

ia'ij Sbi, i=1,2,...,m
j=1
x;20, j=12,...,n:

qowhG opwqpiwd fuGnhpp motyh L ,tpb pngnp b; 20 (i=1,2,...,m) L npwlg

tpyuyh tuGnph vwhdwuwhwynuiGeph hwdwlupgp hwdwwbnbh t: /3

vhwynp/

4. Uwwgmgl) G-0lu-h bpjulyhmpjub mbumpjwb (bl 3-p: /2 Shwynp/
Swpptpwy 17.

1. huGnhp. EiyupnGuyhG wpnymGuptpmpyw6 thnpp dtnlGwpympnitp pn-

nupymy £ Gpym wbuwyh runhnpGnmGhy, nGy npmd, jmpwpwsymp  nb-

uwljh hwdwp wwhwoynmd b wnwGdhi wpnwnpuywbi ghdo: Unwohl go)h

wpunwnppjwl opwjwl wnwybiwgmyl dwywip Jugdind L 60 dhwynp,
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tnypnpr goh opwlwG GJuqugnyG dwywip’ 80 thuninp: UnwehG wntuwlh
nwnhnpnmGhsh pnnupyiwl hwdwp wGhpudtn b 10, hul bpypnpy” 8 dh-
widwl dwipwdiwu: Oqunugnpiinn dwlpwiwubph opwlwl wnwybtju-
gni)G wwwpp hwywuwp t 800 Shwynph: UnwehG L tpypnpn wbuwyGhph
kY nwnhnpGnmGhsh hpwgdwb whnypp hwdwywnwulswwpwp hwyw-
uwp t 300 L 200 wnd-h:
MtwnhnpGnmGhyGiph GyuqugnyG wwhwGowpyp znmywymd 40 dhwynp
o Opnpt) jmpupwlymp wnbuvwlh nwnhnpngmGhyGph wpowngpmp)wG
opwlwl wpymGwytn dwywyp:
2. MwuwupuwGly Uz juwd 25 L hhdGwynpl] wwwnwuhowGp.: /3dhwynp/
Gpt ipjuyh fuGnhpGhphg vtlp mGh pojjuwmpbh pneomd, wuyw

w) djniup GnylGuytu niGh poijjwinpbh momad,

p) upmup smGh pnyjunpbh momad,

q) Uynuh Gywwnwyw)jhG pniGyghwl whuvwhiwlwquwy t:/3 Shudnp /
3.Uywgmgty, np tpl unynpujub wtuph 4-6hu-h uwhdwGuwhwymiGhpp
hwdwlwpgh A = {a;} dwwnphgh wwppbpp’ a; 20 L b; 20, i=1,...,m, wujw
tpywyh fuGnhpGtph qniygp mGh ymomad: /3 shwynp/

4. QLGpwjhG jmond. wuywgmgtiy hiGpwhl nddwl owywnhiwimpjwb
hwjwnwGhpp: /2 Shwynp/

Swpptpwl 18.
1. IuGnphp: CGYtpmpymGp wpnwgpmd b X L Y mbuwyh wpnwnpulp’
oquuugnpdtiny A,B L C mbuwyh hmdp: Fpwlg wwpwpp b iy dhwynp wp-
wnw npulph hwiwp oquuwugnpdynn hmdph (Yg.) pwlGuyp, Jwswnph qltpp
L thnhnfunmiG dwluutipp pipdwo kG unnpl:

Upwnwgpulp A B C
X 8 10 15
Y 10 6.5 6
Muw)wp 800 650 900
Upmwnpuwip Jwdwnph ghG ®dninfunil Swhuubp
/wdn 1 Shwynph/ /wdn 1 Shwynpp/
X 400 250
Y 500 300

Qun(h) X L Y wbuwyh wpnwnpubph pnnuipydwG wyG owyun, npp
dwpupiwgimy £ paytpmpjwl zuhm)pp:
2. Munwufuwlby U7z yud /25 L hpdGuynpb; wwnwuhewGp: /3dhwynp/
Q.0wyhG dpugniwd fulnph hwdwp’
w) LwwwnwlyuyhG $mGyghuwyh gnpdwyhgGph hnhnjumpymbp hzn
wqnmd t juGnph jwgugmjG modwG Ypuw:
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p) lunhn fuGnph GyuwwwlywihG mGyghwjh qnpdwyhgGtpp sk wannud
tpyuyh fulGnph jwywgnyG ipeodwb gpuw:

q) bGpt nunhn fuGnpp j-p thnthnfuwlwGh gnpowlhgp thnpp  t qpnjhg,
wyw tpyuyh fubGgpppp j-pn vwhdwGuwhwynidp jwpnn tohGep wGhw-
dunntnbiph t: /3 dhwynp /

3. Uwwgmgby, np tipt qdwyhl dpwaqpiwl fulGnhpp ymobh b, wwyw uwh-
dwliwhwlmdidbph b JtYwmnph thmhnfumpymbp momdbtph pwqinipjwl
ypw sh Ywpon hwbqliglit; qowphG opwqpiwl GuuwmwlwihG $niGyghwih
wluwhiwGwhwlympjwb: /3 dhwynp /

4., Uwwgmgty hiGpwjhl modw ypuptipyuy (5d 3: /3 dhwdnp/

Swppbipwy 19.

1. huGnhp: énpp dhnGupympymGp poqupynd b uwhiwGuthwl pwGw-
Ympjunip ipym wmbuwlh Jugph hipmy X L Y punjugud bptip pwnwnph;-
Giphg’ A, B L C: X L Y wmbuwlh dkYy thnp (qugph htinnly wpmwnpbint hw-
dwp oquuugnpdybhp A, B L C nbuwlh pwnunphyGbph wpupwpp L a6y jhnp
wnpnwnmulph hwiwp oquwagnpoytihp pwiwlyp ppdwo GG unnpl:

X Y Muwywpp
A 40 50 200
B 50 40 200
C 1485 65 520
11-g uinwgynn
2whnypn /yny / 500 400

MuwhwGoymu t qubbi, pb X L Y mbuwlh nppwb htnniYy wybwp b wpnw-
nnhy, npytiugh pGYtipnipyuwG pwhmjpp 1hGh wnwdbjpuagni)Gn:
2. MuunwuhiwGb 4yn Ywd /25 L hhdGuynpb] wyunnwuuwGn: /3dhwynp/
w) Gpt tpymt baGpwyhG momiGtphG hwdwwwwmwufuwlnn htGpkpp wwp-
pipymud 66 gnGh dkY Yyelwmnpny, wuwyw npulp hwplwG hbGpbp GG:
p) @0l-G Ywpnn t mGhaGw) pnypuwmptth htlp, pw)g smGhGw] (wywagnyl
[nonuy:
q) @0lu-h pnyuwnptih htGpwyhG madwl npuywl pwnwunphyGbiph pwlw-
Yn dGd Juwd huwjwuwp b m-h, npmtn m-p G0lu-h vwhdwlGuhwlymdlbp)
pwlwyG t: /3 dhwynp /
3. Uywgmgti, np unynpuljwG mbuph qdwjhG dpwgpiwl dwpuhiwgdwi
funhpp matht,tpl b; 2 0 L a; >0,(i=12,.,m,j=12,.n): /3 dhwynp/

4.Uwwgmgl) 4-0lu-h Gpyuwlhnipjwl wnbunipjwl Gpypnpy pinptidh pwyw-
pwp wwjdwGp : /2 Shwynp /
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12. MuumwupwGl 47z jwd 12
Uwnpl, bpt wyp pwG yh G2qwo, nhnwplyymd t unynpuyw wntuph
qQdw)hG dpwgpiwG ubnhpp (AThu-p)
z= zn:cjxj - max
j=t
Ax<b,x20,
npunbin A= "aij" 1=1,...,m j=1,...,n, mxn ywhwGh Swwphg t,

b =(bi,bs,...,bn) € R™, x = (X,X2,...,X,) € R"

1. QOls-h mnhn fjuGnhpp wpyn®p dhyn dwpuhdwgiwG fuGnhp t:

2. Q0l-h GyuwunuwluihG bmbyghwG Yuwpnn b wpdtp plinmGl) dhLbngl
poyjjunpbih ;monudiGtiph pwqimpjw mwpptp Yhnbpmyd:

3. bpbt ninhn fulnhpp ujwgnuyG montd ymGh , wuyw tplwyh uGnhpp wGhw-
dunntintijh t:

4, Gpywyh huGnhpltphg dtyh pwjugnyl mdmy mekGwim nhwpnid, dymup
Gm jGubiu mGh ywjwgnyG mom:

5. bph bpywyh fuGnhplbphg dtyp mGh pnypunnpbph momd, www dynup’

w) GmjGutu mGh pnypuwnpbih momd,
P) Jupnn t smGEGw) pnyjwwmpbh imonud:

6. bph tipuwyh fuGnhpGtphg delp nGh (wywqny6 pomd, www dynup’

w) niGh pnijjuwmpbih pneomid,
p) Ywpnn t ymGhGw) pnywwnptiph neoma:

7.  GpYwyh luGnpplph qnygh hwdwp wpyn’p Shywn &G hnlyw) wGnmuGlpp
w) Gpb julnhplGtphg ublp jwywqgnyG jpuomd ymbh, wujw dynup GoyG-
whu (wujwqm i ymonud ymGh;

p) 6pt pnyuwwnptih mOMUIGERh pwqimpymbGtpp nuwnwpy GG, www
tpywyh fuGnhpGtpp mGhG jwdwaqnijG momiyg;

q) Gpt tpywyh gnyq hubnhpGhpp (wjwgnyl Momy ymGLG, www np-
pwGg pnyuwnptih monuiGhph pwqimpymbGbpp nunwny Ga:

8. Q0-h jwywgnyG momip wpuynp Yhnfugh®, tpt uwhiwGwhwynud-
Giph hwiwlwpghg wpnwpuytG wyl vwhdwluwhwynuiGhpp, npnlp
ujwpni Guymy 56 fuhun wihwwuwpnd:

9. Q.0 dwpuhdiwgiwdi hulGnpmd [pugmghy vwhiwiwhwymd GEpdmotiny
dpyw Yupbh t’

w) Whowglt) GuuwumuywihG $niGyghwjh jwyugm)G wpdbpp,
p) thnppwgGby GyunnwyuyhG pmbGyghw)h jwywqoyG wpdtpp:

10. Q6 dpGhdwgiwG luGnpmd pugnighy uwhiwGuhwymd Gipdmotiny
dhywn upth t°
w) thowgGt) Guumnwyw)hG dnmbyghwih pujugnyyG wpdtpp,
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p) thnppuwglty Guunnwluyhl pmGyghwyh puwgnyl wpdbpp:

Q-Glu-h jujuqnyl puonuip dhpwn qquymb b Guyumwlyuyhl doGlghuh
qnpowyhgGliph thmhnfumpymhg:

Q-0lu-h tpywyh fulGnph pujugeny@ monuip jwhwd st mnhn huGnph
GuunnwlwhG pniGyghwh gnpdwlhgltiphg:

Q-Olu-h pYwyh fulnph juwygwgnyG menaip uwindwd y6 mnhn fuGnpp
vwhiwluhwinudGhph A dwwnphgh qnpowlhgltiphg:

Gpt O-Olu-h jwjugnyG puddwb j-py pwnunphp’ X*> 0-hg, www
tpyuwyh ulnph j-pn vwhdwGuthwymip

w) ukd k qpnshg,

P) Ywpnn t hujwuwnp thGb quogh,

q) hwjwuwnp t qnnjh,

1) twnpp t qpnjhg:

Q.0lu-h pnypuinptih htGpwjhG modwl npuywl pwnwunppyitph pw-
Guyp Ywpnn b 1hGy.

w) m-hg 8o,

Pp) m-hg thnpp,

q) m-h hwjwuwp, npntn m-p wyn fulnphh vwhiwGuithwymdGeph
pwluwyG t:

Q-Olu-h htlipwjhl (nuomiGhph pwGuyp’

w) wivwhiwGuhwy t,

p) uwhdwGuwhwy t:

Q.Olu-p pnypuwnptijh (momiGkph pwGuyp’

w) wluvwhdwGuhwy t,

P) uwhiwlGwihwy t:

Q-0lu-G Jupnn £ mGG0w) pmypuwmpbih puomd, puyg smGbGug

w) htGpwhG nomy,

P) twdwagnijG jmonud:

Gpt Q0 dwpuhiwgiwl fuGnph hGlGpwjhG mddwl hwdwp ponp A
qiwhwunwywbitpp 460 juy hwywuwp GG qpnyh, www Gwwwmwlywjh6
dmlyghwyh wpdtpp Ywpnn b hGby

w) wlivwhdwGwihwy,

p) uwhdwGwihwly:

<ninphh hwwmypGtpp GnwlGwyp Yhpwrdw( pGpugpnid wihpwdt)-
nmpjnil sfw oguwgnpdtipm Guijunpy puypd uenigwd hwanmjpp:
<ninphh hunnnyypGtph bquGuyh Shengny hGupwynp £ wpnwpuby’

w) wipnnewphy pnypuwwphith puomdn,

p) wipnnewphy pnyjwwnpbyh moniG, tpt w6 wywgnybn t,:

Q.Glu-h pnyjjunntith imonuiGbph pwGwyp Yupon b hGly.

w) nuunwply,
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p) uwhdwGuwthwly,

q) wGuwhdwGwihwly:

Q-6lu-h htlGpwyhG momuiGkph pwGwyp Ywpnn b 1hGt).

w) nuwnwpl,

p) uwhdw Gwihwly,

q) wlivwhdiwlwihwl:

Q0u-h (wjugm G nomuGph pwGwyp Yunnn t 1hGb).

p) uwhdwGunhwy,

q) whuwhdiwGuithwl:

Gpt JdhGhiwgdwl GOlu-h hwdiwp uvhiypbpu whynuuwlymd  j-pn
untGywlh pnnp pwnunphyGbipp dko Ywd hwjwuwp &6 qpnjh, www
GuyuunwyujihG PmGYghws whuwhiwGuihwy t:

Gpt G0hu-G mGh pnyyjwwnpbih htGpwjhG (nuontd, wwyw mGh Gul uyjw-
qnG htGpwhl |nomu:

Gymnbph L qGwhwnwlwGitph tnuGwyh Yhpwniwl hwdiwp Guuw-
nwluyhG pouGlyghwyh qnpowlhgGpp whnp t hat6 wipnnewphy:
Q-Olu-md hwplwG htGptpp mwpptpgmd 66 ShwjG dkY JEYjunnpny:
<ndnpph hwwnnigpp jurmgbihu wihpuwdtymmpymb 3w jpuwgnighy thn-
thnfuwlwGh Yypw naknm wipnnewphy thGhn wwydwbn:

Gpt Q0lu-G mGh (wywqnyl momd, www nbGh Gwl wywqgniyG htilipw-
JhG ymomu:

Uhdiytipu tinuGuyh hpwwlwgdwl ppugpmi hpwp hwenpnnn hkG-
pbpp Yupnn GG wwpptpyt) dtYhg wytih YelijunnpGpny:

UQ-0lu-h wipnnowphy jwyjwqgntjG nudmdp Yupbjh £ unwGw) winbub-
1ny Q@Olv-h IndnidwG YnnnpuuwhlG dwup:

UGOu-h Gyuunwlwihb $niGyghwjh wywqni)G wpdbpp Yupnn t hah
hwiwwwwnwufuwl dwpuhdwgdw@ (WhGhdwgdwl) FOl-h Guwunu-
YuwjhG pniGyghw)h jwywgnyG wpdtphg d6d (tnpp):

7/
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1. Lmoty htwlywy juGnhpGtpp

luGnhp 1: «Cnpwb» pGYtpnpywG ymYywjh hinmwgnndwl pwdhGp wp-
dwlwgqntky t, np tpk dinGupympymbp Gnp pnnuplyny wpnwnpuipp Jw-
Gwnh ¥ty dhwynpp 20000 wynd-ny, wuyw d6Y wivwjw pGpwgpmi Yywdwnyh
200 dhuynp wpunwnpu@p, huy bpt ywdwneh 10000 wni-ny, wuyu GnyyG
dwiytimnid jywdwneh 600 dhwynp: Gqtuwynp hwywuwwhh dwnwnipymGp
hwyqwnlt) b dkYy dhwynp wpnwnpulph himhnfumb gwhautpp’ 3500 wnd L
kY wiujw hwunmwunmG dSwpuubpp 5000 wnd:

Muwhwboymu k.

w) “Fmpu plphk] hwiwwywwmwufuwl pwlwdlbpG pGnhwimp dwjuubiph,
hwunyph b pwhnyph hwdwp,pt wpnwnpuiph wwhwGowplyh $mbyghwb
qOwyha t,

p) Qi) pk hGswhuph®G whwh (hGEG Juiwnph pwlwlyp L ghGp, npubu-
gh pGytpmpjw G wiuwlwb pwhm)jpn (hGh wnwybjuagnyyGp:

RhuGnhp 2: QtnGwplynipjwl 1000 shwynp wpnwnpwlph fudpwpwGulyp
wpdt p wnd: Snljwl wivwfwl vywnmd b q pwlwlnpjudp fuipwpwlu-
4: LwywnGh k p-h L q-h dhol bnwd ImGYhnGw) uwp'

p = 6000 + 54000/q°:

JtnGupympywl ppGwGuuwlwl YwnwywphshlG wihpuwdbn b hdwGu,
pt wpunwnpwGph p*Gy pwlwlnipjwG nhwpmd dinGupympymGp YmGkGw
(Jwquqgny)G wduwul hwunyp:

luGnhp 3: bGy-np wypwlph wpnwnpmpjwl hwdwp yunmwpjwd pl-
hwlnp owhup L wnwgywd hwunypp hwiwwwwwuppwlwpwp GYw-
pwgpynud GG htwnlyw) pwGuwdlbpny

TC = 150g+10000 wnu,

TR = 550q — 4q” wny,
npwbtn TC-G pGnhwGmp dwhuG t, TR-p° hwunypp, q-G° pnnupyud L Ju-
6unjwd wwnpwlph pwlwyp: Mwhwleymd bt qulbkp g-p wyl wpdtpp, nph
niypnd unwgymd t wnwybpugm )G ywhniypp:

RoGnhp 4: Mwunuunuyh ywhwipwnpyh pmbGyghwa t” p = (300 - x) wny,
nunbn p-G Wk wwnwwnwyh qhGG E, huy x-p Jwlwnywd puwluyp:
bGspw”G L h°G; qlny wbhuwp t Juwwnb] yuwnwwnwlyp, npuybugh hwungpp
1hGh wnwybjwgnyyGp:
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luGinhp 5: hGy-np wynwph wwhwGowpyh mbyghwb npygmd t
p=(x"-24x+ 117) yna

PmGlyghwh wnbupny, nunkn p-G wpnwnpuiph pwiwyG t, pul x-p° Shwynp
wpnwnpwiph ghlGp:

bGypw’G wpwmwnpuip wbtwp t pnnupylp L p°G; qGn Ywwnby,
npybugh hwunypp thGh wnwybtijugnyGp:

ulinhp 6: tnGwpympyul wiuwlwb hwuwnwnnG dwiupp 720000 wyd
t, huy thnhnfumG dwiuup' (20000x + x?) wnd, npnbn X-p paqupiwd L
hpwgywd wpununpulph dwyw)G t: tnGwpympjwl wivwlywé hwunyph
ImGyghwb’ Yhdwjuwgpuul wuwiibph hwiwdw)i Gywpugpmd t
(120000x — x?) wnd pwGwdlny: tnGwpympjui wpnwypuywl Juwpnnm-
pnGGbpp hGwpwynpmipymG GG nwhu wiswwl pnupyb] ny wybih pwG
1000 dhwynp wpnwnpwip:

JtnGupympjmGbé hGypw°G wpnwnpubp wbwp t ponupyh, npytugh
uwwuybithp zwhniypp 1hGh wnwybjwgmGp:

luGnhp 7: Lwunuph owjpuwiwumd gwGynn thnpphy thnmd jwywh hwap
50 npwd t. opwiwlG wwhwGowpyp 1000 jwyw): Gpt (wywph ghGp
pwpdpwGw 60 gpudh, wuyw Wwhwbowpyp Yaguagh b jpwniw opwljwa 800
(ujw: Gnwl hwuwnwmnmb dSwjupp 2500 gpwd t, hul dby jwywyh pludwG
thnthnfumG dwhiup 20 gpuwd E: wjpnGh t, np (wywh vyuedwG $nGlyghwb
goughl t L Ghiplujwglmd t pwdwh gGh m pjujwd pwlGwyh Shol tinud
Yuyyp:

hGypw®G U h°Gy qGny whwp t plubiy jujwyp, npytiugh thrwb 2whnypp
thGh wnwybtjwqnyGp:

hoinpp 8: CGYtpmpjwb qnpdwnhp wnGoptGh wuwwnwljwqih nkjuyu-
np hwdiwpnud t, np wpuwwmwhgGtph pyh b wpuwnwGpujhG opdw plpwg-
pnul GpwGg wquwn dwiwpwGwyh /yupwwnipgh/ dhol gnympjniG niGh npn-
2wih Juuyy' t = 3/2(g-4) +24q, npuntin -6 wtuwnmwyhgGtph phya k:

bpb wyluwwnwwqih nhjwyiwpp hpwdwgh t, www nppw® wbwp t hGh
wzfuwnwhgGph pp, nputugh G thnfuh hp Yupdhpp:
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2. Lmoly qowwwwnytiph thongny

L (x;=9)2 +(x, —3)2 >ext 2. 2x;+x, — ext
X]+X2$5 4X1+3XZS6
X]"‘SXQSIO 4X%— X2$2
XIZOaXZZ(): X1 ZO,XZ 20

3. x?+x,—ext 4. x? +x% —ext
xt+x2=9 X =D2+(x;-D2<9
X, +%x,22: X +Xx £2:

5. «x—6)2—(x, —1)2 —ext 6.  2x,+x, — ext
5X1+2XZ >20 8X| '—8)(2 <-1

—2X|+X2=5 X12+3X2S 3
x20,%x, 20: x;20,x,20

T x2+x, > ext 8. x?+x} —>ext
x$+x3=9 x? +x%<9
X, +x3<1 X| +x3 <4
X, +x, <1: Xp+Xx, £1

9. x,+2x, > ext 10 x;+ 2x, — ext
3x, +x,<1 3x1+ 4x, <1
8x, - 8x, <1 X1+ X356

-X + 4)(% <2

o (x,=2)2 +(x, —6)2 — ext 12, (xy=2)2+(x, -8)2 —ext
2%, +5x, 220 X +2x, <4
X|—2X2 =5 9X|+ X2 <9
X, 20x,20: X, 20,x,20:

3. x2+x, —ext 14. xf + x2 — ext
xi +x% <25 X+ x,<5
2%, —x, =15 3x, +2x, <7

15 24x2 ext 16. x|2+x%2—)cxt
X2 +%,° <16 Xi +X3 =9
X|+X;, <4: X) +X3 <2:
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17.

19.

20.

21.

22,

23.

24,

25.

26.

II. NQ 45U3hL HrUALPULL MLARCLER

(x; —4)2 +(x; —6)2 —>ext 18.  x,+2x, >ext
2x, +5x, <20 x? +x3 <4
X\ ~2%; < 3 X) + X3 21

1+ X2
X'ZO’XZZ(): X]_>_O,X2 20:

X +2x,X; + X% +2x; +4x, — ext
2x; +3x, <8

4%, + x5 <10

X;20x, 20:

—-2x? +x2 +6x, +4x, —2X X, > ext
x, +3x, <9

3x,+x,<9

x, 20x, 20:

2x% - 2x; +x2 +10x, — ext
4x, +3x, <24
X1 +3X2 <15
X120x,20:

—-x? —x3 +8x, —6x; +10 > ext
3x; +2x, <6

X;— X, 52

X;20,x, 20:

x? +x3 —8x; —4x, +24 —ext
4X| + X, <12

X — X2 <2

X1 20, X2 20:

X, —2x? +2x3 +4x, —ext
Xy +SXZ <9
X;20,x, 20:

—2x7 = 2x,x, —2x2 +4x, +6x, > ext
3x,+ x, <9
-4x,+7x, <4, x,20x,20



2. Lmdb) qdwujunltph dhongny 67

27.

28.

29.

30.

31.

32.

33.

x? +3x,X, +x3 —4x, +2x, —>ext
3% +2x, < 8

X +4X2 <10

X1 20,7(2 >0:

x? +4x;X, +2x3 +10x, —=2x, —ext
3)(1 +4X2 <24

3x| +X, <15

X1 20,)(2 20:

—0.5x? — 0.5x3 +6x, +8x, —ext

2X] +3X2 <9
X1 —7)(2 <2
x;20,x, 20:

X|2 +x% —8X| _8X2 +32 —>ext
Xy +4x, <6

X4 —2x22$2

X;20,x,20:

x? +3x3 +x;x, —-8x; > ext
X; +2x, <4

X+ X, <2

X; 20, x5 20:

0.5x% +0.5x2 — x| —2x, > ext

X1 +2X2 <4
X+ x,21
X120,X2 >0:

(x)—4)2 +(x, —8)2 — ext
2X| +X2 <4

Xy —X» 22

X .>_0,X2 >0
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3. Lot dwptdwwmhlhuwljw G dSpuwqpiwb nuuwljwub juGnhpp

1.

w

W

11.

15.

19.

21.

x? +2x3 +3x)x; —ext
X| +2X, +x3 =5
4X|+ X2 =8

3x, +2x, — ext,

X, —x}+2x, =12

x2 +2x2 —8x,x, +4x, —ext
X, +x2 +4x, =10

2Ax, —2)* +(x, —4) +x, —>ma>
X, +X%,+%, =12

X%, =&

x? +x3 +x3 — max

X +X2 +2X3 =12

Xlz —-X, +X3 =10:

2x} —x3 +8xx, + 8x; —ext
3X|+x%—4)(2=10:

xf —X3 +2xX; + X3 — max
X|+2x3-x3 =4
2% — Xp+X3 =2

(x; —4)2 + 2(x, —2)2 +x3 —ext
X+ X+ x3=10
X) +2XZ +3X3 =14:

2x} —x3 —5x;x, —4x; —ext
X, +3x3 —4xx; =8:

X2 —3x2 —6x,X, +2X, —ext
X, —4x, +3x, =8

X, +3x, = 2%, =7:

2. 2x? +x3 +2x? —ext
2X] + X, +2X3 =12
X| +2x,+ x3=10:
4. 2x) +x7 +3x,x, > ext,
2X| +X, +X;3 =5
X, +4x, =9:
6. x24+x2-2x;x, —2x; Dext
X +3x, +3x3 =1
X; —Xp+2x3 =5:
8. Ax, =1 +Xx, ~3)* +x, —ext
X, +X, + x,2=12
2, +4x, = 3:
10. 2x, +3x, —ext
X} —xp+2x, =12
X;20,x, 20:

12. 2(x) = 1)2 +3(x, —3)2 + X3 —>ext
x,+x2+x32 =12:

14 x2 +x3 +4x)x, — 2%, —>ext
3X1 +XZ+3X3 =13
X;—X;+2X3=6:

16. xlz —ZX% +6X|X2 +6X2 —ext
x{ +4%, —3x, =8
x? +2x, —3x; =6:
X} +x3 +6x;x, +8%; —>ext
3X|2+X2 -5x; =12

- 2x, =3x, — ext
x2+x1+2x,=8
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23.

25.

27

29.

31.

33*

35*

37*

39*

41

(%, +3)* +2(x, —3)* +x, —ext
X, +2x, +2x, =10
X, —2X, =6
X, +2x, +x,X, +X; —>ext
X, +2x, +x; =5

ax, + x, =7:

(%, — 1) Hx, —3)* —ext
x,+x, =10

%, -3x, =8

X} +2x% —2x,x, = 2%, —ext

X, +3x,=2

X, =X, +2x, =8:

x2 +2x2 +x2 —ext
X +2X,+X,=5
4%, + X, =7:

3x, +4x, +x > ext
x? +2x,x, =2

6x, +4x, +1 > ext
2)(]2 +2XIXZ _le =1

6x, +4x, +8 —ext
4X|2 +4X|XZ +4x| +2X2 =l

XX,X3 = ext
x? +x3 +xi=
X +x2 +X3 =0
XXXy —>ext

X, +X, +%X5,=0
XX, X X3 +X,X5 =12

69

x, +1)? +3(x, +1)? +x, —ext
1 2 3

4 2%, +2x, +%,=10

26.

28.

30.

34*

36*

38*

40*

42

4x, +2x,=5:

x? +2x3 +x3 —>ext
X +2x,+ x3=8
2x; + X2+ 3x3=10:

3(x, +1)* +2(x, +3)* +x, —ext
X, =X, +X; =12
X, +x, +x, =10:

x? ~2x X5 —2X, —ext
X|+3X2 +3X3 =10
2X; —2x,+2x3 = 3:

X2+ X2 +xI +2x, +4x, —ext
X, +3x, —5%x; = 8
X, + X, =10:

3x, - 4x, +8—ext
Xlz —2X,X2 +2X| ‘2X2 :2

9%, +4x, +9 > ext
9x? +6X,X, +6x, =2

3x2 +2x2-3x,+1—>ext
x2+xI=4

X, +X, +X; —>ext
1 1 1
—+—+—=1
X Xy X3

1 1
— +——ext
X; X
LS U

x? X3
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4. UmG-Puybph yuwjiwiGtpp
Uwnnigl) UmG-Gwlbtph wihpudbyn wpuydwlGbpp npduo Z Yhnh hwdwp

—-x2 +%x; =3x2 +7x3 »max 2 =3x}+x;-x3+7x; Smax

X +4X2 —2X3 <5 4X| +X2—2X3 <5
2x, +x3<4 2, +x3 <4

X 20,x, 20,x3 20 X 20, X, 20, X320

Z=(1,0,0,2,0): 2=(0,1,0,2,0):
=3x? —2x2 +3x, +6x, —4x,X, —> max

xI+x3<4

2x,+x3 <3

Ik, +x,<6

x,20,x,>0, Z=(0,2,1,0,0):

—-x? —x3 —4x, - 6x, +32 > min
xf - x;-x3<4

X;—4x; +x3 <6

X1 ZO,Xz ZO, X3 20
Z=(2.12,0)

lOXl2 +8X% —80)(| -507(2 +10X|X2 —>min
x}+ X, <3

X 1+ X352

X; +4x, <0

X1 ZO,Xz >0

Z=(1,0,4,0,0):

x? —x3 +4x3 —2x;x; +4 — max
2x| +X3 <5

X1 20,)(2 20,)(3 20

Z=(122,)):

-x?-2x3-2x2 +x;x; +6 — max
X|— X, +2x3 <1

x|+2x2 <10

X1 ZO,XZ ZO,X:; 20
Z=(,1,1,0,0):



4. YmG-Pwybph yuwydwGGhpp 71

10.

11.

12.

13.

14,

-x? =x3 —4x, —6x, +32 > mm

X} -x;-x3<4
X;—4x, +x3 <6
X120,x,20,x320
Z=(2,1,2)0)

10x? — 80x; +8x3 + 50x, +10x;x, — min
X1 + X5 <2

X; +4x, <0

Xy ZO,X2 20

Z=(1,0,400):

x? —=7x;+7x, —6x3+5 — min
5x1=7x,4+10x5 <9

2x1+ x, - 3x3<0
X]ZO,Xzzo,X:;ZO
Z'=(0.3,1,0,2):

—-x} = 2x2 4+ x,X; —2X3 + 6 — max
X — X, +2X3 <1

X|+2X2 <10

x;20,x, 20,x5 20
Z=(1,1,1,0,0):

x? -7x,—-6Xx3+7x, +5— min
5x,—=7x, +10x3 <9

2x,+ x5 — 3x3<0
x120,x,20,x320
Z=(0,3,1,0,2):

6x; +3x; —4XX, — 2x? —3x3 — max
x? + x3<4

2x; +3x, 56

Xy 20,){2 20

Z=(2,0,1,0):

-3x2 -x3 + X, +7x3 = max
4%, +%x, ~2x3 L5

27{2 + X3 <4
X ZO,Xz 20,)(3 20
Z'=(0,1,0.2,0)
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5. Pwipwytn'”
5.1 Uwnnigb mpjwo Z Ytinh pwipwytinn hGhjp
L —4x,-2x2-2x, +3x, +8 = max

-3x, +8x,+3x,< 40
X, —2X,- Xx;<-3

X;2 0
Z,=(4,0,2,6,1):
2. —-4x; - 2x3 - 2x, +3x3 + 8 > max

-3x; +8x, +3x3 <40
X1 —2X2 - X3 <-3

X1 ZO,Xz >0

Zo = (6,030]):

3. x? +5x3 - x;x; > min
xlz + x%—4x|+2x2 <4
X1 —2x, —-x3 < -3
x;20,x,20
Zy,=1(1,0,4)

4. x?-2x2%+x1x, > max
X%—4X1—7X2 <12
5)(1—2)(2 <20
X 20,){2 20
Z=(2.1,0)

3. 3x? + x% + x(x; = min
x} -x3+x;-%x,<5
x; 20,x, 20
ZO = (3’1’5)

6. 4X|+2X1+4X2—BX3+8—)min
—3x|+8x2+3x3 <40
M —X;+2Xx,+ x3=5 3
X ZO,XZ 20,)(320
Zo =(4,0.7,0,]):

) 5.2 - 5.4 juGnhplbpG wowewnlby t nngGun 0. Wwnpujwip:



5.Oufpultin

|

9. -2x? - 3x2

10.

11.

12.

13.
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Ix} +3x3 4 3%, +x3 — min

—TX + X, +3x3 <7

X1 20,%; 20,x3 20
ZO :(0,1,2,3,0):
x.2 +5x§ ~4%,X3 +14 - min
X +2x2+2X;—4X2S1
120,x
0:( )
2 +6X1 +3x3 - 4x1x; — max
8x1 —3x, +3x3 <40

- 2x)+x3-x3 =-3
Zo=1(0,4,2,6,-1)

- 2xF - 4x3 - 2%, 4 3%, o max

8x1 -3x, +3x3 <10

- 2x;+ X3 - x3< 3
ZO = (0)6,3’0’1)

- 5x} - x3 +4x,x; - max
XP+2x3+ 2%, - 4x, <4
X]ZO’XZEO
Zy=1(0,1,-4,)

- 2x{ - 4x; - 2x; + 3x3 + 8 » max
8x|_3x2+3)(3$40

-2X;1- X3+ x3< 3
X|20ax220’x320
ZO=(O,176’0’1)

~8x7 ~4x3 +6x,x; ~20x, +30x; — max

8x{+x3<2

X1 20, X2 20
Zy =(0,1,1,0)
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5.2 Oqunybtiny pwipwybtiinh vwhdwGmihg gnyg wwy, np GYwod
tpynt rmhnjfuwlwGh pnuilghw b pwdpwlytin yniGh:
1. F(x,y)= -x+tyx’, bpx2>0, y>0
2. F(x,y)= 4x%y - 4xy - 2x + y* +1, tpk x 21/2,y 20
3. F(x,y)= x’y+2xy-x+y—1, tipax>-1,y >-1
4. F(x,y)= x’y-x2+x, tpx<0,y2>1
5. F(x,y)= -yx2+2xy+x2-x—y, tpix<1l,y<1l:
5.3 Gty Gqwo pniGlyghwh pwipwljtnp’
6. F(x,y)= x+y(x>-1), ipix<1
7. F(x,y)= -8x’y-y-1, tpiy=0
8. F(x,y)=16x’-8x’y-y+1, ipix<1/2,y>1
9. F(x,y)=-yx"/8+3x*/8-y+2, tpx <2,y 2 2:
5.4 Qwpyty maxminF(x,y) L minmaxF(x,y)

X y X y

10. F(x,y)=(x-y), tph 0<x<1, 0<y<1

11. F(x,y)= 0.5x*-2xy + y*+10,bpt -1<x<1, -0.5<y<0.5
12. F(x,y)=-[x-y(1-y)), tpb -1 €x<1, -1<y<1

13. F(x,y)= 3x+2y’x -4y*-10,tipt 0<x <2, 1<y<3:

6. Lmot qpunhbtlmh inuGuiyny
(Ltnglhy xo = (1,1), €=0,01)

1. -2x} —x} +8x, +6x, —25—> max

2. 3x2 +x2+11x, +3x,+ — min

3. -3x? —2x2 +x, +6x, ~ 15— max

4. 2x? +2x2 +4x, +6x, —2x,x, - min
5. 3x? +x2 +11x, + 3x,+ — min

6. -3x? —2x3 +x, +6x, =15 — max

7. x? +x} + 4x, +6x, — 2X,X, = min

8. 4x, +6x, —2x} —2xJ —2x,X, — max
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9. -4x? —x2 -6x, +2x, = max
10. -6x, +4x% +x2 +2x,x, - min
11 —-x, —6X, +2x,X, + X3 — min
12. —2x, —5x, +4x,X, + X} — min
13. -3x; +6x? +x2 +3x,x, = min
14.

2 .
x2+X, +2x,Xx,+X, — min

£3. —2x2+X,” —3X,X, +X, — min

16. 4x, +6x, —2x} —2x% - 2x,x, — max
17. —4x? —x2 -6x, +2x, = max

18. -6x, +4x2 +x2 +2x,Xx, > max

19. —2x} —x} +8x, +6x, —25— max

20. - X} —6%, +2%;X, + X3 = min

21.

—2%, = 5%, +4%,X, + X} — min

Uwmnignnujw G wmwppbpwlyGtp

Swpplipwy 1.
1. oGnhp: «LhnipymG» pGhtpmpyuG ynijwgh hinmwgnudw6 pwdhip wpdw-
Gwqpt) t, np Gpli dtnGupympyniGp Gnp paquipyynn wpmwnpubpp uwnej
dby dhwynpp 25000 wrp-ny, wwyw by wivjw plipwgpmy fywéwnyp 700
Whwynp wpnwnpubp, hul tph Juwdwnh 20000 wni-ny, www GnylG dwd-
Jannd Yywdwnh 900 dhwynp: Huwynp hwpjwuwwhp Jwnwympybp
hwqunyt; £ aby Shwynp wpnmwnpuGph timhnfumG dwjuubpp 2500 wiyd b
ity wiujw hwuwmwnnG' 8000 wnd: Mwhbwioymd t.
w) Gph pwGwdlbpG pnbwlGmp dwjuubph, hwuntph U pwlngph hwdwp,
pP) Qwlb), pb hGswhup®G whnp (hGEG Juéwnph pwGwlyp L qhGp, npujtugh
nGYpnipjwl wiuwywl pwhmjpp th6h wnwybiwgnGp: /28hwynp/
2. Lmob| qdwuyunytiph Shengny: / 2 dpwynp/
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Z=(x,-9) +(x, -3)* >ext
X, +X, <5
X, +5x, <10, x, 20x, 20:
3. Lmob nwuwlwG juGnhpp: /3 Shwynp/
Z=x}+2x; +3x;x; —ext
X) +2X2 +X3 =5
4x, + x, =8:

4. Unmql] mpjwd Z Yhinh pwidpwytivn (hGtyp: /2 Shuynp/
f(x) = -4x, —2x} - 2x, + 3x, + 8 — max
—-3x, +8x, +3x, <40

X, - 2X, —x; £10,

x,20,i=0123,Z=(4,0,2,6,1):
5. Lmobk gpunhtiGunh inwGwyny (Quunwnty Gpym pwy), YtipgGhim| € = 0,01):

x? +x2 +3x, - min

x:, T (6,1,): 2 /2 dhun)np/
6. Lmot GhipnpnuiGhph fuGnhpp nhGudhy opugpdwG tnuGwyny:

(w[1], pwdhG VII) /3 dhun|np/

K=5 [ dwulwé)nn 11 wulwdjny 11 dwulwdynuy.
Swpplipwy C R, G R; Cy Ry
1 0 0 0 0 0 0

2 1 2 1 3 1
3 2 3 2 4 2 4
4 - - 4 7 - -

3 12
7. Spwo A=[_ 2 7 ]]dwmphgm[ fuwnh hwidwp
3 6 4

qu(bt] puwipwltiin, gkpwlwynn nnn, uymGuly
qnti| 1-hG L 2-pn fuwnugnnh hudwp qguiph opuigpiwG fuGnhpGpp.
gnyg wwy, np npwip tplwyh fuGnhpltip GG
imot) mpywd dwwnphgwhb fuwnp gdwuwwuytnh dhengng: /4dhwynp/
UwptdwnphwliuG opuwgpiwG nuuwywl fuGnph mémip Lwqpubdh
tnwGwyny: / 26huninp /
Swpplpuy 2.
1. vGnhp: tnGupympjuG 1000 dhwynp wpnwnpuGph fudpwpwGuyp
wpdt y wni: Snjw wiuwyw vujunmd kX pyny fudpwpwwy: Qwywnbh t
y-h b X-h dhel tqud pntGyghnlun Yuyp
y = 8000 + 45000/x”:

X g s =
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QtinGwpympjwl dhGwGuwlwl YywnwywphshG wihpudtym t hdwlwg,
pt wpunwnpwlph hGswhuh dSwjunh ptwpmd dbnGwpympymbp YmGtGw
GJuquqm)l wivwljwG hwunyp: / 2 dhunp /

2. Lmot gowuywwnytiph dshengny: /2 shunp /
Z=x}+x} —ext
(Xl —1)2 +(X2 —1)2 <9
X;+X,<2;
3. Lmdt) htbmlyw) nuuwlw@ fuGnhpp: /3 dhwynp /
Z=(x; =2)2 +(x; —4)2 +x3; —ext
X] +Xp +x3 =12:
4 Lmok) gpunhtiGup tnuGwyny (Juwmwnpb) Gpym puy), YtpgGhny, € = 0,01):
x, = (0): £=001 hunjap
5.Uunniglt) mpjwd Z Yhnh pwdpwltin (hGtyp: /2 Shugnp /
f(x)=—4x? —2x2 - 2x, +3x; +8 &> max
_3X| +8X2 +3X3 <40
X —2X, — X3 <3
x,20,x,20, Z=(6,030,):

6. Ywnnigh| gwlign L qunGl) ywndwqnylG mnhG: / 3 Shwynp /
() | 42 @3 [ A4 (25 |26 |35 G637 | @6 | @&
1 3 2 4 4 5 7 6 3 5 8
) |G 1G9 | 68 | (69 | (6,100 | 811 | (911 10,11)
1 4 6 5 8 3 4 2 7
5 -5 1 8
7. Spywo A=[-5 8 5 O [Gwwphgny juwnh hwdwp’
6 2 -4 1
-8 2 4 8

*  quib] puipwllim, qipwlwynn wnn (uymGuly)
*  gpby 1-hG L 2-pn fuwnuignnh hwdwp qguhG opwgpdwG fuGnhpGbpp.
* gmjg wwy, np npwbp tphwyh fulnhpltp GG
*  mobp wmpyjwd dunnphgwjhG fJuwnp gowwunltiph Shongng: /4shwynp/
8. LwgpwGdh pmqiwuwjwmnhyGtph dEYGwpwlndp: /2 Shuwynp /
Swpptipwl 3.
1. Opnywih wwpwph wpnwnpmpjul hwiwp yumnmwpdwd pGrhwGnp dwfu-
up L vnwgywd hwunypp pwywpupmd GG hiwnlyw) pwGuwdlbphG.
TC = 200q+10000 wny,
TR = 450q - 4q° wnd,
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npunbin TC-G pinhwGmp dwfuuG t, TR-p" hwumypp, q-6G° pnpupyywd L
Juwdwnjwd wypwlph pwlGwyp: Muhwieynud b qunbbi g-h wib wpdbpp, nph
nhiypmd uwnwgymd E wnwytyjugnyG pwhnyp: /2 shwynp /
2. Lmot) gowwuwwnytiph dhengny: /2 Shwynpp /
2
Z=x,"+x, —ext
x%-x3 =9
X) +X;, >1:
3. Lmob nwuwlwG fuGnhpp: / 3 Shwynp /
Z=2x?+ x3+2x} —ext
2X| + X, +2X3 =12
Xq +2X2 +X3 =10:
4. Uunmqb) mpwo Z Ytnh pudpwlytin (hGhp: /2 Shwynp /
f(x)=x? +5x —4x,x, »min
x? +x2 -4x, +2x, <4
X, 20,x,20, Z=(1,0,-4):
5. Lmdk| quunhtiGwnj tnuGwyny (Yuwnwpby dty pwjp): /2 dhwynp /
6x, —2x2 +4x, —2x,x, —rmax
X, =(0,]):
6.Lmok) GhpnpmiGtph fuGnhpp nhGwdhy opwgpiwb tinubwyny:
(|1}, pwdpG VII) /3 dhwynp/

K=5 I 4tinG. Il dtinG. 111dtnG.
Swpplipwly G R, C; R, G R,
| 0 0 0 0 0 0
2 2 3 1 2 1 2
3 3 4 2 3 2 4
4 3 5
10 1 4 8
Spwd A= _62 ? ‘g f duwnnphgmy fuwnh hwdwp’
-8 2 -4 8

quGh) pwipwltiwn, gtpwlu)nn wnn, uymGwy

qptiy 1-hG L 2-pn luwnugnnh hwndwp gguighG dpwgndwG tulnhpGhpp

gnijg wwy, np npuip tphwlh luGnhpGlp G

ot npywd SunnphgueghG futunp qdwujunnijtinh dhengng: /4dhwynp/

8. Uujwugmgt) max f i), X 20 puGnpp inddwG wGhpwdhyn wwyswGGupp:
/2 hunjnp /
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Swpptipuy 4.
1. vGnhp: Munuunwuyh ywhwiowpyh dniGlghwb t p = (450 - X) wnd, np-
wbn p-G WkY wuwnuunuyh ghGa6 t, huly x-p ywwnwd pwlulp:
hGypw®G L h°Gy qGny wbwp b wuwnuunul Juwdweb], npwybugh hwun)pp
thGh wrwytjwuqnybp: / 2 Shwynp /
2. Lmot) gowwwwltiph dhongny: / 2 Shunnp /
Z=2x,+X, oext
4x12 —X2 <2
4x, +3x, <6
X1 20, X2 >0:
Lmob nuuwlwl fluGnhpp: /3 Shwynp /
Z=3x, +2x, —ext
X1 —X% +2x, =12
X1 > O, X2 20:
Uwnmgb mpywd Z Ytinh pwipwybtwn (hGp: / 3 dhwynp /
f(x) =4x? +2x, +4x, —3x; +8 > min
—3X, +8XZ +3X3 S40
-X, +2X,+ X, < 3
x;20,x,20,x;20, Z=(4,0,7,0,)):
Lmok) gpunhtGuh bpuuyny (Quwmwnpb dbY puy): /2 Shunnp /
2x? +2x3 +6x, +4x; —2x;X, — min
Xo =(L-1):
Guinmghy qubgp L qunGt) JundwagniyG mnhG:/3 dhwynp /
Gj) 4 (12) 4 (L3) | (L4 | @25 (3.5 1G6) [ (37D ]146) | &)
i | 4 7 3 5 2 | s |4 1 817
DGR TG T 6,9 391 310 [ @1 [ 6.1 Jaon

w

B

g

o

lii 5 4 3 8 ] 5 4 2 S
1-2 52 .
7. Spjwd A=| 5 _s _7 3 |dwwnphgny juwnh hwiwp
0 4 31

quib) pwipwlbin, ghpwliwjnn wninn, uymGuly

qpty 1-h6 U 2-pn fuwnugnnh hwdwp ggujhb opwgpiwG fuGnhpGhpp
gm)g wawy, np npubp Gpywlyh luGnhpltp GG

1mat mpywd dwwnphguijhG fuwnp gowwwwmytiph Shongng: /4dhuynp/
8. Uwwgmgh) pwipwltnh gnympju wihpudtyn b pudwpun wupiwGGhpp:
/2 Shwiynp /
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Swpplipuy 5.
1. Mlnghp: UNC wiuwlwG hwunwnmG dwfuup 10000 wnd t, huy thnghnfumG
owuup’ (*+ 300x) wnd, npuntin X-p pnnupyywd b hpugdwd wpunwnnulph
dwyunl t: CGYLpmpjwa wiuwwG hwuniyph pniblyghwl’ Yhdwyugpulywa
unjjuibph hwdwdw)G Gupugpymd b (1500x - xz) wui puGwatny: UMC wp-
nwrnpuiwl yupnnmpmG6ipp hGwpunnpmpymG 66 wwhu wiuwlwG panup-
4ty ny wytith pw 150 Shwynp wpnwnpuGp:
QtnGwpympymGG hGpw®G wpununpuip whwnp b pnqupyh, npubugh
uwwuybtihp 2whnypp thGh wnwybuqnyGp: / 2 Ghunp /
2. Lmob| qowuyunnlbph Shongny: / 2 Shwynp /
Z=—(x;—-6)2-(x,-1)2 >ext
5x)+2x, 220
‘2X| + Xy = S
X1 20x, 20:
3. Lmot nuwuwlwi fuGgppp: / 3 dhwynp /
f(x)=x] +2x2 +4x, —>ext
X, +X3 +4x, =10:
4. Unmqght) mpjwd Z Ywnh pwdpwlbn (hGGinp: /3 Shwynp /
f(x)=x} +x; —4x, +14—>min
x2 +(x, = 1) +2x, —4x, <1
x,20x,20, Z=(4,0,70,1):
5. Lmot) qpunhtifwh iqnuGwyny (Yuwwpty ipym puy, YepgGhng € = 0,01):
X} +4x3 +6x; —2x; +X;x, —min
Xo =(12):
6. Lmob) GipnpmuiGkph fjuGnhpp nhGwdhy opwgpiwb tnwGuyny:
(w[1], pwdhG VII, 3 Shwynp )

K=5 [ 4tinG. IT dtinG. I11 4tnG.
Swpplipwy C, R; C, R, C, R,
1 0 0 0 0 0 0
2 1 2 2 3 1 3
3 2 4 4 6 2 5
4 3 5
7 s (-3 1 2 .
- Splwd A=| _5 _; 7| [Juwwnphgny fuwnh huwduwp
3 -4 4

qulit] pwipwtin, gipwlwynn wnnn (uyniGuly)
qpty 1-hG L 2-prp uwnuwignnh hwdwp qguighG opwqpdwG fuGnhpGtipp
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—

= gmy)g wnwi, np npubp pjwlh juGnhpitp GG

= mot) mpjwd JwnphgwhG fpunp gowuunnytiph dhengng: /4dhwdnp/

8. Uwwgnmgh UmG-Bwytph wGhpudtyn wuwydwGatpp:/2 Shujnp/
Swpptipwy 6.

1. vfinhp: NMuwinnuywi punuiwuntd quiynn upSwpwinud qupwjh hwwnp
60 npuy t. opwjwl wwhwGowpyp 500 quihw: Gph qupwjh qhlp pwp-
dpwlw 80 npuunih, wuyjw wwhwlowpyp YrnuniGw opwlwb 750 qupw: Updw-
pw@h hwuwnmwnn G dwjuup 3000 npwad E, huy JiY qupwjh pludwl thmhnfumG
owhuup 40 npuad £: {uywnGh t, np qupwjh uyuwndwG pmGyghwb qowghb t:

bGypw®G L h*Gs qGny whwp t puti qupw, npwytugh upwpwGh ywhnypp
1hGh wnwytjwagm)Gp: / 2 Shwynp /
2. Lmot| qowupuwmltiph dhongny: / 2 dhwnp /
Z=2x;+ X, > ext
x|2 bt 3X2 < 3
8x; —8x, < -1
X1 > 0, X2 >0
3. Lmobtp quuwywG fuGnhpp: / 3 Shwynp /
f(x)=x? +xJ —2x, —>ext
X, +3x, +3x, =1
X, —X,+2x,=5:
4. Uunmgb] mpjwo Z Ynh pwipwltinm (hGEp: / 2 Ghwdnp /
f(x) =—11x} +3x3 +3x, + x3 +27 > min
=T7X, + X, +3x53 <7
2x, +5x, — x; <4
X;20x,20,x,20, Z=(0,1,2,3,0):
5. Lmotp gpunhtGunp inwGwyny (Quwwpb ipym pwjy, Ytpglbny €=0.0):
2 4+2x2 —8x, +2x,x, —min
/2 Shwynp / X 2 79X, X2
Xo =(L-1):

6. Lmot) GupnpnuiGtph fuGnhpp nhGuwdhy opwgpiwG tnuwGwyny:

(*[1], pwdhG VII, 3 Shuninp )

Swpplipwy [ dtinti. I dtinGi. 1114 inG.

K=5 Cl Rl Cz Rz C3 R)
1 0 0 0 0 0 0
2 2 3 I 2 2 4
3 3 4 2 3.5 3 5
4 3 4
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10 -5 1 8

7. SpwoA=[-5 8 4 S |dwwnphgny juwnh hwdwp’
-6 7 -6 1
-8 2 -5 2

s quib] pwdpwlbin, ghipwywjnng ninn L uymGuy
*  gpb 1-hG L 2-p juwnuwgnnh hwdwp ggujhG opugnpiwG fuGnhpGepp.
*  gnyg wuwy, nn puip bpywyh fjuGnhpGtp GG
s (mob mpywd YwwphguwjhG fuwnp: / 4 Shwynp /
8. Uywgmgtiy UniG-Gwltiph pinpidh pujuwpup wpuypdwGp: /2 Shuwynp /
Swppbpwy 7.
1. uGnpp: «LhmpymG» pGypmpyjwl ynmyuh htnmwgnundwG pwdhGp wpdw-
Guwqpty b, np tpb dbnGwpympymGp Gop pnpupyyny wpnwnpuipp yudwnh
ity dhwynpp 300 wny-ny, wyw d6Y wivjuw ppwgymyi Yywdwnyh 600
vhwynp wpunwgpuip, huy tpt yuéwnh 200 wni-ny, wyw Gyl dwdbinnad
Yywdwneh 1000 dhwynp: G-juwdnp hwyywuwwhh dwnwynipymbp hwyquplyty
t bkl dhuyynp wpnwnpuGph thrmpinfumG dwhuubkpp’ 100 wnd L dhY wduyw
hwuwnwunmG 500 ynu: MwhwGeyma t.
w) Fnipu phiphp hwiwwwnwujuwl pwGwdlbpG pnhwGmp Swwutph, hw-
unyph L 2whnyyph hwdwp,
p) Qulb], pb hGywhuh®G whwunh (hGEG Jwdwnph pwlwyp U ghGp, npwbugh
pGytipnipymGp quGyh wiynpoiun Yhnmd” wlvwywG whnypp (hGh hwyjw-
uwn qpnjh: /2 Shwynp/
2. lmotk| gdwuwurnybph dhengny: / 2 shwynp/
Z=(x, -4)? +(x, —3)* —ext
2x, +x, <5
X, +5x, £10, x, 20,x, 20:
3. Lmobi nwuwlw@ fuGnhpp: /3 dhwynp/
Z=x} +2x; +3x,X; —ext
X| +2X2 +X3 =5
4X| + Xy =8:
4. Uwmmqb] npjwd Z Yhawnh pwipwytin hGbp: /2 Shunp/
f(x) = ~4x, —2x} - 2x, + 3x, + 8 > max
X, +8x, +3x, <40
X, —2X, - x4, £10,
x,20,i=123,7Z2=(1,4,3,01):
5. Lmok) qpunptlunh inuGuyny (uwmwpt; Gpn puy,tpgGng x = (1,1),
€= 0.0): /2 dhwynp/
2x, -5x% +x, —X,X, —>max,
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6. Lmdbj GipnpmuiGbph fuGnhpp nhGuithy opuuqpiwl GnuGuwyny
(@ (1], pdhG VII): / 3 dhwynp /

Swpphipwly [ dtinG. 1latinG. HIdtnd.
K=5 C, R, C, R; Cy R,
1 0 0 0 0 0 0
2 1 2 2 4 1 3
3 2 4 3 5 3 6
4 - - 4 7 - -
11 -5 1 8
7.Sn]wd A= —65 g 46 ? dwinphgny fuwnh hwdwp
-8 2 4 8

qult| puwipwlbin, qipwlwynn wnnn 7 uymGuy

qphiy 1-hG U 2-pg fuwnugnnh hwdwp qguihG dpwgpiwb fuGnhpGhpp.
gmyjg wuwy, np npuGp bpwyh fuGnhpGp Ga

1ol mpywd dwwnphgujhG fJuwnp gdwwwwmybph dhengng: /4dhwnp/
LwqpwGdh dmbGYghw6 L gdwjhG opwgpiwb tpYulh fubnhpGhipp:
Swpptipwl; 8.

1. luGnhp: tnGwpympjwl 300 Shwynp wpmwipwlph fwdpwpwlwyp wpdb
y wnui: Cmbwl wiuvwlwl vyyunmd t x pyny fudpwpwGuwly: <wymbp b y-p L
x-h dhgl inwd dnilyghnGwy Yuup'
y = -40x + 4000:

AtinGwpympjul $hiwluwlwl YunwgwphspG wihpudbyn b hiwGwy,
pt wpnwnpwlph hGywhuh pwlwynipjul nhypmd dtrGupynipymp Ym-
GEGw Gyuquanyl wduwwl hwunyp: /2 Shwynp /

2. Lmob gowwwwnytiph dhengny: /2 Shwynp /
Z=x, +2x, —ext
(x, -3)2 +(x, -2 <16
2x,+x, 24
x,20,x, 20:
3. Lmdb htwmlyun nuuwlw6 fuGnhpp: /3 dhwop /
Z=(x, —1)* +(x, ~2)* +x2 >ext
X, +X, +X; =12:
4. Unmqbj mpywd Z Yhwnh pwidpwlbn (hGbp: / 2 shwynp /
f(x)=-4x? —2x} - 2x, +3x, + 8 5> max
X, +5x, +3x, <40
X, =2x, + x, <-4
X, 20,x,20, Z=(14,31)):

O = ® 3 n
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5. Lmot) qpunhbGunh tnubGwyny (Yuwwpk) tpym pwyy, ytpgltinyg €= 0.01):
/ 2 Shwynp /
-5x} —x? +2x, - max
X, =(0,):
6. Lmobtp GupppmuiGtph fuGghpp  nhGwdhy dpwqpiwG GnuwGwlny:
(* (1], pmdhG VII, 3 Shwynp )

Swppbpwly 14tnG. I14tinG. 111dGnG.
K=5 C, R, C, R, Cs R,
1 0 0 0 0 0 0
2 2 3 2 1 2
3 3 5 3 5 3 5
4 - - - - 4 7

2
7  Spwo A=[ -2 7 1 ]dwmphgnq juwnh hwdwp’
3 2 2

s  quft] pwipwlbn, ghpwiw)nn ninn L uymGuy

* qpby 1-hG L 2-nn fuwnuignnh hwdwn qguhG opwqpiwé fuGnhpGepp

* gnyyg wnwi, np npup tpjwyh fuGnhpGlp GG

* 1mobp inpjwd YwwnphguyhG fuwnp gdwwwwnytiph shengng: /4dhujnp/
8. Lwgqpuidh puqiwuuinhyGtiph sEYGwpwlmip: /2 Shusynp /

Swpptpwy 9.
lulinhpl. bGg-np wwpwlph wpnwgpmpyuwl hwdwp junumjud pinhwing
owjuup L wunwgywd hwumpp puwyjwpupnid GG htnbyuy puGwaéliphG.
TC = 250q+1000 (wny),
TR = 600q — 3¢ (un),
npnbn TC-G pGnhwlnip dwhuuG t, TR-p” hwumypp, q-G° pnnupywd L yw-
SGwnwd wwpwlph pwlwyp: Mwhwloymy t qulbky q-h w)G wpdtpGhipp,
npnGg nbupmd unwgymy t wpwybjugnyG hwumyp L wowybjugn)l 2w-
hm)p: / 2 dhwynp /
1. Lmdt| gowwuwnybtph shongny: / 2 dhwnpp /
Z=x, +x,—>ext
x2+x3<9
x,2 +x,22
2.  Lmdt nwuwyw fuGnhpp: / 3 Shwynp /
Z=2x!+ x}+2x? —ext
2%, + X, +2x, =12
X, +2x, +x, =10:
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3. Uumgb) mpjwd Z Yhwh pudpwybtn (hGhp: /2 dhugnp /
f(x)=x, +x, > min
X7 +x5 —x, +2x, <8
X, 20,x,20, Z=(1,24):
Lot gpunhtiGinh tnuGuyny (Yuunwpb Gpyne pwyy, yipginy €=0.01):
/2 dpwynp /

w

3x;! +2x2 +x} +2x, - min
X, =(0,]):

Lmot) GepnpmuiGhiph fuGrhpp nhGuwdhy opugniwi tnwGwiym:
(= [1], pwdnG VII, 3 Shunynp )

=)

Swppbpuy I 4tinG. IT dtinG. HI4tinG.

~
~

(K= 5) C] Cz 2 C;

3

1 0 0 0

3

INENINY Sy
Vo |wlo

(=3 %) B N L]

2 1 2
3 2 3
4 - 4

7. Spjwd A= g ; _33 dwwnpphgny fuwnh hwdwp’

-3 1 =2
qulity punipwytin gpwlwynny nmnn L uymGuy
qnty 1-hG L 2-pn fownugnnh hwiwnp qguihG onwaqpdwG fuGnhpGhpn.
gnyg wwy, np pulp pywyh fubnhplhp Ga

* ot mpywd Ywwnphgwjhb fuwnp: / 4 Shwnp /
. Uwwgnmgb max f(x), x 2 0 juGnph imddwbG wihpwdtyn wuwyjdwGGtpp: /2/
Swpptipwy 10.
1. }wGnhp: Munuunuih wywhwlowpyh $mGyghwG t p = (300 x) wny,
npwtin p-G WY wunuuwnuyh ghGG t, huy x-p yuwwnwd pwiwyp: baspw®a
L h°Gy qGnyY whwp b wunwunuy Judwneb], npybugh hwunypp (hGh wnw-
Ytjwqnyp: / 2 Shuynp /
2. Lnt) gowwywwltph dhongny: / 2 Shwynp /
Z=2x, +x, —ext
4xl -x, <4
4x, +3x, <6
x, 20,
3. Lmobt pwuwlwG fuGnhpp: / 3 dhwynp /
Z=x,+2x, —ext
X, +x3+2x, =12

oo
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4. Uwnmghl] mpywo Z bwnh punipwytn hGlyp: / 2 Shwynp /
f(x)=x} +x, +4x, —3x, +8— min
2x, +2x, +3x, <10
-X, +2x,+ 3x,< 3
X,20,x,20,x,20, Z=(L,1,2,0,1):
5. Lmobj qpunhtiGuh tqubwyny (Quunwpt) bpym puy,YtpgGbing x=(1,1),
€£=0.01): / 2 dhwynp /
—2x} —x2 +8x, +6x, — 25— max
6. Uwnmgt) guwGgp L qunGb) yun6wgm)G ninhG:/3 Shunynp /

) | (1,2 113 ) 44 | 235 |35 | G6) [ BT | (46) | 47
1 4 7 3 S 2 5 4 8 7
() | 5.8 | 5.10) |68 ] (69 | (79| (7,10 { &ID | O [0l
1 5 4 3 8 1 5 4 2 5
21 2
7. Smwo A=| -2 (0 1 |dwwnphgmy fuwnh hwdwp’
3 61

qulik| pwdpwltiv gbpww)ynn nnn L uyniGuy
qphy 1-h6 L 2-pn fuwnugnnh hwdwp qgujhG opugpiwG fluGnhpltpp.
gnyg wwy, np pwp tpYwih fuGnhpGbp GG

*  mob mpywo SunnphguighG fuwnp: /4 shunp /:
8. Uywgmgt] pwipwlbtwmh gnympjwl wlhpwdlyn L pujwpuwp wwjdwi-
Ghpp: / 2 Shwynp /

Munwufuwbty U7z Ywd 25, hhiGuynpt) wunwufuwGp

Ny qowjhG opugqpiwG fulinhpt t
quib’
z = f(x)>»>max
htinbjw) vwhiwGuhwymdGhph wnjuwympjudp’
hi(x) = gi(x) - b; £0,i=1,2,...,m,
x=20:
nllmt“l X= (X|,X2,. .. sxn):
N3 qdwjhG dopwgpiwb luGnhph Lwgpuidh pmbyghwd b

L(x,A) = fx) + $A.h, (x):
i=l
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LywlwlymiGkp.

f(x) ~ng qdwyhl dpwgpiwG fuGnph GupuwwlwyhG $niGyghw t
hi(x) = gi(x) - b; - vwhiwGwpwlymiGtph hwiwlwpgp pGnipwgpnn i-py

i=1,2,...,m pmlyghwa t,

L(x,A) - nhwnnwpyynn huGnph LwqpuGdh mGyghwa t,

b; — uwhdw Gunhwymdibtph hwiwliwpgh we Ywuh i- pn qnpowlyhgp
X - ny qodwyhl dpwgpiwb fuGnph pwywagnyG nomuG k

Ai— LwqpuGdh $miGyghwyh i — pr puqdwwunnhlyp

A

1.

10.

— LwgpwGdh ImGlYghwyh i — pn puwqiwujuumhpyp jwdwqmjl wpdtipp:

Gphl nplt Yhnmd ImGyghwyh gpuughtGnp hwjwuwp b qpojh, wujw
wyn Ynnd pmbGyghwb pGnmbmd E hp wnwybjuugm)G yud Gfuqu-
qni)G wpdbpp:

GowjhG pmYyghwb L mnmghy L gnquynp pniGlyghw t:

Gpt unwghnGwp Yhwnmd pmGyghwyh Ltup dwwphgp npuyw
(pwgwuwywl) npnpqwo t, www wjn Yunp pmGyghwih hwdwp
UhGhimih (Gwpuhdinidh) Y k:

Gpt unwghnGwp Yhnmd dnilyghwih {buh Jwwphgp wénpny t,
www wjn janmyd $mGyghwb nGh pwdpwltin:

Mnnighy pniGyghwGhph gmuiwpp ninnighl pmGlyghw k:

QGnquiynp $mbGyghwyhg tipti hwGkGp memghy pnblyghw Yunwbubp
qnquinp pmGyghw:

UGYwfu Gpubpg, pt uwhiwGuwihwynuiGiph hwdwlwpgmy pngpy-
Juwg dmGYghwltipp Ywpny GG |hGp memghy (qnquynp) pb ny, ny
qOowyhG opwgpiwl huGnph pnyjuwnpbih MmAniGLph pwqimpymbp
Ywpnn t 1hGE memghly:

Ny qowyhG opwigqpiwG fuGnph ndmudip wbwp b hGhnpnywG
wppnypp

w) bhqpuyhG Yhwn,

p) Gupphl Yo,

q) Oowjpwlbu:
LwqgqpwGdh pwqiwuyunnhlGhipp inuwGwyny Yupbh b moby

w) ny GOhlu-p,

p) mnmghy dpwgpiwé fuGnppp,

q) dwpbiwwhjwliwl opwgpiwl nuwuwljwG fuGnppp, bpt julGnph

GywwmwywihG ImGyghwl L vwhdwlwpwlymuiGhph hwiwluwpgp

P(impwqpm] ImbGyghwGtipp nhpbptiGgbgh La:

fyi =L’ =A"; wuyswlp 6dwphwn b

w) dwpbdwwpyuywb dpugpiwG nuuwljw fuGnhph hwdwp,
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p) ny GOlu-h hwdwp,
q) mnmghly opwgniwi fjuGnph hwdwp:
11. 6pb GwywwnwlhuwihG Imbyghwjh dwulGulth wdwbGgyunlbpp hw-
Juuwp G qpnjh Xe Yhnnud, www Xo-G
w) ny G-Olu-h momuiG t,
p) dwptdwwnhjulwl dSpugniwb nuuwywb fuGnhph momia t,
q) mnmghy dpwgniwG fuGnph momuiaE t:
12. bpt x* Ybwp pwywpwpmd t YmG-Cwybph wwjdwiGhphG,
pwjg sh pwyjwpwpmy ubGnGwynpmpjw6 wwjdwihG, wuw
w) Xx* ny QO-h momua t,
p)  nhwwplynn fuGnph puiph Yt t,

q)  nunwplynn uGnph GywinwlwshG pmbyghugh tpunpbdnuih
Yt t:

7/
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luGnhp 1: <wgh thmep Jwdwnph hwdwp pjunid b judup: UGY jwywiph
hGpGupdtpp Juqinud t 20 gpud, L Jwdweymi & 30 npudny: Unyniuwlynid
ptpwo LG YytpohG wdugw pGpwugpnud jwywh wjwhwGowpyh wyjwGtpp:

Opwlwl wwhwlowpyp, (hwqup hwwn) | 10 12 14 16 18
Optiph phyp 2 3 10 10 5

Gpt (wywyn sh ywdwnyl), wuyw thnwl YGwup dbY jwdwyh hwdwp
Juqinui t 15 ngpui: Ogumuwqgnpobiny npnymiGtph pgniGiwl htmbywy yw-
thwhyGlpp

»  LjuwdmwnGbph Swpupdwpuhl,

»  G{wdmwnGtph dwpuhdhGhd,

> hGwpuwynp YynpmuwnGbph ShGhdwpupd,

»  Qmmuihgh nfughoniiGbpp L ULheh whunuwGpGhpn,

npnpk), pi thmep opwljwG pwih juw whwp t plup:

luGnpp 2: PwwnpnGh yupgnipymbp whwp b npnph pwpbpwypowGh pG-
pwgpnid wnwwugpynn dwypwpbkpptph pwlwlyp: SwwqpnipjwG plnhwinip
wpdtpp Yuwquind £ 200000 npud, yjmpupwGyynip dwipwptpph hwdwnp' 100
npwy: Uty owjpwptinph ywdwnph ghGp 300 npuwd t: Swipwplippmd qtiwmbn-
Jwd qnjwugntphg unwgynn tjudinmunp hwjwuwp t 400000 npwdh: Lwjunp-
n mwphGbpp thnpdhg hwjnGh £ puwnpnGh GhipYuwyjwgnudGeph hwdwubjme -
pymanp:

Qwiwhubihmpymb 4000 45000 5000 5500 6000
Quywiliwhwlnpymb 0.1 0.3 0.3 0.2 0.1

Uwywuymd t, np hwlnhuwwnbulhph 40%-p dwpwpbpp Yqlh:

1) Oquuwugnpotiny npnymiGtph pGnmGiwl nwppbp YuGnGGbp L jwthw-
Gp2Gkp, npnpti pwwnpnGh Jupynipywl Ynnidhg wwwndhpybihp dwipwpbpph
pwiwyp;

2) Gapwnpklp' qmuuqnhg unwgyny GYwinunitpp Yuqimd kG 500000
npwu: {wlnhuwwmbuGiph ppdp 5250-hg wybih b, hul dwpwpbppliph wjw-
hwGowpyp wipnnempjwip pwjwpupymdy t:

3) Uju hpwypSwlp hGsuyt®u Yuqgnp wnwopl Yhwnd pGonGywd npnymd-
Guph Yypuw:

4) GapunphGp’ pwwnpnGh hwéwfubhmpywb jnipupwGsmp wwppbpuyh
hujuwlwliwlmpymbp hujwuwp t 0.2-h: Fw hGywbt®u Yuqaqnp uvwjuuyng
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GYwimwnGtph dwpuhdwgdwi YuwlnGh oqlnipjwdp plymbywd npnydwé
Uypw: {Gnwgnunbi pnnuGywd npnpdw qquiyniGnipymGp:

luGnhp 3: «Uhu» pGYkpmpyniGp pnnupynud b wnbuwuynp quiptenip, npb
wnuwpynui t 20 jhnpuiGng nmwwnGhpny: Gwptempp wwnpuuwmym t hw-
unml mbjuGnnghwltpny L wWwwnyhpunnGtphl b wpwpymyd jmpwpwbyjmp
tpynwpph: Unnunpmpyu6 gt oqunwgnpoijnn pwnwnphyGliph winpuyni-
pjwG nhiypmd lunnwGymd b pwpwpyu pGpwgpind wpnwnpwd wipnne
fodpwpwGwyp: UkY (hnp qupbeph yuwéwnph ghGp 150 npuwd t, huy wpnw-
nunipjwl hinhnfuwywl dwuubpp uqimyd LG 80 ppud: LwGh np Sunnw-
YupwpnidGiph dwhunnmdp Yupnn bt hwGqbglt) qGnpnGiph npny Swup
Unpuwnh, wujw, hwyyh welbhny nmjuwjuluwl dpguygmpymbp, «Uhup»
unfuydwo k1. quploph qhlp hetighty 30 npudny: LtpehG 50 wpwpGlipp
pGpwgpnd quptgph wwhwowpyp tnb) £ yuymb L juqib t
Qwnbonh wwhwGownyn 3 4 5 6 7
Cwpwpltph phyp 5 10 15 10 10

w) Oquuwgnpdtiny npnpmuiGtph pagmGiwG nmwppbp YulGnGGbp L yw-
thwGjpGkp, npnpt, pt GdwG ppuwyhdwymd hGy whwnp t dtinGwpyh «Uhu»
piyGpmp)mGp:

p) Lbwmwqnintp pymGgwd npnpmuGhph qquymGmipymbGp: UpntG pGnmG-
Jwd npnynudG wuynp rnfuyh®, Gpk 1. quptioph yuwéwnph ghGp hwuGh 175
i

fuGnhp 4: Spph vwywuynn ywhwlowplyh gGwhwndwl hwdwp hpunw-
pwlymp)niGp nhdk) £ ymYyuywjupiwb pudGhG: Ybpghlpu himwgqnunmpjwG
wnnmGplhipp ptpwo GG wnymuwymu:

Unwohw 3 nnwpnud gpph 2000 3000 4000 5000

wwhwipwnpyp (hwwn)
Qwywwlwlnipynb 0.1 0.5 0.2 0.2

Qpph hpwwnmwpwyiwl hpiGwyw6 dwjuutipp W pwhnyphg uwmwnpynn
inonudGtpp uqumd GG 900 npwi/qhpp: Gph ghppp sh wdwnynud, wujw
hpwwnwpudyympjub Swuubpp Yuqumd i 400 nppud/qhpp: Gpb hpuwnwpw-
yhop oh pwjwpwpmd wwhwGowpyp, www npwGhg wnwwgnn YGwup'
hpuwnmwpwlympjwG Jupyh b wywqw wywhwowpyh wwhwwliuG htn
Juwwywd Swuubipp, yuqimd GG 100 npwd/ghpp:

Oquuugnpotyny npnymuGbph pGnmGiwG nwpptp JulnGibp L ywihw-
GhGhp, nanpby tptp wwpjw ppwgpmd hpwwnwpwlympjwb Ynnihg hpw-
wwpytihp gppliph phyp:

IuGnhp 5: QwidwlwpghyGliph «Lny» pGyapmpywi Jmywyujupiui pw-
dhGp php njwywpmpjuwGp Gupluwjwgply t qGuph tpkip wwppbpulGph
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nbwypmyd dpwqptiph thwptpGtph uwwulbthp vwyuwndwG dwuhl hbhnlyguyg
uywyitpp:

Ut dhwynpp hiwpwynp ghGp ($) 8.00 8.60 8.80
Spdwd glh niypmd Jwswneph tGpwnpynn

owuwGlipp (thwpbip/inwph)

hGwpwynphg puywgniGn 16000 | 14000 { 12500
UdkGwhwywGwlywin 14000 | 12500 | 12000
LGwpwinphg ywwnwgnyln 10000 | 8000 6000

CaYytpnipjwG wwpbjuwl hwunmwnmb dSwiuubpp Yyugqimd G 400000
npuwd, huy vkl thwptiph hwdwn hnthnfumb dSwhuutpp” 4000 npud:

0pnzty opwgptiph thwpbipGlinh hwdwp ijuqm;6 ghGp:

ksGnhp 6: Udnwip qpouwpohyGhph phyp UlawwGw (6h hwlquunjwi gn-
nmd Yunpmy wénud b {wpyh welbng wwhwiowpyp, «Uhupwdwp» pllyk-
pupjmip guwlywlmd t qponuwypohyGtph uwywuwpliwlé hwdwp hwG-
quunjul gninmy junmgli piqiwhwply hynipulng: CGYkpmpniGG mGh Gw-
fuwgoh hpwjwGwgdiwl hwiwp wGhpwdtynm gmdwplbp L whwp t npnyh
Ywnmgynn hympwingh hwiwpGiph pwlwyp: <wplwG hympwingGtph L
qenuwpohynipjw@ wy pGytpmpmGGiph hwpgnuiGtphg «Uupwdiwpp»
wnbophGmpymbp wwpqby §© hympuGngh hwdwpGbph mwpbwl ShohG wyw-
hwGownlh pytipp” R = (0; 10; 20; 30; 40; 50 ):

ShGwluwub gtpnmompiniGhg htwnn wmGophGnipyniGp npnymy b ppl-
GupipiwG nlt] Yuwnmgynn hympwlngh hwiwpGiph pwGwyp hbnbjuwy mwp-
pipwyGtpp. S = (20; 30; 40; 50): R-h L S-h wmwppbp wpdtplbph nhwpnid
$hptwyh nuwptjwG tjudinunlbph wpdtplbpp pbpdwo GG winnuuynud:

R=0] R=10] R=20 R =30 R=40| R =50
S$=201} -121 62 245 245 245 245
S=30] -168 14 197 380 380 380
S=40| -216 -33 149 332 515 515
S=50] -264 -81 101 284 467 650

Oquugnpdtyny npnpnudGlph pGnpmGiwG wnwpptip JulnGGbp L yunhw-
GhpGlp’ npnpb| Yunmgynny hymipuGngh hwdwpGbph jwyjwgn)G puGwyp
{Jmpwbngh hwdwpGtph wwhwowpyp b hwywlwywlmpymGibpp php-
Jwo Gl wnjnuuwynud:
Nwhwlowpy 0 10_[20 J30 40 [50
Lwywlwywlnpymt | 0.01 ] 0.09 | 0.2 0.3 0.3 0.1
UGhpwdtipw t npnpty wikGwhwywlwlw tjwdinunh W dhohG tlijwdnuunh
swithwhGEpny Ywnmgynn hympwGngh hwdwpGtph wjwugnyé pwGulyp:
luGnhp 7: 4-pn fuGnpmy hpwwnwpwyympjub zmyuwjywupiwé b hGwbu-
(itph qotpny thnjunGontGGtpp gpph hpwwnwpwimdihg unwgynn plnhwGng
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LjwdnwnGlph oquuujupmpjwl Ybpwpbpyuy mGeG htnbjw) qGwhwwnmd-
itpp’

Glwinunbbpp (hwpmp hwg.np) | 0 10 | 20 [ 30{40 | SO
Ogqunujuwpnpymbl puw’
w) 2ntjwywdwpdw thnfjunGoptGh | 0 | 10 | 20 | 35|55 | 100
dhGwGuwlub yhinfunGoptGh 0140 | 70 | 85195 | 100

1) Gurmgl; oquujwpmpjul gdwuwjwnlitpGtpG puwn tpym thnfuwnGop-
LkGGLph L npnpb| rhuyh Ghuwwndwdp Gpuig Gwiwwunnynpymbp:

2) Cuwnn jmpwpwGyymn thnjunGontiGh npnpt) tiwdmwnGtph oquwliwpnt-
pymGp:

Oquytiny wywuynn oqunmuljwpmpiwl dwpuhdwgdwl sunhwGhyhg, Yt-
pww)tp qpph nwywpwGwyp:

hGswhuh®G YihGh ynfunGoptGGtnhg ympwpwlsymph wewewnyp:

huGnhp 8: «Lnywl nwwws» hpunwpwyympymbp wyWwwnpwunygmd k
hw)wwwhlbph YipuwwwwmpwundwG nuupipwglibph hwlwp hpuwmwpu-
4t Gop dtinGwply: Cown myjwjwyupiwl pwdih mjywGtph’ dinGupyh wyw-
hwGowplp WhehG hwpyny Yywqih 10000 ophGuly: 50% hwywGwlwbm-
pjundp Juphih b wub), np dinGuplh ywSwnph pwlwyp YYuwqih 8000-hg
12000 ophGuly:

Ut dtnGuwpyh ywéwnph ghlGp Gwhiwwmbuymy t 1000 npwd, nphg htinh-
GwyhG wmpynud t Gwimwnh 10%-p, huy nwuwgpph hpwwnwpwliwG L qn-
Jwqnh gmiwpp juqimd t 2.5 (6. ppud:

SuyjwgpujwG vwpptiph oguugnpdiwi nbwypmd kY qpph hpwwnwpwly-
dwl thnhnfumG owjuutipp yuqimd GG 400 npund: Uwlw)G hpunwpuysm-
pyiGp Jupnn t Gubk 1.4 4i6. nppwding Jupdwlwity hwunmy wvwpptip, nph
2Gnphhy hGupwynp YhGh SEY gpph hpunwpwlydiwi dwhuutpG hetglhy 250
npudp: Mwhwloymau t.

w) 8n1yg wmuwy, np gpph Juwdwnynn pwlwlyh YulnGuijwi ytnnuip hwyjw-
uwp t dnwm 3000-h:

p) Oquuwugnpdtiny o =3000, npnpb) hpwwnwpwlyympywb YGwublp syptim
hwjwGwlywimpymbp, Gph’

1) oquugnpdytl muwqpiwG ubthwlwl uwpphpp;
2) Jwpdwluwytl hunmly uwpptp;

q) Qwibkiuwunbtiny vuywuynn tjuwdinunGpp’ hhdGuynpti hwwnnly vwppk-
nh yupdwwibn pwhwjtinmp)oip:

luGnhp 9: I §16. gpud Gapnptint mwppbpuyGph pGewpyiwé fulGnpub p-
ny Ghpyponp ghity b «Lbgmly» lunphppunjujw dteGupympywuGp: Cnt-
yuwjwjuwpiwi munidGuuhpoiihg htinn uwywuwpljuhG wowowplyty L6
GupnpdwG tpyne U L R wmwpptpulGep, npnlghg’ U-G nhuljwynp t, huy £-6°
nhuluqtpo: U mwppbpuyp Gwjuwwnbumy t hGwpuynp Gjuwdnmwh nwppb-
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pwyGtp’ 8%, 10%, 12%, uwluyG Gipnpiwl nnpumGtph jmpuwhwnimpjmG-
Gtpp wundwnny wnwehG L tpypnpy wwphlitph tjwdimmbGiph dhol qnym-
pniG@ mGh npnywyh hwpwpbpwlygmpymi, nph qnpowyhgGtpp ptipjwo t
wr g

UnwohG wwph Gpypnpy wwph
8% 10% | 12%
8% 0.6 0.3 0.1
10% 0.2 0.5 0.3
12% 0.1 0.2 0.7

UnweohG mwpjw pnjnp bptp mwppbpwyGlpp hwjwuwpwhwjwliwlwa
GG: A mwppbpuyp Guwuwnbund b wmupblui 9.5% tiwdnun: dwpyuplyit-
nh dwdwGwly Ywpbh t hwpytipp wGwmbutp: Uahwu pGnpdwd wwpptipu-
hg, Ghpnpnuip umnwpgmd t Gpym nwpny: MwhwGoymad t.

w) Ywnmgt) julinph npnymiGliph dwnp;

p) <phiGytny wwywuynn GYwdsninGbiph gnudwpuwghG wpdtph  Upw,
GupnpunnhG wnwewnpyby (wywagnyl wwppbpuyp;

q) hGywhup® hwjwlGwyuwimpjudp £ nwppbpwyh whngpp YihGh wybkih
itd pwG U-pGp:

holinhp 10: LepypdwG hwpbipp Yuqigwd t tpkp” A, B L C wpdbpnptiphg,
npnGg whohG tljwdwnwpbtpmpmGibpp L Ynywphwghwjih dwinppgp hwidw-
wunwuhnwGnplG hwyjwuwp GG

459 =211 112
ra=12%, rs=15%, rc=10%, Cov=|_-211 312 215

112 215 179

Muwhwgymu t.
w) wzyt) hwpbph ry, ShohlG tjwiwwptpmpmGp L 6, nhulp, ipk
XA=0.5,x3=0.3, xc=0.2;
p) hGsh® t hwjwuwp thwpliph nhulyp, tiph’
Xa=0.5, xc=0.5:
q) hGsh” &6 hwywuwp thwptpp nhulyp L ShohG tYwlwnwpbpnipynGp, tipt’
XA=Xp=Xc=Y3
FuGnhp 11: Spywo GG T L I nhujun|np wpdtipnptip, npnGg dhehf Glunip-
wmwpkpmpymGGbpp L Ynyuwphwghwih Swwphgp hwjwuwp GG hwdwuw-
nwufuwGwpwn r,1=10%-h, r;=5%-h L r,=5%-h L

50 57.
CW‘[S 40]‘

Muwhwgymd t.
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w) Ywnmghk) wju wpdtpnpphg pwnjugwd pnyjwwptih b wpnymGu-
Yt puqimpymGhitpp;

p) Ltpnpnnh hwdwp, nph w@nwpptpnpywG npp npymad b Ny= 6,0.25 wny,
qulbp jwywgmyG hwptiph GjwdnwpbpnpymGp,, nhulp b YznwjhG Yuyunnpp;

q) UznuyhG ytywmnph wnjnuwymd ppjwo wpdbpGhph nwypnd hwpytg
thwplipliitiph r, tjwdwnwptpmpyniGp L 6, nhuyp:
x, | 01 Jo3 ] os | 07 0.9
X, 0.9 0.7 0.5 0.7 0.1

IuGnhp 12: GGpwnptGp’ nmp mGLp 1 WG gputh wpdtpninp L whwnp t
npnymd Qujuglp’ wwht], pt yudwnb;: Gpb yuwwnb], wwyw’' pnnpp, pt°
Aih dwup,(n°p dwup): Uhqmgt qGh; Lu 500 hwquwp nrundh Gonp wpdtpnphp:

hGywhuh® npnymd nmp YpGnniGlp, nputugh wnwytjwgmyih hwugltp
4Lp 2whmypy, tph hwjwnGh £, np wpdtpnptph zmywywlwa ghGp 0.6 hwyjw-
Gwhwinmpjuip wékim k, huy 0.4 hwjwlwuwinpjuwdp Gjuqbm t:

loGnhp 13: QbtnGwpympjulG 2miwjh htimwgoundw@ pwdGh Juppyp
pGGwpYymu & Gnp wpnwnpuGph yudwnwhwGiwG hGwpwynpmpjmGatipp:

Lw wbwp t npnzh.

w) UpinwnpuGph quwéwnpp tpwptuwynply wnwGg pmywjh hhnwgnuniw;

P) Lwluwybu htnwgnnti poiwG, htwn JujwgGby npnznudp;

q) {pwdwpyti Gop wpnwnpuGph paqupliwi qunuithwnhg:

Cnijwjh htmwgnuniwé dwhuubpp YYwqikl 1 46 npud, Juiwnwhw-
dwh dwhuubipp Wnwn 2 §)6. gpud: Upnwnpmpymbhg hpwdwpybim nhypmad
YhuGwypp dnn 2.5 §j6. gpud: Unpymuwymd ppjwd GG Jwdwnph dwyjwih
hwjwlwywimpymGGphl Japwptpnn wyjwiGbp:

Jwtwnph Cniyw TFpwlwb Pwgwuwlw

dwyjwip sh htmwgnuyt) | wwunwupuwi | ywunwuhuwb
Pwpdp 0.2 0.4 0.1
UhohG 0.4 0.4 0.1
Swop 0.4 0.2 0.8

PuidGh ywphyp hwdwpmy b, np pwpdp, ShehG L guop Swjwih yudwnph
niwypmy dtinGwpympyul hwiwluwnG Ghwdinnp YJHhGh hwiwwywnweow-
Gwpwp 10, 5 L 2 §G. npu:

hGywt®u yupyh pwdGh Juphyp:

uGnpp 14: Jwlwnwlwlp hp fpwlmph hwdwhnpnGtph quppl nwund-
Gwupptjhu hwGqbj t w)yl Ggpulyugmpjyubp, np Gpuig 60%-p qlnud £ wnlw-
JhG wwydwGGhipmy wwwnpwunywd fudnplintG, 20%-p° “dwdny uGmbn”
pGYtpnpjwG wpnwnpwip, huy tGwgwd hwwhnpnitpp’ wpnwuwhdwGh-
g GhpYnywd whnbintiG:{wswjunprGtph pnhwimp pyh 40%-p hwenprn w-
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pwp Gnphg quihu b glindGp Juwmwpbim, b Gpuig 10%-p pnpnpnud £ wnGuw-
JhG wwypdwGibpmd uywnpuunywd udnptinkGh, 5%-p “<winy umGn’ pl-
YtpnipjwG wpnunpuGph b 20%-p" wpnwuwhdwywl wingtntGh npulhg:

Uunmgh] hwjwlwyuwlinpymGGtph owep b hwyytp hwywGwiwlnipyni-
Gp w)G pwbh, np’

w) <wdwhunnnp Yqbh nGwyhi wuwpiwGibpnd ywwnpwunmywd fudnpb-
ntG L hwonpn widhu Yqu pnnnphyn;

p) Qwéwunpnp YqGp' "<widng ulniGn’ pGytpmpyuG wponwngpuipp b
Lhpwdwpmlh hiinwqu qGmdGtiphg;

q) Qwdwhunpnp Yqw dhwjl pnnnpbynt hwdwp:

hoGnpp 15: YwquwltpympjwG wGophGmpmlp pGGwpymd t Gnp uwpp
qGtnt hwpgp: ShwGuwlub qony thnfumGoptGl wnwewpymy t 3 mwpphpuy’

w) 9G4 Gnp uwpp 10 6. nnud wpdnnympjwdp;

P) ‘Unpnqgb) hhG vwppp dwhuubing 4416. npud;

q) CunmGwyt] pwhwqnpoty hhG vwppp:

‘Unp vwppp 2whwgnpdbtim phwpnud uywuybijhp Gjwinunp gGwhwwnynid
t dmn 20 41G. npud, uwiuwyl JunwGq Yuw, np wihpwdtipun YihGh Gnpngby, L
nw JuwhwGeoh Lu 2 §1G. npwd: ‘Lop vwpph Gnpngiw hwjwiwlwlimpymin
0.25 t: Gph Gnpngyp hhG wwppp, www 0.15 hwjwlGuljuGmpjudp Yupu-
hwiGouyh 1 Wil. npud wpdnnmpjwdp (pugmghy w)fuwwnwbp: L6 uwpph Gn-
pngnuipg htinn uwywuybjhp Bjwdmwnp gGwhwwymd £ 15 6. npud: Gph
uwpmbuitiG pwhwqnpot hhG vwppp, wyw Juqiwybpuympjwb Giwdnunp
YthGh pnuwdkGp 6 §)6. npuad:

bGsuwhup® npnpntd wbwp b pGymGh wGophGmppmiGp:

hoGnhp 16: dwumwpnpbp puglbtihu unynpwpwn vhuulip 66 pGmd
nyjulbpG whhnpnpliG dmwunpwqgqpytm wywwdwneny: {wjwmbh £, np 100
thwutnwpnphg 6-p wynwhuhG t:

Muunwhwlwlnptli Yyipgwd 3 thwunmwpnpbph hwdwp fuqib) hwyw-
Gwlywlimpymbahph dwnp, pninp hGwpwynp GptpG m npulg hwywlwlw-
mpyn GGbpp:

loGnhp 17: UM pGYtpmpyjuG upympymlp pGGwpynd b Gnp wpuw-
npubph pnqwpldw G hwpgp: ‘bnp wpnwnpuiph yepupbpjuwg wihpwdtyw t
YJuwjwght) htiunbyjw) npnymiGkphg uyp'

w) UYub) wpinwnpuGph pnnupyndG m wowpndp mijuw;

p) Gunnwpti pmijwjh GwuGuwywl hbnwgnnniy;

q) {pwdwpyt] wpnwnpulph pnnuwplynidhg L hwyb] wpmwnppynp:

Cnlyuyh himwgnuniwl hwdwp wihpwdbyn t dwhub $50000 hwdwp-
dtip npw:

Uwwnnuip Yuqiwybpuytine hwdwp wbunp & qGyh pugnig)y uwppu-
Ynpmd b juwwmwpdh jpugmghs wyuwwmwbp’ $100000 hwiwpdbip npud wp-
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dtpny: Upnwnpulp pnqupytimg hpwdwpybjhu wpnwnpnipjwG wnthubngn-
qhwl Jwdwnbim nbupmd pGybpmpymbp Yywumwyh $250000 hwiwpdtp
npwd:

Cniju)h htnwqninmuip upnn t gpuujuG jud pupguuwljub gGuthw-
nwljwl wnw)] wpnwnpwiph poqpupdw JwuhG: UpnwnpuGph yuéwnph
owjwih hwjuwlwlwlmpymbGipp qGwhwinmiGbpp, Ywhjwd Gpubhg, pb
2ntjuyh hinmwgnunmd juwnmwpdby £, pti ng, unnpl ppfwo G6 wnynuwmad

Jwbwnph owduwip | Tmbwb sh hbnmwgnuyt Tuwhwd | Pugwuwlui
L hwun)pp yuwunwufuwb | ywnwujuwb
(hwiwpdbip npud)
Pwpdp  $1000000 0.2 03 0.1
UhohG __ $ 500000 0.3 0.5 0.1
Swop  $ 200000 0.5 02 0.8

hGswhuh npnymy whwp t JujwgGh Jupympymap:

luGnhp 18: AtinGupyuwnbtpp Gnp wpnwnpuip pnnupyiim Guuwnwyny
wpnunpuiph npny pwlwynpmG hwimd t myw: dbwmwqnuniwG wp-
nynGpGtpp unnpl pipdwo Gl wnymuwnu:

Jwdwnp Gludmun(@i.gpud)|  dwdwlwlwinpymi

Pwndp 2.4 0.3.

UhohG 0.6 0.4

Swon -0.48 0.3
MuwhwGoym k.

w) Yuwnmgt] hwjwGwywlnipymGGph ownp
p) GwGh dinGwpyunhpng qwywugnyl Jupytwlbpuyp:

7/
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luGnhp 1: ’Pmpq”’ uwhiwGuhwy vywwnmwuppwGwwmnynpjudp pGYtpne-
pymGp Sywynd £ 2hGwpwpuub Gwuwghd: Unynuuuymd pipduo 6 Gu-
fwgoh Juqidwl hpiGwliwl wyfuwnwlpltpp, npuig widhwuwbu G-
hunprnn wfuwnubGpGtpp L juwwnmwpdwb dwibnbbpp:

Uuwnwbp  [UGihowwbiu (wfunpnnn | dwdltin
ufutnnw ip (Qupwp)

U - 4

P - 6

q U, p 7

a2 q. 3

(57 ol 4

Q |5 5

E 2t 3

MuwhwGoymu k.

w) Lwjuwghop GYwpwapti gwigwhG gpudh dhongny:

p) Opnpt Yphnhjwliw wphuwnmwpGhpp L Gwhiwgdoh juwnmwpdwG
dwniytiwnp:

q) {puGybiny 1-pG6 Yhwnp wpyniGpGtph Ypw' npnpty Gupuwgqdh hpwlju-
Gwgiwl pGpwgph thnmhnfumpymGGtpp, wwjyiwing, np D-h Yuwmwpiwb
dundlinnp Liplwpwgyh snpu wpwpny:

loGnhp 2! <wpywwwhmpywlG YeGuwpnGG6, hp wphiwnwlpGephG qmg-
plpwg, juqiwlbpuymy E hwyjwujwhnipjuG nunmgiwl wibkGwdjw ubdf-
Gwp wWwpwupdnGplbp: CGpwghly nmwpjw wpGwGhg YaGunpnGp wwwnpuu-
umd L hwenpn mwpjw dpwghpp: Opwghpp ywpmGuymd t swlpwypyhun
mbntympymGGbp YaGunpnGh whiwwmwyhgGbph b mundGuiywl gnpdpGpw-
gh Jtpwpbpyuy:

Uwninpl nmpjwo wmyniuwymd pipwd GG dpwgph wzfuwnnwGpGbpp L
npwlg wiihowwbtu Guiunpnnn wfuwwmwbplbpp: Spwghpp Wwlymy k
YuGupnGh npnpwih pyny wzfuwwmwihgGph Ynnihg, L jnipupwbymp wy-
fuwwmuwbp junwpdm b wynuwynd G2wd npnpwlyh dwdwiwjwhwwn-
Juomid: dupyuuwhmpjuwl YEGunpnGh JuwpsmpmGli wpfuwwmnd b jwpw-
pwlywé 5 op: Uwhw)G, YtGwmpnGh mGoptiGp hGwpwynpmpymG mbh wpfuw-
wmwljuqih qtip swlpwptnGuonipjwl nhypmd pugnighy pnmGbp npnyw-
4h pyny dwiwGwlwynp wyfuwwnnnGbph’ npuku oqGnipymG hpiGwlywb w)-
fJuunwyhglGbphG: Unynuwynid Gwb Gpywd b6 wyn wuwydwGabpmd Juumwp-
Jwd wpuwwmwbGpGlph Yphnpyuliwe dwsytinGlpp, hGywtu Gub wpy w)-
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lnwwnwbplbph htim Yuwupwd jpuugmghy dwhuptph hwiwwwwnwuuwG wp-
dtpGtipp: <wpjwpyGtiph yuwpgmpprubG hwdwp bEpunpmu £, np pognp wfuw-
nwlpltpp Ywwwpymd 66 juwd Gnpdwmnhy Yuwd Yphunhjuyjwé dwdybnGt-
nmu:

Gipouiybufunpiunnpy. [Uphnplpwywt] Lpugmghy
Upluwwnwlp Gwfunpynn Pwdlbn dwiyin(op) | Owfuubp
) fuwnnw Gpfon) (qpwd)
MupuwwydmpbGtiph
wighwgiwb duiltinib - 5 5 -
Ywuwfunubliph
pGunpmpymG L pidwGbph u 20 10 50000
hwiwdujGbgnud
QnjuqnujhG Gymptph
wunapwunny - 15 10 75000
<Enwlw nwwGnnGkph
gnwwlh Gnpngma - 15 5 100000
{hiGwlwil wyfuwuw-
YhgGtph gmgwyh G 30 25 25000
wwwnpwunnd
Opuwqph b gmgulGiph
wnujugpnud Rrq,6 10 5 25000
Swwqpywd dpwqph b
gnigwylitph 67nmyd 9 10 S 50000
Opwgpp wywgpmd L
gquuwynpmd puwn oph - t 15 10 37500
GwyGtph
Uztuunnwlihg Gtiph
hwugtbiitph gnigwlyh 5] 5 2 25000
nyjwgpntd
Opwgph wrwpmd (A (- 5 2 25000
MwhwGgymu L.

w) Syw Gwuwghdp wwwnytpty guigw)hG gnuidh dhgngny;

p) Npnptp dpwgph wuwnpuwundwl b wnwpdwl bwdwp ywhwGoywo
dwiwGwlp, bpt opwghpp unwpyty b wnwg jpugnighy oqGmpjw:

q) bGyubt°u Yuhinfulh Guiuwqdh Juwnwpiwbé duniftinp, tpt gnjwqnh
Gynipbp wwwnpwuwtim hwdwp wihpudym dwdwlwyp npjwd t ufuwy, b
wyn wyuwmwlpp hpwywiod wlmd t 30 op:

n) Qulb opwaph wwwnpwumdwl b wowpiwl hwdwp wwhwGeynn
GjuquaqmpG durdytwnp:

luGnhp 3: UwhdwGunhwl yumnwuluwGunympjudp pGytpngpymbp ju-
wmupmy £ hp vywuipljunhg utnwgwd, npnwih upuanybp:
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Uwunnpl pipwd G wGhpudtym wmyjuyGkpp:

UGdhowuytiu duniytin (op) Uwwuytijhp
Whwwnwp| Gujunpnnn | jwdwwmb- hwdwlw- hnebnb-{ wluwnwiph
wluwnuwbp| vwlwd | YuG uwlw wpdtpp (np.)

u - 3 4 5 10000
f 4 7 10 14000
q - 4 5 6 20000

‘Lwhiwugdh Juwwnwpiwb htn uuyywd YoniGulh swnutpp juqind G6
opwlwa 300 nn.: Uuywuwpljwih htn YGpdwd wyuwpmunnpuwgpmy Gpgwd t,
np, tipt yuwwnytipp 15 opu phpugpmd jjuwnmwnyh, nipwgyudjmpupwlsjmp
opjw hwdwp nmaguGph gnidwpp Yywqip 1000 pp:

MuwhwGoymu k

w) Gunmgl; guGguwjhG qpuwd: hGywyhup®@ t Gwfuwgdh Yuumupiwb
uwwuybjhp dwiljinp: bGywhuh®G £ Guwhawgqoh uunwpiwG wpdtpn:

p) @pwdh dtie n°p nnhG t Yphnphwlwb: ULlGuwpw bl ny Yphuhiulywb
minhGtph mtmnmpymGGtpp

q) h°Gswhuh hwjwlwlwlnmpjunip Gwhwghon Yuyjwpnyh wnwig wni-
qulp yGwnbym:

lulnhp 4: “Lmjyu” pGybpmpjniGp Swwnhp t hpdGunpl) hpwunwpuysw-
Jul nmunp dtnGupympymG: UGhpwdtyn w)uwnwbplbtpp, npubg thn-
uwnwpd YuwwG n nbnnmpyniGp ptpguwd GG wynuwynud:

WuuwnnwGp MGdhowwbu Gwunpynn wyluwwnwlp Lngmpinili,(o-w
u 3
g U 4
Qq u 2
s u 6
G f 3
Q 92 2
E n. 4
e E 7
o q,6,2 5
d kE, 3
MNuwhwloymu k.

w) Npnyt; Gwhuwgoh yunwpdwb vwywuybthp dwiltinp

p) Glpwnplny, np vwhiwGjwd dwiytinGtpmd jmpupwbynp wyuw-
nwlph Juunwpiw6 hwiwp ywhwGeymy k1 dwpr, npnpt) Gwhiwgdh 6)wn-
Jwd uywuytihp wlnnmpymGp wy wwjdwih nbypmd, np mpjw wluw-
wmwlph ywunwpiwG hwdwp pGYtpmpniG6 pp npuwdwnpmpywG nwy map
pym dwpn, npnGghg jmpwpwGyympp Jupnn b junwpt) wyn wpuuwnwipp:
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luGnhp 5 “Unpmyp” pGYbpmpjwl JupynipymGp Gnp wupwGph wpnow-
npmpymbp 6hwn Juqiwybpybim Guuunwyn] duwghp t hpugnpatim wyy
wupwlph hwwnywGhyGiph htnwqnuniwl Guwuwghd: Uwnnpl pbpjwd GG
(Gwhiwqoh hpwjwlwgdwl hwiwp wwhwGeynn wuwwnwGplbphlG Jtipw-
phpnn umjyunGlipp:

UGdhgwwtiu | YuwnwpiwG 6 Gulug-
Uzuwnwbp Ulwpwgpmd Gwjunpnnn | dwiljtn  |ih pwhwlyp
wyluwwnwip | Qupuwp)
1 2 3 4 S
u LVwhulwlwi 5 3
Yawlnuilitip
e Cnjwyh 3 2
nwumdGwuehpmd
Q. Stu. yunhnpnzhgGiph u 2 2
Jrwlnud
1 UwynwGph dLkwygnpmd u b 5
|5 CmywjywlwG hbGph u 3 3
umnbingdmd
P} Updtiph hwyywpy q. 2 2
E UwpuwGph
gnpownnipnul ) 4 5
c CGumpnyh /b 6 4
hulinnmp méG
Q-Gh uwhdwimd o 2 1
d Udthohhg 2 t,0@ 6 2
hwpytwnynip)mb
MuwhwGoymau t.

w) Ywnmgb] gwGgwjhG gpuwd, npG wpmwgnh Gwhuwgqdh hpulyubng-
dwl wyuwmwbplhpp U gpuGg thnfjuwnupd Yuwp: 0pngty YppuhluljuG
nunhG L Gwhuwgdh junwpiw Guquagnt)i mbknnmpmbp:

p) Npytu Gwhiugoh juwnwpiwG uyhqp pnmGEny qpoyulwé wwhp,
huy yjmpwpwlsymp quponnmpymG ujubim] wrwyt) Jun dwdykinhg, dwiw-
Gulh jnipuwpwGsjoip uwjuhp hwiwp junmgly wiéGulwqih pwGulhG Y-
wwhwGownyh gdwuwjunytpp:

q) CaYytpmpjwb JupsmpymGp npnynd t plnmGhy, np Ypnhhjw) Guhuw-
qoh ppwiwbwgiwG hwiwp dwdwlGwih ympupwGymp wywhhl widGuw-
Juqih pwlwyp wytwnp t (hGh 9 Ywpnmg n; wykjh: Ljwpugphi, pt umjjuy
wuyiwlibpnnd wikGwywps dwdljbnipmyd h6ywbe® hpujwwgGy Guw-
luwqhop:
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Lwih® pwpwpyu pGpugpnd widGwlwqdh 9 winudGhpl b Shwdwiw-
Gwly YhwulGuyghb Gwhiwgdoh hpwlwlwgdiwn:

lulnhp 6: Lwpuwghop pwnjugws b 10 nbuwyh wyfuwwnwlphg: Unnpl
pipud GG npulg wlongmpymGp b hinfuwnwpd Juwp: 2 L C wpfuwwnwlp-
Gbph htn juwuwwo npnpuwih ndupmpymbaiph wjwwndwnny npulg wnln-
nnipjmGp wGnpn) t:

Muhwlpynid t.

w) Ywnmgtl; hwiwwwunwubuwl guwigwjhi qpud, npG wpunwgnih wp-
fuwwnwlGpGhph thnpuunwnpd Yuuyp:

p) UGunbtubny 2 L C wpbuwnwlpGtph wqngmpymbp’ npny b Guwfuwgqdh
hpwjwwgiwb Gyuquqgniyli dwiwGuyn:

q) hGswhuh® vwhdwfwhwlmdGn YynpdbhG 2 L C wfuwnwpbph wnln-
nnupjw@ Ypw, tpt wihpudtyw hatp Gwhiwghol wjwpunb 19 opmud:

Uzuwunwlp | Sunnnipynib UGShowwbiu
(op) Gwunpnynn w) fuwwnwlp

u 6

£ 1 u

Q 2 u

ol 1 &

5] 1 a2

] o]

E 1 Q

c Q.0

G 4 G, C

d 3 Gy

n) <tnwqu nunmdGuuhpmpyniGGtphg hwymGh b, np Q L 2 wluwwnwip-
Ghph Juwmwpiwl vywuybjhp dwdybnlbpl 6 hwdwywnwubuwiuwpwp' 2
opn L 1 op: Pwgh wyn, GGpwnpymd k, np wyn tpym wzfuwwmwGpGip) nbnngm-
pjwul wlnpnynipymlp dnunnwpyymd & Mmwunlp pwzfudwG dhongmy: Gunlh;
hwywlGwlwlmpjniGn, np Gwpuwgdh hpwlwlwgndp Yubh 19 op b wybh:

Uwnpl pipwd wrgynmuwlnd wipjwd GG MnuwunGh pwpfudwp hwdw-
wwwwufuwinn hwjwiwyuwbnipymGitph wpdtipltpp:

Uhohl wpdtp dwyjwliwywlmpnil
0 1 2 3 4 L unlbjh
1 0.368 | 0.368 | 0.184 | 0.061 0.019
2 0.135 [ 0.271 | 0.271 | 0.180 0.143

uGnhp 7: “Yhdwl” dinGupympymGp wpnwnpmad b dwqbpp hwpwpbn
b vwhpdtm wywpwquwGtp, Ghpwnjw) wobkhGhp: Lpw dpgulhg dtnGwp-
YnipymGp Ybpetipu Yywqiwlbpwtb) £ Gnp wbuwlh wdbhGbph wpnwnpm-
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p)mdG, npp YtpghG g wiujw pGpwgpnid gpuigty b uyywnnnuijwb ymywa L
swthwqubg Yuwn t wqnb) “Fhiwy” dtnGwpympjwG Jwswnph dwywGtph
Ypw: “Hhdwyh” Jupgmpymbp npnby b znunwihnyp Yupgny wpnwnpnpjué
dt9 Ghpnnbyp ypgmbGwy wpnwnpwbp, gfuuninp hwyjwwwhhl hwGdGwpw-
phpny Yuqdit Gnp wpnwnpuipp Wuwiim b vywenpuywb ymyw hwlbm
dpwghn:

UztuwwmnwGph wiwlnuip dwdwlwly ‘Lwlunpnnn
Qupwp) |wrtuwwmwlipGlip
U  Junp wprrwgpwph unbndnud 8 -
£ Kwptpwynpnud b dLwynpnd 4 -
Q. nnwnpubwb hqnpmp)meGtph 4 u
iwfuwwwinpuwuwnnul
7 Kmiph L Gympbph dtinp pbpnud 2 u
G Upnwnpubph thnpd GwlijwG 3 q, 0
Jpwpwlwlh pnypupynud
Q [[bwplpuynpnud 2 f
E  pnpdGwlwl ynijwgh pupmpimG 1 -
C  kpnpdGwlwl judpwpwGuyh 2 G, 2
wpbipwynpnd
@ Upunwnpulph Swnwljwpupmd 3 EC
thnpd GwywG ymljw
d [Upunwnpwiph ywSwnp 4 Gy
thnpd Gwywb ynljuymd
h punwnpuiph uywndw6 3
upnpmGpGtph gwhwwnnmd
L Ruwiqwdwjhl wpmwnpnipjul 4 h
nqwpliwb dpwgpnul

Vwjuwgdh dulidwl hwdwp hwygwuwwhh dnGupliud wnwehl pwjin
wyl wluwwnmwGpGtph dLwytipymuiG t, npnGp wihpwdbtyn GG wpnwnpwi-
ph untindiwG gnponpGpurgmy: <wyywuwwhp gGwhunnt) L Gwb ympupwGyymp
wfuwwnwGph hpujuiwgiwi hwiwp ywhwi9yny dwdwlulyp L pugw-
huynt] gpnul Gujunpnnn wyuwnwbpp: uGnph Modwl hwiwp wihpw-
dbtyn wyjuGhpp plipduo bl wnymuwlynud:

Muwhwoymu t.

w) Yunmgb} guwlgwihG qpwd, npi wpnwgnmh Gwd fuGnhpltph -
onuiGtph wpuwdwpwGwywl hwenppuwnpymbn, L npnyGi Opwgph Gywy-
dwl wwhhg dhGsL wpnwnpubph Gop quiquowihG panupymdb pGlwd
dudwlwyp (LGpwnpymd b, np Gop wpwnwnpuGpp ponupyymd t opwgph
JuqindG wjwpntimb whu):

p) {wqwpybi ng Yphnhiwywl woluwnwbipGlphg ympuwpwgymphl  hw-
dwwyuwunwuuwlng dwiwlwyh wwwplpp: R, 94, b, L wluwnwlpltph
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hwiwp Wwhw(eynn dwdwlwlyp winpny t, wjn ywmdwnny ytplod phip-
Jwo wyfuwwmwbpibph juunmwpiwi wewyb hwjuwlwuwlwb dwdtnibph hw-
dwp Wwluwo GG hnptmbuwjwb L juwjwnbuwlwl dwdybtnlbph hhnlyuw
qGwhwwinnuiGhpp.

Uwnpl ppjwo wdjwiltph hhdwl Jypw npnghy uwyuuybihp dwdwGuyp’
ujuwd wpnwnpuGph quigyuwowihG ponuplpiwb wwhhg, b wiG hwyw Guw-
YuwGmpymGp, np wjn dwiwGuynp unbkh 35 wpwphg wybkih (htnlyw; Gw-
fuwwwydwGh niypmd’ Gwpuwqdh wmlnnnmpjniGp dnnwpyymd b julnbw-
Unp pwytudunip):

UlvwunwGp | Lwdwwnbuwlwb <nntinbuwlw G
dwilbn Qupwp)| dunillin Qupwp)
U 5 13
] 2 6
1 1 4
h 2 6
L 2 8

luGnhp 8: UwhdiwGwihwy yuwunwujuwbwwnynipjudp pGytpnippuG Jup-
smpymlip jmpwpwlymp wnwpjuw ubywmbdpbph 1-hG Juqimd b hwenpy
wnwpjw pynigkiG:

£moth Gwpuwwwwmpwundwl gnpdplpwgp Ghpuwnmd t npnywyh gim-
p: Fpwlg Guwpwgpnuip, widhgwubtu Gwiunpnnn thnybpp L junwpdwb
dudwlwyp GepYwjwgywd LG fubnph ypemd pipjwo wnyniuwymy:

£ymokl wbtwnp t wwwpwuwn hGh ghwbdptph YtpohG, nwuwnp upsm-
pymGp wyhuwnwGpp yuwywpwnh 17 wpwpmd:

MuwhwGoynud t

w) Ywnmgl] gwlgwjhlG gqpud, npl wpwmwgnh pymebh Guwuwuwuwn-
puuwndw hwiwp wywhwbeynn thnbph hweonpnuwwGmpymGn:

p) Gpb wwhwGoytip Ypdwink| pymebth Gwhiwywwmpuumndwip hwwnlwg-
Jwo dwiwlwlyp, www n°p thmbph ypw wybnp t nupdGbp npwunpmpymG L
hGym”™:

q) Puwguunpt) dwidwGwyh pGnhwGnp, wqun & wiiuwi ywywp hwulw-
gnipyniGGtph mwppipmpymGp: Uwwgmgty, np 1-h6 thngh wquin dwdwGw-
Yh wwwpp hwjwuwn t Gpbp wpwph, pr npmd, tpynt Jwpwpp dwiwGw-
Yh waywh wywywn t:
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dny Wswwnwip Lwlunpy dwidwliwy
thnybpp Qupwp)

U | Uzpuwunwdwpdh npaypwwh 2

£ | Cniyuyh nuunuiGwuppmpynel - 4

Q- | dwéwnph gGtph vwhiwGmyd 3

7 | Jwlwnph dwywylitph pymetih f 3
Jugimd

G Ydwbdwnphg unnwgt|tijhp tjw- q, 1 1
dnunh pymobih ugqinud

Q | Jwéwnph htinn juwujwod dwuub- u, % 3
pp pyniokih Yuqinud

t | Upnwnpnpjwb swywGtph pyme- s 6
oth Juqimd

C | dbtpwnhp dwjuubph pymebh Yuq- u 4
il

0 | Uzluwwnwyhglbph ytpwujuwn- Uk 2
pwuniwb( pymobh hurgdmd

d | <nudpp pymgth fugqdmd E 3

h Ununwnpuwlul mwpwoph L
uwppwynpnuditphtph pymebth E 5
Juqgdmyd

L | CGnhwGmp jwhnyph YuGhaw- G, 9,0, 1
wnbunuiibph Jywlnud o, d,h

7/




v. mUucuruveLh UUAUIUNUTY
lurHh LR

loGnhp 1: vwGniph nmwpbljwl uéwnph dwywin huqind £ 500 thwptip
oppwGh spp: Swpjw pGpwgpmyi wwhwGowpyp pwpfuynd bt hwjwuw-
pwswth: ULy thwpbpp qliymd £ 1000 npuiinyg, huly jmipwipwlyjnip wuwwmybph
hwiwp fmwGmpp Yyéwpmd t 5000 npud: Mwwnytiph dwnwupwpdwb dwd-
Ytup 12 wpuwnwlpwihG op bt (6-opyu wpuwwnwblpwihG wpwph ntw-
pnwi): Cunn dwulGwqbnGtph Jupohph wwhwywldwl swiuubpp juqdmd GG
wwwpGliph dhehG wmwpblywb wpdtph 20%-n:

UdkG wlqud pwh® hwplp whwnp b ywwyhpti, npybugqh wywpwpGph
pGnhwGmp wpdtipp 1hGh GJuqugnyl: GGpwnptiny, np  fuwlGmpp wpuw-
nnud £ mwpbliuG 300 op, npnbtp wwwmytipGeph hwéwhumpymGp U YpyGynn
wwwnypGtph Swywn:

lGnghp 2: QtnGwpympymbp pnnupymd bt dh pwlh wnbuwlyh Yuyk
upSwiwG: Upunwnpuliwb gqnpolpugn juqiwljbpuywo b wjGubu, np, dky
2wpwpnid upSwiwGibph fudpwpwlwlyh pnnupliwl pGnhwlnp dwyjwip
hwulGmd £ 500-h: Unwyb hwlpwdwwnbtih Gingh ywhwbowplyp, npp Gw-
Guynud tGp x-ny, vk mwpmd Juqinud £ 2500 dhwynp b mwupju phpuwg-
pmd pwfuymd t hwjwuwpwswih: UGYwtu Gpwlhg, pt dwdwGuyp np”
wwhh( £ wihpwdhbyn X mbuwl)r upfwiwGh quiqyuoh pnqupynudp, wp-
wnwnpuwliwi gnpolGpwgh wpdtipp juquimd £ 100000 wynu:

QtnGwpympjuG dwulGwgbnlbph gGwhwwnminy updwiwGitph wwhujw-
Gmpjwl dwhiubpp Ywqinud £ 750 np. dbY dhwynph hwdwnp:

bGywhup®@ wtwp t jhGh upSwiwGGbEph fwdpwpwlwyh swihp, npubugp
thGhdwgytl wpnwnpnipyul L ywhwywGnmpjwl dwhuubpe, bph dtnGwpyne-
pynilip nmupbjuwl wyfuwnmid t 50 pwpwp: b*Gs hwéwhunpjuwdp whwp b ytip-
uhuti] wpunwnpuljuG ghlyp L nppw®G YihGh npu wlnnnipymGn:

luGnhp 3: UGnpuwnunGubp 1-hG funphG, npnbtn fuwGmpp ywuwwmypipmad t
ohpwGh shp: Ukdwpwlwl qGnuip yuunwpymu £ pdpwpwlwlyblpny, npnG-
ghg JjnipupwGyynipp wwpnGwynud £ 158 thwptip uty thwpbtipp 1000 np..

Lhpywynuiv dSwnwwpwpanp bp wuyjpuwlpp yuéwnenud t qbngny:

Upryn®p fuwlniph wnloptlp whwnp t oguujh npl k qlinshg:

Muwwmybiph swhp Qtiny, % | dwptpwynpdwl ghlip, np.
0 - 199 0 1000

200 - 499 2 890

500 L wybihG 4 960
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fulinbp 4:Npnywih wpnwnpulph wikGopjw wwhwlowpyp Juqimd t
100 dhwynp: UGYwu fjudpwpwGuyh dunjwihg, Gpw dkinpphipdwl dwhuubtpp
Juqunuwi &G 100000 npwd, hulj dhunnp wpnwnpuGph opwywG wwhuwln-
pjwG dwjuubtpp’ 20 npuad:

Npnyby

w. SGwnbuwybiu wnwyl) Gupuwmwjwhwpiwnp fudpwpwlwlh dwywip

L dwwnwlupwpniGtph dheb pGYwd dwiwGwwhwmnywon:

p. hdpwpwlwyh jwjwgnyl dwywip L dwwnwwpwpmdGtph dhol
pGYwd dwiytnp, bpt hGwpwynp t ywljwunpnh wowewgnudp L hwjun-

Gh t, np dhuynp wpnwnpuGph wwhwunpnh ghiypmd YGwuh yunphp

Juquimu t opwlwG 30 npud:

luGnhp 5: tnGwpympymbGp hwiwipmad b ppnwyh wpnwnpuGph ww)w-
pp GiGbkny dbhuwdujw wwhwGowpyhg, pGn npmd wwphjwl Wywhwlwpyp
Juquinwd £ 1500 dhwynp: Smpwpwlyymp wpuwnybph Juunwpiwl owpuubpp
YJuqimd &G 10000 npud: Uhwynp wpunwnpuGph wpwhwywGiw( wiuwwb
owhubpp Yuqimy G 1000 npwd (h by’ ywlwunpnp pwgwnymad t):

Npnyby

w. Mwuwybph jwjwgnyl dSwywyp b dwwnwwpupniGiph thele pG-

Jwd dwdwlwluwhuwnywdnp:

p. Swpbliwl wywhywlimpjwl dwfuutiph wwpptipmpymip’ hwibkdw
Gy qwyjwgmyG L Yhpwnynn upbpulybpybtpp, pén npmd JtpghGu

(whiwwmtumd b nwpjuw pipugpnid wikGwdujw wywhwlowpyh wwun-

ytph pujwpupnud:

loGnhp 6: Mwhtivnmwynpwd wwypwGph dEhopjw uwjwemip Yuqin
50 dhuninp: NMwwnybph dLwybpupiwG dSwiuutpp Yuqimd GG 12500 npuy,
pinnpmy dhwynp wypwlph wwhwywidwb Swluutpp Juqimd GG jwpwpw-
JuwG 3500 npwd: Npnpbt) wunnybpGliph jwjwgnyG pwlGuyp (Innwpybing
uhGyL dnnnwluw wdpnng phyp), npp dtinGupympyniGp whwnp t GeplwyugGh
ikl mwpmy, Ept Wwlwunpnp puguneymai t:

luGnpp 7: Upnwnpubph opwliwl wwhwGowpyp Yuqimid t 30 dhwinp:

Uty dhwynph wywhwwlmpjwi owjuup 25 npwd t, huy wwumbph ju-
wnwpdwl Swuup’ 5000 gpud: Gapwnptny, np Wuwlwunipmp pugwnymd t L
dhGsL 300 hwynp wpnwnpuip wwwndhptjhu jmpupwGymp hwynpp
qymu t 5000 npuiny, hul ghpuwqulgiwG nhwypmy’ 4000 npudny, npnybi
wjwwnybtph wpymGuwytn Swwip:

ulinhp 8: Upnwnpuwwnbuwyhh Jwdwnph ghGp juqimd t 2000 gpud,
pujg, tipt wjunmytiph judpwpwGwyp ghpuquGgma t 150 shuynphg, wpynid
b qtnsy 10%: QunGwpympymGp opwhwG uwwnmd bt 20 dhwynp: Uty
TuipwpwGwl wwunytph juwnwpiw Swiuubpp Juqimy &G 2500 npwd, huy
dhunjnp wpmwnpunbuwih ywhupuGmpyu Swjuup’ 15 npuad:
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N°npwilny £ Guywwnwwhwpdwp oquyb; npynn qtinshg:

luGnhp 9: Npnpwyh wtuwyh dwlpwdiwubph mwpbiljul WywhwGewpyp
hwywpiwG dtinGupynpmbnd juqind £ 120000 vhwynp, h nhy wpnw-
npnipjul pGpugpmid ngjuy dwlipwdwubpp gnpowoymd kG wlpGnhuwn L
hwjwuwpwswih: UwGpwdiwutph wjwwnybpp jumwpdmd b owpbjul dby
wlqui L dwnwpupuwpymd t hwunwwmnG Swjwny’ udpwpwGulibpm]:

Uhwynp GtwGpuwiwuh wyuhwwlmpjwG opwljpul dwhuup yuqumd &G 20
npuy, huy fudpwpwGwlh Swnwyuwpupiwl dwhiup 50000 npwd: Upunw-
nnuupjwl plnhwwnnmip Jwipwdwubph pwguwiwympjul wuwwndwneny wi-
pnypuunpbih k:

Npnzty’

w. SGuntuwywbu wnwyb] Guunwljuhwpiup pdpwpwiwlh dwjwip b
JwwnwjuwpupnuiGtpp vhol pGhwd dwdwlwywhuwnywop:

p. Pwlh %-ny Judtl wwpwpltph unbinddwl b ywhywlinpjui owju-
ubpp Gyuqugnyyi gnudwpuihG SwpuunudGhph hwdbdwn, Gph wwwnypp-
Ynn fwipwpwGwiyh Swywp hwjwuwp k 5000-h:

q. fudpwpwlwih jwjwgnyyl Swywp b dwnwwpupmdiGbph dhol pG-
Jwo duwiwlwjwhwnywop, iph dwipwdwubph Wwijwumpgp pnyjwn-
pbh b, huy Shwynph wwwunipnhg yGwup jugind b opuluG 20 npud t:
fuGnhp 10: Uty hwuwngny dby wiund wpnwnpdmd 2000 dhwynp

dwlpwdiwuy, npnlp htnmwqumd dwlynd GG dh wy hwuwmngny, nph wp-
nuwnpnuluwinpimbp wduwywb 500 shwynp £, hul dGwguwd dwlpuwdwub-
pep wwhbunwynpynud EG: dbnGwpympjul dwulwgbnGbph gfiwhwwnnuing
wwhwwlnpjwl dwhubpp uqimd GG mwpbiuwl yw)wplGbph dhohlG wp-
dtiph 20%-p: ULy dwlpwiwup wpnwnpiwb dwhuup Jugqinad t 1250 pp..

w. Oppw’G t wowehG hwuwmngny pnnupyynn dwlpwdwubpp fudpw-
pwlwlyp, L hGy° hwlwhunipjuip whwp £ Yuqiwybpuybp wyn dwipuww-
ubtph wpnwnpnipniGp:

p. 0°nG L wnwohl hwpgh ywunwuhiwbp, Gph hGwpwynp (habp wpnw-
npuiywl dwhbipp hetiglt 250 npundh:

q. hG;wb°u Yinfudtip wnwehG hwpgh wwwmwutuwbp, tpbk wpnwnpm-
pJwl wndbtipG hotigytip 1000 npwdh:
luGnpp 11: “Utntinh”atnGupynipymbp ttiupnGuyhG wwppbph funynp

hwlpwjuwbnep t: Unwyb) hwipwdwunstih wypulpp quw nwnhnpanneGpyny
umbipingtijbpG £ Uyn wwyjpwiph ywhwlowpyp nmwupydw pipugpmy pw;fu-
Uynud £t hwjwuwpwywh b Juqdmd t 2000 dshwynp: Unbiptinhybybpp wpdb
25000 npwd, bpbt wGihpwlwbnptlG qGyh wpunwnpnnhg: Uyn wwpwbph
wwunytipp wpdb 25000 npwy, huy wwhwywidwG dwhuubkpp Juqinod GG ww-
2wplbph dhohlG wwpjwl wpdbtph 15%-p: dtnGwpympjul Junwywphyp
gulyjwlGmd t YpSwwmb)] nfjuwy wypwlph wywowplbph dwywp’ Jubiuhl



108 V. aucuruvteh uunuduruuy vvabeuse
—_— ey ——————————

gnidwph hnupp (wyjwgGhim Gupuwmwyny: Lpw qGwhurnminy’ wwywpGtph
puwgwjuympjul wwwndweny YnpniunGhpp, nprGp wwydwGwynpwd b6
Jwdwnph dwywih Guqtgiwi L hwGwlunpmGhph JunwhmpymGp Ynpgt-
im htan, d&Yy Shwynpp hwdwp Yugimd GG wmwpiwG 2500 ppuad:
Muwhw(gymy L.

w. ipnpb hibjpGiph wwywpltph vnbnddwl htn Juupwd plng-
hwGmp dwfuubph GwqugmyG wpdtpp, tphk ww)wpltph pwgwjuw-
jmpjniGp wGpnyunnntigh t:

N°nG £ wjwwnybph wpyymGwytinn Suwywyp:

p. Quwlb) Guwynmmpjul dEdmpymGp, npp hwuwGbjh b wuwywnpGhph
pugwiwympjul wjwlwynpiwl nhwypmd, bpt pGnmbymd t hbnbjwg
(whiunpyup ywjwunipnp owolimd t Gnp dwwnwwpupmdiGbphg:

0°nG t ywwytph wpnyymGuybn Swywp:
luGnhp 12: UM pGybpmpymGp  qpunynud t hGhunpuwuwpptiph, win pymd

Gul hwyhyGbph, dwpuwdwp Jwswnpny: Cwpwpyw plpwugpmy ujwhw-
pwplp pwfuymy bt hwjwuwpwywth L hwjwuwp t 25-h, npnGg hwwnG wpdt
4500 gpud: Uty wyunnybtph wpdtpp juqimy £ 7500 np., huy shunnph wjwh-
wjwlnpjul dSwhiup wupju ppugpmyi juqind t 250 gp. gmiwpwd ww-
2wpfiiph dhohG nwpblw6 wpdtiph 15%-p: Gapunpymd t, np wwphG nGp 50
wpwp: Mwhw(oymd t.

w. Gl ywwnybph jwjwagnyl Swywyp:

p- GYbpmpjwG yupympmbp Giphujnmiu juwnmwpma t 300 hwydhshg
punjuguwd fudpwpwliwlyibph ywwybplbp:

bGs;whup®G t juGwynnmpyjul sEdmpjmbp, tpt wwwnytipGipp dwunw-
JupwpytG wnwehl YEwnmd ginwd pwlwyhi hwiwwwwnwuluwb:

q. hGywt*u Yhnfudtp wowehG Yhwnmd npnpwd wuwnybph dwjup,
Lpt 06y wwubph Swwnwjwpwpdwi wpdtpp hotgytp 2500 npudh:
luGnhp 13: QtnGwpympjulp wihpwdtiyn t hp wlvwwnwljuqimd mGk-

Gwy 1000 Swpnwpugbn: UuwnmwGphg wquuynnGtiph phyp hwunwnmG E
L Juqimd t nwpbiwG 150 dwpy: Gwpupwl wjuwnmwbph wigltip Gnp pG-
nGjwd Gwpnwpugtnbtpp juqimd GG foiptp L muwimd dGnGuplne-
pjul Yuqiwybtpywo hwwnmly nuuGpuglitpmy: JtnGupympyul hwdwp
mumgiwG jnipupwlsymp oy wpdh 12500000 np.: Gpb hGwpwynpnipynG
siw SwpnupugqbnGhphG wibwwwn wluwnuGp mpuwdwnpb), wew jnipu-
pwlyymp Ywpnot hunfwp 86 wiumy dtnGupympjmbnp YnpgGmad t 25000 nn.:
MwhwGoyma k.

w. Npnyti, pi p"wGh Gwpnwpwgbtn wbhwp b hwéwjuh wyn guupG-
pwglitipp:

p. bGywhu’h hwéwunipjwdp whiwnp b juqiwlbpuyt] wnwhup guupG-
pugGtp L nppw”G YhGkG GwpnwpuqnGiph numgmin
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q. B. yhnmd unwgywd ndodwl Yypw hGswb*u yugnh htinlbyw wupdw-
Gp . gy thmih pGpwgpnd uminpnn SwpnwpwqtinGtiph phyp ywbwnp £ glipw-
qulgh 25-hg:

luGnhp 14: UunndtiptGwGbph gmgunpiwG upwhh juwéwnph owdwin
Jjuqimyd t nwptjui 200 wywmndtptlw: Snipwpwlnp wuunybp wpdb
25000 np., puly wyuwhujuwlGnipjwG owhuutipp hwjwuwp GG ywpwpGtph shohl
wnwptwl wpdtiph 30%-hG: Gpt wuwwnybph dwduyp 50 wjwmndtptluwjhg
wwlwu b, wyuw vy wywmnitptGwjh Judwnph qhlip Juqdmd t 3000000
nn.: 50-hg dhGyk 99-p wyunndibptiGw wmnd t 1,5% qbny, huy 100 L wybh
wyunnibptGu wwnyhptihu' 3%: Mwhwleymad t.

w. Nnpntk yuwwnybph dwyjwn:
p. U jaunmd vmwgywd wwumwuuwGh ypu hGsub®n juqnh wyl thwuo-
wip, np dwwnwywppnnp qtngh swithp 3%-hg pupépugGh 5%-h:

luGnhp 15: Qwuwnngltiph qwwnpny dwulGwghntwgwd huwGnipp Judw-
nmd b pwpwpwlwl 3 hwuwmng: Gupkh & pgmGh, np pwpwpwlwl ww-
hwlowpyp pwywpwpmd £ MpuwunGh pwfudwlp: Mwwytph dwnwyw-
pupiwl dwdwGwlyp hwunwunmG £ L juqinud t 2 pwpwp: wGmpp hwu-
wnngltipp qlnud £ hwwnp 250000 npuing, huy dby wwwnybph dLwlbpuydwi
owhiup juqimd £ 2500 np.: Muwhywimpjul dwluubpp Juqimyd b6 wjw-
2wnGlph dhohlG nmwpkywb wpdtph 30%-n, huly YnpmuuwmGhpp’ juwyywo wu-
wplbph ywlwumpnh htin, ympwpwlyymp hwuwnngh hwdwp Juqdmd L6
50000 np.: GGpwnpymu t, np wwphG niGh SO pwpwp:

Npnyty, pt hGywb®u wtwp t gnpoh fuwlGmph JupympymGp, tpb Gpuw
Gwwunwyh t GyuquqagnyyGh hwuglhp wipnne nwpyw hwdwp nygjw] mbuwyh
hwuwnngGtph wwywpGtph vntinodwi htin yuwyywd gnidwpuwghl swhuubpp:

fulinhp 16: “Gujowl” pGytpmpmin hwiwjwpgsuyhlG whuGhywh qu-
6wnph fungnp dtnfwpympymb t: dwdwlwnpgyuhG dpwgpkph hwiwp dbn-
Gunpympjulp wihpudtyn b6 vyujuwrwyltp: Ugwdwewllhpp gGmd GG
wpunwphlG dwnwlwpwphg L, hGywybu hupupyud b, dnn wuyyuguynid
wmwpbijuwb wihpwdtn YihGh 2000 ufuwywnwly: UYwywnwybtiph dky fjudpw-
pwlwyh wwuwybph wpdtipp hwywuwp t 16000 npwdp: dtnbwpynipyub
dwulwqbnbtph Yupdhpny dkY ujuwywrwyh ywhuypuGdwld nmupbljwi dwhu-
utipp yuqdmd GG Gpw wpdbph 1%-p: SmpwpwGyymp ujujwunwuly wpdb
400np.: Glipumpymd b, np ufwjwnpwlibph ogunwgnpodwl gnpdwyhgp
hwuwmwmnmG £, hulf wwpwpGbph pugulumpnep’ wpmjuwmnpbih:

MuwhwGoymuy k.

w. (pnpty kY ywudbph jwywgnyl dwjwp b ywmybipGhph phup:

p. SGuwlb wwpwplGbph wwpbiub gmdwpwihl dwjuuntibbp) wpdtpp:

q. Glpwnptlp, np hwunwgh Wwhwlownpyp Yuqind £ nwptub
24200 uyuwyjwnuwly: U.jenmd quijwo ywwnytiph dwywih wywhwywlmip
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fuGnpp modwG Ypw hGywb®u Yuanh Giplu wwjdwGGhpmy, bpp wuwnybph
(wjwgm G Swywyn wy t:
n. Oquwgnpotiny q. g wpymGplbpp” dbwybpubp dbp bgpuywugni-

pymGGpp wnyjuy dnnbh qqumGmpyub yepwpbpywg:

tuGnhp 17: "Upwpwn” dwpquywG wwypwlpGph tunynp juwGnpp wy-
fuwunnid b wwptwb 50 pwpwp: bwinph ywhbunmd ymuwlyb t ptGh-
ufi pwpdpnpul qGnulyGbph npnpwihh wWwywp: QGwypwd fuwGnpp unpy-
Jwd b ympupwGymp 12 qinuyh wywhywlimpyui hwiwp qGh; wmthbp,
npnlg dkYy hwwnp wpdk 4800 np., Gw dwnwnhp t pkGhuh qGnuwyGhpp Juwéw-
nb| hwwnny: 4bpohG wmwpyw pGpugpny ywdwnph dhohG dSwywip fuqumd
t Jwpwpwlwl 12 wmnuth, pGn npmy, yudweph wdjuy Swyjwip dnn wuyjwqu-
Jjnd wikGw)i hwjuwlwlulnpyuwip Yuwhywbyh: bGywbu qGwhwwmywd
tp, ympuwpwGyymp wynuhuh wwwnybkph wpdtpp’ Ghpwnjuy htnwjpnuw)hG,
Jupswliwl L thnjuwnpwidhongltiph dwfuubpp, juqimd kG wiuvwlwé 8000
nn.: Muwwplbph ywhwywidwb d6Y nwpjw dwhiubpp, pun hwiwwwwnwu-
fuwG qGuwhwwnmdGbph, juqimd 66 umjjuy wypwiph Wwiwph pnhwimp
owjuumdGtph 20%-p: lvwlmph Jurwywphyp d6Y JShwynp wupuGph qhGp
hwyupymy £ npytiu d6Y dhwynp wptnwnpubGph qGdw6 wpdtph L wwhujw-
GnipjwG dnunnwynp dwhwbph (wWwhbunwihG wwpwoph b wwypwbph dw-
nwlwpupiwl wpdtiph) qnuiwp, b wjGnthbnl, vnwgywd wpdtph 50%-h
sunhny juwnwnpmyd b welnpwyhG yepunhp:

NuhwGoymy t.

1. Npn2tp nwpjw pGpugpmy ywwnytpltph (wjwgnyG pwGuyp L ph-
(pup gGnwyGkph w)G mmthtph pwGwyp, npnGgny Yuqiuwnpmy £ ity
huwipwpwGwly: 8myg wwy, np UkY qGnwyh ywéwnph ghlp, npp hwiwujw-
nwufuwGnd b wgjug prujugny G yupybjwltpuyhG, juqund 620 nn.:

2. Mupqb, pt fuwlGmph vwhdwGwd ghlp, wpyn’p dbnGwm YhGh
uyjunnnh hwdwn, tpt Swwnwlwpupp 4% qbny hwnljugGh 50 qGnwlhg
ny Wwlywu wjuwnyhpliym ntupnud:

3. hGsuhup® qtny wtwnp t hwwnjwgGh 500 wnnuhh jwihnyg wyunnygbph
hwiwp Swnwywpwpp, npybugh wyl (hGh dnGunm fuwGniphG’ npwytu
uujunnnh:
luGnhp 18: “dwynhy” pGytpmpymGp wikG wwph uwunwpmy b pouw-

GUwpGbph thwnjw pgwGwyGhph thowpwGwy qGnm: YkpehlG tpym wnwp-
md dhohG wwpbjwl wywhwlowpyp Yuqimd t 3000 ypgwGuwl, plg npned
tGpwnpymd t, np wwhwGowpyp twwbu sh thnfudh Gub wyu wwph L hihGh
hunfwpyw dhoun hwunwwnmG: Nwundbph dlwibpydwG dwuup jugqimd t
7500 np: Mwpywplbph Ypunwjuwpiwd Jupdbjuybpyp Gwiwnbumd €, np
Uty Jhwynp wpnwpwph wwhwwiiwG owpeutpp uqimd GG qudwnph
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qGh 18%-p: Uty ypowGwlh GyuqugniyG qhGp, npp hwanmwnywd b wpnwn-
pnn dtnGupympjwb Ynndhg, hwjwuwp t 4000 npudh: Mwhwloymu t.

w. Opnyb] wwwnybph jwjwgnyG dwywn k tpym hwenprwliwl wwwn-
YtipGtph dhol knud dwdw iwljwhwwnywdp:

P- Ljwpugpt] wnwehl Yeunmd pymbGuwd GuiuwnpyuiGbph hwdwp.
Llwnwgnpb] wnwehG Yhmmd plgniGywd GwhnwungpyuiGeph hwdwlwpgp b
wyjw) hwpgh powGwlyGtipmy qGwhwinty npuGg hhdGunpnipymGp:

q. 8n1jg wmwy np 2000-hg ny wuwlwu ppwlwl wwuwybph niwypmd, tiph
wnpununponp nwihu t 3,125% qbng, wyw nu wGnbuwwtu dtnlGuom gt dtn-
GupYynipjwlp:

hGswhuh®G whtiwnp b 1hGh qinsh swhp, Gpl Gu wwwnyhph 2000 Ywd wyb-
1hG 2powGwy:

n. U Yhnnd Gjupuqpiud yupwpltph junwywupiwi Jupdbpuybpuh
Upw hGyybt"u Ywugqnh wyGé thwuwp, np muwlGluplGbph 2pewGulGtph
dwunwiwpupiwl dwiwwluwhwnyuop qunlnd £ hmhnfuwlijwi:

fuGnhp 19: QunGwpympjub pnyupiud wwynpwlph nwpblwl wywhwb-
owplyp hwjwuwp t 4800 dhwynph: GGwhwnywd b, np ywhwywinipyjud
owhiup Juwqimd t wnwpbiwG 10000 np. dGY dhwynph hwdwp, huy dkYy
wwinybpp, wiwp hp swtphg, wpdt 15000 np.: Uwnwuwpupdwl dwiw-
(whjwhwnywontd wwhwGownpyp thmhnuwlw6 b, vwlwyl pwduywihG
unn)q Jupbijh t dnnwpyl) Gopdwy pwtudwG dhengmy, npp dhohG wpdbtpp
hwywuwnp t 100 dhuwynp wwypwbGph, huy gpwopp’ 10 dhwynph: GGuwhwun-
Jwo t, np dwunwljwpupiwd ppwgpmd wwpwph wywliwuh wpdbpp wuy-
pwph ity dhuynph hwdwp juqimd £ 5000 nn.:

Muwhwboymu k.

w. (Ipn Gy yunnybtph wpymGuiytin swihn:

p. Gulh) Ypy6ynn wywuwybph swihp b wwhmuwnwihG ww)wph yw-
thtipp, tpt 4tnGupympjwl JupympimGp dnwnhp b ywwybph jngwpw-
Gyymp 2ppowthmnui wwwhnyb] wwywpGhph ywiwumpnh 3% hwjuwlw-
YwlGmpyniG:

q. hGswhuh®G YhGh wwrwph wwwunmpnh hujwlwyuwlmpmbp ujpun-
Ytiph jmpwpwGyymp 2pgunhnih pGpwgpnid, tpt dtnGwnpympjuG Yuwnwyu-
nhsp YnyGynn wwutiph Swywp uwhdw6h 115 Shwynph sunhny:

n. Opnpty YnYGynn wwufbph wyG swihp, nph nbwpnid uvwpwuybipp
owjuubipp GYuquqn)GG LG:
huGnhp 20: Ogunugnpoywd wywninibiptGuyh ymiwymlué ghlp 2000 wnd

b UbthwljwGwuwmbpp wyGlumd b unwGwg wyn gnuiswphg wybihG, vwyujt
dunwnhp t hwdwdw)Glp wnwehl tptip hGwpwynp qGnpnGhph wnweowpljwd
qGhl (nu Gpuwlwymd b, np Gw ywpunwynp & pp npnymdG pGom Gtip Gppngy
wnwownlh unmwgiwb wwhhg ng n12): Gapwnpklp, np hwywuwp hwjww-
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JuwGmpymGGtpny YwnwownpyytG htnbyjuy qGkpp’ 2000, 2200 L 2400 wnu:
Rlwuywh t, np wpwewpyywo qllphg nplt dtYp pGnmGhimg htwnn, htnw-
qu ponp wnwownplylbpp Ynpgmy GG piwunp: Lwéwnnnh Guwnwyb t
nat] wyG uwhdwlwyhl qhGp, npny hGpp Yunwelrpph htivnwqu wnw-
ownplyltpp nhwnwpybjhu: Apybu winuhuh wpdtp Ywptjh t pGupty 2000,
2200 L 2400 wnu:
Qb uithwuwlwnhpng (wywagnyl Jupybjuybpyp:
foGnhp 21: MwywpGbpp Yipgymd 6 wwhbunwynpynn wpnwnpuGph
80 dhwynp wywpniGwynn wwhbunhg pun hwjwlwyuwpmGph wyniwunG-
Jwl pwtudwG ukYy opnid hhGq Shunjnp wwywp hwdwhumpjunip:
Muhwboymu t hwyyky.
w. Quywlwlhwlmpymbp, np wnwehfw tpym opjw plpwgpmyd uju-
htuwnhg Yytpgyh 10 Shunnp wwwp;
p. Quwyjwlwlwbmpymbp, np ynppnpn opyw Yipgmy wywhtuwnmy sh SGw
ny dh dhwynp wwawp;
q-MwwnGtph owyuwih dhohl wpdtpp’ 4-opjw dwdw Gwlwhwunywom:
luGnhp 22: GGnpnGiph wwhwGowplp wGhwywn pwywpupbine Guw-
wmwyny biijwnpwuwpptph fuwGmpp jmpwplyymp wdujw uyqpmd Yupnn t
wmbnupwful] uwrGupwlGhph WumybpGbpp: Mwwnybpp jnipuplyymp nb-
nupwfudw@ hwunwwnmb dwhuup juqimd t 100 wynd: Udujw pGpugpmd
ity vwnlwpwlh ywhwywlimpjwl dSwpup hwjwuwnp t 5 wnd-h: UwnGw-
pwlGtph puwgwiwimpjul nhwypmd juwimph Ynpnunlbpp qGwhwmymd
GG jnipwpwGyymp vwnGupwih hwiwp wivwlwG 150 wnd,: Uduwlw ww-
hwGownyp wnpymd b hwywlwlwlnipymGabph htnbyw) pwyundny.
Mwhwlgwnpl (X) 0 l 2
p(x) 0.2 0.5 0.3
lvwlmpl hpwgnoma t htnlyw) qupybjuwybpyp. jmpuwpwbsynp wiujw
pGpwgpmd wwwph wnwybpugny)G Swiwpnulyp ywtwp t (hGh Gpyn vwn-
GwpwGhg wybih:
w) SYywy huGnph wypGupwlpwihG jmdmiGtiph niypmyd npnybt;p wig-
dw@ hwywiwywGmpymGGtpp;
p) MuwywnpGtph ywhywimpjwl wiuvwlwl dwfuubpp npnpt npwtu hw-
dwlwpgh Yhdwyhg L imovwG wypGunpwGphg Yuhawd dnGyghw;
q) <bwnwquw tpbp wiudw hwiwp npnptp wwndtpGbph ninupw) udw
lwijwqgny)l Jupbpoytpuyp:
fulinhp 23: «dwdny fudinptinkG» UM pGyipmpymbp quéwnmd b juymb
wwhwowny niGhgnn thwiujwyw’ wdubkjwb 600 hunn, huwnp 60 wnd-ny:
Muhwywimpjul wivwlijui owhup Juqimd b wmwpdu wywwph wpdt-
ph 20%-p, hul Gl wwwunbph ywwnwpdwl hwdwp yéwnpnid £ 100 wnd:
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Caytpmpywl Ywrwjwphyp guliiwind L hpdwlw) mwupju upjuopny
dkY wwwybph (wywqm)l pwlulp:

luGnhp 24: Gtnuuwl wminpkGp gwGyulmd b hdwlw) wnwdh dwomyh
wpmGuytn wwpwpp, nph wywhwGowplp, punn hp qwhwwmdw(, Jwpwpw-
YwG ympg 500 wnnuth t: Uwoniyh whYy mmihh qGdwG ghGp 150 wn t, huy 100
dhwiynp dwonyp vGY 2wpwp ywhbunnd wwhwwlbim ghlp hwdwuwp k
100 wnu-h: Uty wywwytph dLwytpwydwl dwhaup’ 600 wynd. t:
dhunnp dwomyp dGY pwpwp wwhbunmd wwhwwlbne ghGp  hwyjwuwp
100 wnui-h: Uty wuwwnytiph dlauybpupiw owhuup 600 wnd.

GG wnuwdh dwomyh wwywph wpnmiGuytn Swyjwip:

hoGnhp 25: HnuwnmbGp wikG wmwph qinud £ 6000 imuth wnunih dfwomy
kY nmmthh hwiwp Yéwpbinyg 150 wynd: Muanytiph Swjuup juqimd £ 600 wnd
L Ywhwo st wuwdbph dwjwihg: Mwhywlmpjul owluup hwyjwuwnp t
wnwpjw dpohG uwpwpwph wpdtph 5%-ha: MuhwGoynid t hwyybky’

luGnhp 26: vwGmpp wmw) Nuywph wydwgntya Swyjwyp;

p) Uwdmyh dwwnwljupwupp wnwowplymy k htiwmbyuwy qlingbipp’

» 5%, ipt wyywwmyhpyh 1000 inthhg ng wwljuu

» 8%, ipti yyuwwnyhpyh 2000 nuinihhg ny wwljuu:

GiGhnyY Gnp hpundpSwyhg, pGswhuh® pomd junwewnpybhp nhnwnwb
ntyuwjuwpmpjubp:wptjuwi gmd & 30000 mmr Jugph thnph dby wnwhp
hwdwp Jdwpbinyg 200 wnd: ULl ywwmybph hwdwp junmwpwo dwhuup hw-
Juwuwnp t 1600 wnd-h, puly 100 mmihh yuwhwywlimpjwl nmwptluwl dwluup
hwywuwp b 2500 wnd-h: Lywgph thnzh dwwnmwlwpwpnn dheGnpn pGYytpm-
pynlip wnwownyl) t 4,5% qbiny, Gpb wwwngtph dwyjwyp (hGh 5000 wnmtthhy
ny wyuwljwu:

bGywt®u whwnp t Juph fpwbniph nijujuwpmpniGp:

loGinhp 27: bGs-np wwpwph ywhwlowpyp pwyjwpwpmyd b hwiwubn
hwjwGwywGujhl pwudwG hnljyuy optiGph’

Mwhwigwply 50 60 70 80 90
Ldwywlwlwinpjm 0.2 0,2 0,2 0,2 0.2

bGswhup®G wtwp & hGh wwwybph wmpdwl ywhp YLy, npubugh ww-
hwGowpyh pwyjwpwpiwé hwywGwywbinipymGp |hGh 90%-hg n; wlwu:

hoGnhp 28: Npnzwyh wwpwlph wwhwiowpyp pwydwpwpnd t wnyni-
uwynud ptipdwd hwdwubn hwjwGwlwGwyhl pw)uiwé opblphb:
Mwhwlowpy (x) | 50 60 70 30 90
p(x) 0.2 0.2 0.2 0.2 0.2
bGywhuh®G whwnp t (h6h wuwwybpph npdwl wwhp (Yenp), npuybiugh
wwhwlowpyh pwywpwpiwl hwjwlwwbinpymbp |hGh weGfuql 90%:
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UmnmgnnuyjwG hwpgtp

1. hGywhuh® owhmbphg G0 Ywqiymd wwywpGbph Juwpewjupiwi hw-
dwlwpgh pGnhwGmp dwhuubpp:

2. bGywt®u b npnpymd dwnwlwpwpynn wpnwnpuGph fudpuwpwGwlyGhph
dhot pGYwd jwywgnyl dwiwGwlwhwwmywon:

3. hGywbt®u t npnpymy jmpwpwGynip udpwpwGuyh puwywgnyl dwywip
dhGwpununpubipwjihl unwwhy dinpbjind wwlwunipnh pugwlwympjwuwG
nbwpnud:

4. hGywb®u t npnpdmd wuwnytph (wyuwgnyyl dwywip wwljwunipnny JkG-
wnununpuipw)jhG unnwwnhl inpbnud:

5. hGywbt®u 6 npnaymd gqnuiwpuyhG dwhuutiph Guqugnryl Swijwpquyp
wwlwumpnh pugwiuympjwul L wnjuwimpjub nbupnd:

6. hGywybtu GG npnpymd wwunbtpGph dhele pGYwd (wyjwgnyG duniwGuyh
dhowljuypp wwjwumpnh puguwijwimpjuG L wnluyngpjuG nbuypmd:

7 0°p dtdmpymGG t Yynsynud jpwupupiwd wwhwlowpylibph htnlwd-
pny YGwuGbph junmipimG L nu h°G3 uwpgquynphy ntip £ uwnmy ywlw-
unipnny unwwnpy Snnbymad:

8. Lijwpwgptip ywywpGbph (wywgqm)G dSwywih hwpupydwb pwjwwpp
qGwqbnyny thGupunwnpuipwjhl unwwnpl dnpbymy:

9. hG;wt°u t npnzymy wpunwnpubplitph wwpwpltiph ejwgnyl dwyw) G-
pp vwhdwGuwihwl nwpnnnpjudp ywhtunwihG wwpuwopltph nhiwypnud:

10. bGywhuh® wbup mGh wlypunupdughG  hwjwuwpmdp  dEGwpown-
pwGpwjhG N thmjwiing nhGunihy dnnbmad:

11. MwpywpGiph dwywpnuih n°p wpdtph ntiypmd wtwnp b Yuwwply Gop
wwwnytph hwjn Ypy6ynn wpouytiph dwiwpquyuwihG hwdwljuwpgmy:

12. bGywhup®G t pGnhwGmp nwpbiwi owhuutpp YplGynn wwunjtph dwiljunpn-
wwyhG hwdwlwpgnui:

13. Npn°Gp &6 hwuwnwwnwgmjud Shewluyph wyG uwhdwGipp, nph Geppn
wtanp t hpwgnpoty wwhwGgwnih wungbpp:

14. 1h°Gy dwyjwny wmnwnpuGp wihpudtn b upuunyppt) wwpptipuynewGwjhG
hwiwljupgmu:

15. hGswtu t apnpyned wuwpwpGph npiwG uwgnyG dwdwGwijuwhwngwon
ynyGynn wunnytiph wwpptpuypewGuhG budwljwpgmd:

7/
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luGnhp 1. <Eppliph vywuwpyiwl dnnkh wwpptph L pGmpwgplph dhen-
gny GYwpwgnti hpwywb opklwmbtipp, gnpoplpwgltnp L YphéwyGbpp (npnlyg
pyhG GG wwwlwlind vyuwuwpydwl hwjmbpp, vywuwpyynn vwppbpp,
htpptiphp JuwGnGulywpgp, hwymbtph ulyqpGunpmiph L vywudwl hwdw-
Jwpgh wwpnnmpjulG pwliwljuwywb gmgwGhyGtpp), wjG nbwypbpmd, Gpp
]unupn Jtpwptpmd t

qlinpnGLphG, npnGp htipph 6 Yublqblwd fuwblniph imodwl Ytnmy,

wyunnibptiGwlbphG,npnGp vuyywund &G nuuwqnuGyubh Jubwy jngyupd,

hhywGnGtphG, npnGp pGnmGhmpjw6 htpph GG uGgqlGwao,

hGpGwphnGtphG, npnlp uywumd &G dEYGwpnrhyph hpuwdwGha,

wnndtiptGuGtph htpphG Ywjpminh nnipu quint wwhhd,

hwynnqulyw YaGunpnGhd,

ympoonju wfuwwnn pwiyh prwdwGimGpha:
IuGnhp 2: UJunndwwm htinwhunuwuywip (ULU-p) nGh fuwugh hhig gho:
U<QY-h dwnwjnipymGGtphg pwdwGnpnltpG oquymd LG dhdjwlghg wa-
Juju, dwdwGulh wuwunwhwiwl wwhtph: APuwdwinpnGiph hwynbpp Yug-
tmd 66 wwpqugm)G hnup 0l pnytmd A=2 hwéwunpjudp: Swijuguo
funuwlygmpjwG wlnmmpymGp GnipGybu Ywuowhwlywl dtdmpyma £ L taG-
pwpyymd b pwpfudwl gmgywhG optlGphG (GywwbGp, np funuwlygmpyub
wnlonnipjwl pwyudwl guGugwd opkliph nhwypmd Ywpbkih b oqunygty Ln-
(wlGgh pwGwdlbtphg): Smpwpwbyymp funuwlygmpjul hwdwp wihpwdt)n
dhohG dwiwlwyp hwywuwp b dkY pnwth:

Muwhwloymu £ qAwhwwnby ULU-h gnpontGmpymbn:

hoGnhp 3: Mwhwlgyma t Gwiuwqob YUY (Guyhp 1-p6 fuGnhpp), nph hw-
dwp pwdwlnphh hwymp dbhpdbm hwjwlwywlimpymin  yqbpuquitgh
0.01-hg (P,< 0.01): UQU-p Gwjuwgdymd t wjGwbu, np hwywmbph hnupp pln-
pugnjmu t A = 0.5 hwjwn ¥ty pnybinud: fonuwygnipywG dhohG wbanmpymGp
hwywuwnp t 2 pnykh  Apnzb Yuwuh gotiph wGhpwdbym pwGwyp:

lulinhp 4: StntympymGitph wGplnhww hnup mGbgnn hpwgbydwG-
npwiwpwlwywi vwppwynpiwG hpynnmupymbp ShwdwdwlGwy Ywpny b
npnmGb; N wmbnbympymG: Gpb hhpnnnipynilp qpunywd twujw dnwnp gnp-
onn pnnp wmbntympymGatpp hwdwpdmyd b6 Ynpwo:

Uwppwynpiwl hhynnmpjwl dke quaGynn wmbnbympymbGatpp hwonpjw-
pwp Gawlyymd tb: Uk mbntympjwi ynpniunh hwywbwljwGmpnGp sph
qtpwquigmy 0.25-hg, huly Wpwyiwb shoht dwidwlwlp hwywuwp t 1.6
Juplyywbh: StnbympymGGhpp dmwnp GG gnpomyd A =1 hwdwjunmpjwdp:

VVVVVVY



116 VI. L6PrEGMrh SEUNRE3NRML LABLLEGN:
————————————————————————————————————————————— e ———

UGhpwdbin b npnzbi hpugbiiwG-npudwpwiulwl vwppwynpiw hh-
nnmpjul GuqugnijG dwywyp:

luGnhp 6: (twnhnuwppbph GnpnqiwG wphbunwingmy w)luwnmd
hhlq uwpwtin: YwpybtinGbphG Gipuyugymd b opwywl ShohG hwyyny 10
hwjwn: PGwlympjul Ynnihg oqunugnpdynn nwnhnuwpptnh pwGwyp yw-
thwqu(g dto t, L npubp ponpG b dpdjwlghg wiywu wiu juwd wyG dwdw-
Gwy fjuwthwGymy LG:

Uwpptph GnanqiwG hwjwntiph hnupp yjwwnwhwwG' ynwunGjué t: bp
htipphG uwippliph Gnpngiwl hwdwp Wwhwleyny dwiwGwlyp Yuwujwo wi-
uwppmpjwl plnyphg, Jupybuh npujwynpmihg b puqiwphy wyi wwwn-
Gwnfbtphg, GnyGwtu wyuwwnwhwhwi' gngywihG t L pun Ypdwljugpulywb
wnywGhph opwlwl ShehG hwpyny JwpwtinGiphg jmpwpwbynipp Gnpn-
qmu t p 2.5 nunhnuwpp:

QGwhwwntip nwnhnwpptph GnpngiwG wphtivnwlngh wjuwwnwbpp:

fGnhp 7: Gpyupmnm jujwpwié mGh 5 junwdwwnnjg: Uwjwpwi
dnlnd wduwlhwb dpeht hwyyny 20 ptinGwwnwp qGwugp: 9-Gugpltpp dw-
dwlmd GG wwppbp yujwpwGalphg, wGgimd GG wwppbp mwpwompyma-
Gtp,L pwqiwphy Wwwlwneitpny thnthnfuymd £ npubg wpugmpyniGp:

<twmbwpwp glwgpGipp Yuywpwl b dwiwimd yuwnwhwiwl wwhb-
nh, npnlp L Yuqimy E ymwunGyub hnup: 3mpwpwGyymp qlwgph ptnGw-
puthiwl dwiwlwyp GnyGybuy yuwnwhwhwi dtompmG t, Yuhugwd t
qlwgpGtph pbrGwwwpnnnipymGhg, ptinGtph wnwldGwhwwnynpymGitphg
L unn mph ywwdwnGuppg: ULy qGugph ptinGwpwihiwG ypw dowfuuymy
L dhohG hwyyny 6 wfuwwnwbGpuwjhG op:

QGwhwwnbtp Juwjywpwlh wyfuwwmwbpp: Upynp Yupn®n b wdl jujw-
nwiGh pnnniGuympymbp, tptk YunmgytG Gnp YrunwiwwnnygGbp:

Lywwnwwhwpdwp b wpnynp ujupwih plgw)Gnudp:

luGnhp 8. UywnwqhGmpypuG 10 dhwynph Gnpngdw hwdwp qnpomd LG
qnpuiwutpmd  wmbnupwyfuwd wnwpphp wmbuvwyh 10 wphbunwingGtip:
Uwwuwpynuip juqiwybpyymd t 2pehly wphbunwGngGliph dhengny Yuud
htiGwYybnwihG wphtunwingmd:

Quiwywinwuhiwbwpwp uvywnwghGoipjwl wnwppp wtuwlGhph Gn-
nngiwl mlngmpymGp wwppbp b Unwohl nhujpnd wyl juqijwod bt wp-
hbunwbngp whnuinfudwi Ypw owhuujwd dwiwGuyhg, hyubu Gul wi-
uwppmpyul nuniGuuppiwG b GopngiwG dwdwGwyhg: Gpypnpn nhwpnid
w)G pGnpnpymy t wGuwpp qkGph wtnwihnuniny, wGuwppmpjwd nunid-
Gwuhpmpyudp L Gnpngnudny: “thgmp' Gopngiwl wmlanmpymbp wwwnwhw-
w6 dhompyniG b pwytufwd gmgywjhG optiGpny’ 1 ywpunitnpny, npntin
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D S - -
1 =z’th =tl]+tm.+tmu+tm)'|'tq-
t, - wphtunwngh YuGsh huniwp wihpwdhyn dwdwGulyyp,

fm. - wphtunwGngh mbnwihnfudwG shehG dwiwbGwlyp,

the - nunuiGwuhpmpywG dhohl dwiwbwlyp,

fmz -wphbumnwGngh wyuwnwbph juqiwltpydw dhohG dwdwlwlyp,
ty - GnpngiwG dhohG dwdwGwlyp,

fh - GnpngqiwG dhohG qnuiwpwjhl dwiwGuyp:

JhSwljwuwgpuljuG wnyjuGtphg hwywmbh £, np wivwlwG vwywuwpyymd
5 dhwynp, hulj wphtumwingh Yulsh L nbuGpyuwih Gnpngiwl hwdwp ujw-
hwGoynud L dhohl hwyyny 6 op,: LmjG tnubwyny npnyyned £ hGwytwnwghG
wnhtunwnglGbph uyywuwpydwl dhehl dwiwGwyp:

‘unpngiwl hwjpnbtph hnupp vwhdwGuhwyywd t qnpuiwubph pwGw-
Yny L hwdwpymd t ynuwunGywi:

S hgmp' hnuph funnnipjmiGp wiuwlwb A=1 shwynp t: GGpwnpmd LGp, np
tph npwo t GnpngiwG hwjwn, wwyw wphtivnwlngp wbnuithnfuynid t qn-
pwiwu: Gph pninp wphbunwlngGtpp dhwdwdiwblwly qpunyuo Gl, www
2wpphg nnipu Ejwod qtGpp npymd L GnpngiwG hbpph:

MwhwGoynud t giwhwwnk) wphtiunwinglitph wuwwnmwbpn:

luGnhp 9: UndhupnG fuwGmiph Gpym wypwipwgbwmbhpp pGuysnpmiihg
pGnmGnid wmwppbp hptip  npnpwih Jupdwnpmpjuip hbimwqu JuGwnph
Guwtnwyny:

‘Lpwlp unmgmyi bl wwpwlph yhéwyp. ghwhwwnnd GG wwpwbpp L
nmpu &G qpmy wlnnppwgpbp: Ywhjwd hptiph pwGwyhg,npubg npwyhg b
2w wy] wuwn§wnGphg jmpwpwbjnip hwéwhinpnh sywuwpydwb dw-
Jwlwlyp yuwmnwhwlwé t L pujuwpupmd b puwyfudwi gnigswihG opklphG’ p
wwpwibnpny: Luwlh np wwypwlpwgbnltpp mGEG wwppbp wunhawGh
thnpdwpmpinel, wwyw wnwohlGp hwdwhnpnGbphl uywuwpynud E ShohG
hwyny 1.5 wlqwd wpwg, pwh bpypnpnp:

Qhgnip' wnwohl wwpwipwgbnp dbYy dwdimd vywuwpymd t Shehd
hwipyny 9 hwGwlunpn, huly dyniup’ 6 hwdwhunph: dwdwjunpnGbpp fuwbmp
66 wyghimd dhijulghg wijw m ywwwhwlwlnpkG dty dwdimyd 12 hw-
Swiunpn, b juqimi G ymwunbjwG Gnup: LEwGg Ynnihg wwpwipwqgbin-
Gtph pGwnpmpymbp hwjwuwpwhwywlwyw6 b, wpuphGpG ¢ = 0.5:

Mwhwboymy t gGwhwwnb) YndhuinG juwbmpp wouwwmwbpn:
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fuGnhp 10: Unpuljwnrm)g punuiwumd pugyb) bt «Lwgbih» qhntgyn-
pjwul upwh, np6 vywuwpymy £ win punudwuh phwlhyGephG: Upwhp hw-
SwiunpnGbpp yupuwyphpuwlng GG wyghimyd dhdjwlghg whywhu, dwdwbiwyh
wwwnwhwlwG wwhbphl L juqimd GG ymwunGjwG hnup:

Uwlw)G hwéwfunpnGtpp (hGnud G6 tpynt nbuwyh: Ndwlp’ yuwpybnGh-
ph qrunjuompjul wwwmdwneny, jupnn &6 htipp Juwlqlhy L uwwuby, huy
djmuGtpp Qnwwmd 6 b htnwimyd yupuwyhpwlnghg:

Tthgnp' wnwehG wnbtuwlh hwéwjunpnGbpp Yuqind GG hnup' dwdmd
A =10 hw6wuntpjwdp, huly tpypnpn wbuwyh hwéwhnpnGbpp’ dwdnd
A, =2 hwéwpumpjuip:

{wéwhunpnh uwwuwpyiwG hwiwp wGhpwdbtn dwiwGuyp Gm)Guybu
ywwnwhwluwb t: Tw jwpywd b hwdwhnpnh vyuuwpydwi mbuwlhg L
2w wyp yuwnéwnelbphg: Smpwpwyymp hwlwhnpnh uvwywuwpydwl hw-
dwp JuwpwbwnhG wihpwdtwn bt dhohG hwyyny 15 pnwyb, wjuhlpl, jmpuw-
pwlymp Jupybwn kY dwdind vwyywuwpymad t dhohG hwpyny snpu hwéw-
tunpny p = 4: Ywpuwyhpwlingmi w)fuwwnmy & plnudtGp 4 ywpybiun:

UGhpwdbywn t gGwhwwnt) yuwpuwyhpwingh wuwwnwbpp:

luGnpp 11. dpswhuwgpuljub wjjwGbpp gniyg GG wmwihu, np pippwhw-
Jwph optphG npnywlh pyny vwpphG wnpulpnnpltphg 20-p fjuwthwGymad t:

Smpwpwlyymp wnpwlnnph Gnpnqiwl wwwéwnp jwhujwd bt wluwp-
pnipjwl wnbuwlhg b mlma t dhohGp kY op (iﬁnmé 1 op, u = | mpwiwnnp):

GGuwhwwnbtp mpuyunnplbph yphéwlyp pippwhwyjuwph dwiwGwly:

luGnhp 12: hGpGwuwwuwpiwl hwiwjwpgmd ywhwbelGtph dnunph
hnupp ymwunGjwi t' dwimd A = 50 hwEwumpjwip: UnyjwuwpydwG shohl
wnbnnmpymGabpp pwfudwd GG tpuwynGhlghwy’ dhehlp U = S pnut:
MuwhwGoymad k.
> Qwyt) judwjywlwlnptG pGunpjwd dwiwGuyuwhwnywonud vwjwuwp-

YdwG thnynud qunGynn wuwhwGeGtph dhohG phup.
¥ Opnpbp wyf dwiwGwiwhwnjwopipp wwywuwpynny  hwdwlwpgp

wwpwwnipnh gk k:

fuGnhp 13: UgunnjuywGmd Yw 10 ntn’ jmpupwGyympp dkYy dptGugh
huniwp: UdnnitipbGubtpp Juywb 56 dwdwlmd pun hwjwlwljwlnpimG-
Guph wymwunGjwG pufuiwG dwind A=10 wjunndtpbGu: Ywjwing unj-
wnnitiptGwbtph qulytnt mlnnmpymGGtpp pwztuwd GG gmgywyhG' Shehl
hw)yny 10 pnuyk:

MuwhbwGoynud £ hwpyky.

» Uquun ntintiph dhoht pwGulyp,
»  QwjwlwlwlmpymGp, np wyjunndtptGujh hwdwp wquin wtin sh qubyh,
»  UywnnibptGubtph Juyw6 dwdwibm jwjwgny)t hudwhnpymGn:
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luGnpp 14. {pqwlnGtpp wnihyhGhlyjuw Gl hwdwhimd pun hwjwlwlyw-
GmpymGGLph wnwunGyul pwyudw optipp’ duninud A = 30 hpJwlry: Uujw-
uwupwhp nbnuynpnad 14 hhjwGr: CnmGampjul mlnmmpymbp tGpwp-
ymd t hwjwlwlwGmpmGibph pwpfudwl gmgsuwyhG optiGph’ dhehG
hwym| dwdmd p = 20 hhjwn:

Muwhwleymu £ npny Gy
»  <pjwlnGbph wygtimpynGGtph wjwgnyb hwdwhunipymbp;

»  QujwlwlwlGmpymbp, np htippwlw hhjwbnn sh uujwuh;

»  QunjwGuiubnpyntln, np htippwyw G hhywlnp YqunGh uvnyywuwupwhmd
wquin wnkn;

»  MnhyhGhywymd hhjwénh quigbm dthohG wmlnnmpymGp (dnGhm ww-
hhg Ghisb pGnmGampjwb Ytpep):

RoGnhp 15. Uywuwpynn hwiwlwpgh hwdwhunpnGtpp dnunp GG gnpomuad
hwiwdw)i hwjwiwuwimpmGGtph yniwunlGyul pwyhudwl optlGph’ dw-
dmud tpynt hbwwhunpn:

MwhwGoynid t hwpyty,

»  Uuyuwuwpynn hwiwlywpg dmunp qgnpdnn  hwdwhnpnGph  dhohl
pwlwlyp mp dwiju pGpwugpmady,

»  QujwlwbnipyniGp, np dbY dwiyw pGpugpmd vwjwuwpynn hwiwlwpg
umuwp Yqnpoh nGywql dEY hwdwhunpn:
hoGnhp 16: Qwéwhunpyitpp nbunnpul &G wjgbpad pun hwyjwlGwlwine-

pymGGEph wmwunbjub pwyfudwl dwdimd 20 hwdwjunpn: {Faunnpwp

pwgynud £ dwdp 1i-hG: Mwhwloymd £ hwpyby’

»  QwjwlwlyuimpymGp, np dwdp 11-G whg 12-h6 nhunnpuwlnud Yihdp 20
hwéwjunpn wwydwlny, np 11-G6 wGg 07-p6 ntunnpwlmd tntp L 18
hwéwfunpn;

»  QwjwlwlnipymGp, np Gnp hwdwhunpip nbunnpwG Juygbh 11.28-h L
11-G wGg 30-h Whol pGlwd dwiwlwluwhwwnywomd, tipt hwjwnbh t, np
Gwfunpn hwéwpunpnp nGunnpwG £ Gyt 11-6G wig 25-hG:
luGnhp 17: UWjunndwjpmnm dnn quiynn funpinfupuh yudwnwubinu-

GhG Ywpnn bt dnumbGw) dhuwyG JdbYy wdunndbphbw: dhdwlwgpulywl

wnjwGipp hwdwdw)i wyundbptGubbpp funpunjupwi dnnbGmy GG pun

hwywGwlwlimpymGGtph yniwunljub pwfudwG hhlq poutood Gpyne wy-
unitiptlGw shohl hwéwlumpjwdp: unpnjupwl nwinn Swlwujwphp nk-
nuynpnud £ wwup wymnibpbGw (wyGhwjm t, np btph wyn Gulwuwwphp

(hnyhG qpunywd t, wwyw [pugnighy wywmndtpbGwGbpp Yupnn b6 hphig

htipphG uywub] innwiw wquu wnbntipnud): LwdwhunpyGbph yuwunybpGlpp

Yuwuwnwpdwl hwiwp dhohl hwyyng wwhwloymd b 15 pnuwl, vwluwyl plin-

hwGmp nhypmyd vyywuwpydwl wlonnpymGGpp pwpfuwd GG puwn gmg-

swyhG optlph: MwhwGoynud L hwyyby.
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w) Quwywlwlywimpymbp, np unpujwpwGh dmn 3h hwynGyh b ny Sh wynn-
ubphliiw,

p) Uywuwpydwbp uvywunn (uuywjG pGpughl wwhhG nhnlu yuupwuwpy-
ynn) hw6wlunpnGph dhohG phyp,

q) UhohG dwiwlwyp hwéwhunpnh hwjnGyim wwhhg dhGyk Gpu uwyw-
uwnldwh uyhqpp,

1) <wyjwlwlywbnipynibp, np unpniwpwé dwiwiwd wynnitphGuGbph pw-
Gwlyp Ygpuquilgh funpujupwl nwlnng Gwlwwwphh “wwpnnmpymGp’:
luGnhp 18: AwdwhunpnGlpp qnugmghy pdwbtihph Ypuwyh6 SnnbGnud

50 punn hwjwlwlywlnpymGatph wnwunlyul pw)ludwl dudimd wnwu

dwpnn dhehG hwdwhumpjuip: Qwdwjunpnibph vywuwpliwl nlngmpyma-

Gtpp pwyfuwo GG gmgyw)hG' u = 5 pnub hohG wpdtipny: Upwwilh dnn Yu

uyjwubim bpbp wnbn, Ghpwnjwp wjunndbptGwh hwdwp hwnugywd vty

wmbnp: Upywlypd dnnbgnn g wyundbpbGuGtpp  wbnuynpymd GG
2npwljw wquuwn wnbnbkpng:
MuwhwG9ymd t hw)yt.

>  Qwywlwywlimpmbp, np dnnbgnn hwdwunpnp hGuwpwynpmpyniG mGh
uywubint hwiwp hwnjugywd hwppwlymy wnbkn gpuytin ;

»  dunjwlwlwlmpymbp, np dudwlwd hwdwhunpnp wnhyywd YihGh
uujwub| w)yn hwppwyhg nmpu;

»  JdwiwlGuwywbwwnywdoh dhohG wlnnmpjmbGp, nph pGpwgpmyd hwéw-

funpnp unpupwd b uwywubtym hp htipphG;

Upwwlh dnn qunGynn wyjunnibkpbGuGtph wnbnbph pwGwyp, hwyyh wn-

G&my, np htppmd hwdwpnpnh Ynpgpwd thohl dwdwbGwlyp Yuqimy t

Ynpgpwo nng dwiwlwyh wnGduqb 20%-p:

FoGnhp 19: QwdéwpunpnGtph hwjwmbpp YEGupnGuwiwé hwiwlfuwpgh

uywuwnpyiwl vwppp pnniima £ htnlyuw hwdwhwwGmpjwdp.

Y

dwiwGwlp vy hinwfunuwquG- | 1 2 3 4 5 6 7
ghg GhGl djnip (powh)
Qufigtph % 12 15 21 25 18 5§ 4

Uyn hwjwbtpp thnjuwGgymd GG ynpu hhiGwlwl pwdhGGtphG unnpl
phipwo winynuwjhG hwpwpbpulygnipjudp:

RwdhllGbp 1 2 3 4
Qulgqtiph %-p 10 15 20 55
Mumnwufuwlh mbogmp mbp (pnwy k) 2 5 7 4

Unnbjwynptp wnwehG 25 htnwiunuwqugbph hnupp nbwh vywuwny-
dwl hwiwywpq b gGwhwwntp mwppbp pwdhGGliph wzfuunnwbpp hwéw-
unpnGtphG uwpuiwwpyiwG gnponud:
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loGnhp 20: UwpuunnniGG Yu ptinGuunup dkiphGwGtph unnigiwG dky
Yytwn: UkptGwbtph hnupp nbwyh dwpuwnmG ymwunGjwb £ dwdnd A =0.4
hwdwmpjudp: Uky dtphGuyh dwpuwumnmqiwb hwdwp wihpwdbyun | 2
dwd: Mwhwloymy t qunGh) hwwlwYubGnipyniGp, np Jwpuwwmwb vwnnig-
dwG Ytwp
wquuwun t,
qrwunyud t,
htppnud Y 1,2,...,5 pinGuwwnwp dtptlw,
htippnid Yw ny wytjh pw 2,3,...5 pinGuwwwp dtptGw,
htppmud ju wnGuwqG 2,3,...5 pinGwwnwp dhptw:
Qupyb htippmd kY dbiptGujh wvwywubim dhohl dwdwGulyp L htppmd
qu(ynn dLptiGwGtph dhehG pwGwynp:

Murnwufuwby Uz Yud 12

1. MmuwunGh pwyuiwG dhohG wpdbpG nt gnywopp hwywuwp |hGh 36G
Jwpnn:

2. 6pbh qulqudwjhl uvwwuwnpyiwl hwpntiph dninpwjhG  wwhbpp
pwfudwd GG pun Mnuuunbh opklGph, www hpwp hwonpnnn hwjynbp)h
vhol pijwd dwdwbwwhwinywoGtnp pwyfudwd GG gmgywjhG:

3. Gpt dmuwnph hnupp wymwunGjuG b, wwyw dwdwlGulyh whytpe thnpp
hwwnjwonud hwiwlywpg Ywpnn t dnunp gnpoty pyne hwjn:

4. MnuwunGyub dnunpwjihG hnuph hwjnbph dhohG hwwmpymGn hwjw-
uwp L' pun gmgywyhG optlGph pwtudwd, hwenpnuijwG hwjnbpph dhol
pGYhwd dhohl dwiwGwywhwinywdhi:

5. bpt hwiwlwpgmu hwjpntph dmwmph wywhtpp wniwunGyub pwyfumy
mGhG, wyw YbpohG dmwmph wwhhg wigwd dwiwlwywhwunywohyg
Jwhwd hwjwlwywlmpynGl wiG pwbh, np hbnmwgqu npnywyh dwdw-
Gwywhwwnywdmd wmbtnh §aGGw vywuwnpiwl htppwljwl hwjmh Sm-
wpn:

6. Bpb hpwp hwonpnnn hwjwmbiph dhol pGYwo dwiwlwywhwwnywoltpn
pwtuqud G gmgywyhG, wupu pun hwyyh  ppupwlynip bppny
(nGpwghyh hwibkdwwmmpjwip) hwpntph dninph wwhbpp GmyGuybu pu)-
fujwd GG gmgyw)yhG:

7. Gpt hp htppnuid vwywunn hwéwhinpnp wGhwdpbp Lwwyw Gw Jupn®y b
hp htipphg wighty dh wy) htipp:

8. Onpn dwiwGwy htppnid uwywubiny L hwdinqybny, np uwywuwpynd
hpwhwGwgymu k yjwhwqubg nqubnun, hwdwhunpnp Yupn®n & hpuwdwp-
Y4 wywuwnpiwl nyjw] hwiwlwpghg:

9. UGhwdptp hwdwjunpnh htpphg htipp wlgGhp wpyn’p pwguwnpymad
GpwGny, np hwéwhunpyp hnyu nuGh Ypdwnby hp uywudwG wlonmpymGp:
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10. Uyywudw G ntnnmpymbGGiph pwfumip juwudwd t wyG pwGhg, pt htp-
ph np JulnGwlywpgny t juwwpymd vywudwl hwdwlwpgh dke dnunp
qnponn hwjwnbpp vwwuwpyiwG pnmGhm htppwywlinpymbp:

11, UgywudwG dhohlG mtnnmpimbGp wybih jupd t w6 hwdwywpgmd, np-
wtn uywuwpyiwli hwiwjwpg dmwp gqnpdnn wwhwGeGtph pwGwyp
uwhdiwGwihwyymad t:

12. UywuwpydwG dtYy hwjmpG wpqwd vywudwl dhohG dwiwGwlyp
wuunmwhwlwl dnunph hnup mikgnn vywuwpypiwl hwdwjupgmy wyt-
1h phy t, pwl Yudwjwlwb pGunpjwd hwinh vyuudw shohl dwiwGw-
Yp ympwpwGyymp hwdwhunpnh vywuwpydwl ukbnmi dwdwGuly mGb-
gnn hwdwljwpgmuy:

13, Uyuwuwpyiwl hwiwlwpg dwnlGnng hwpnbph wpyniGwytn hwwjun-
pymGp h Yuwpnn gbpwquigl) uyqpGwnpniphg ubipynn wwhwGeGph
unwgiwi yytpwhulynn hwSwhumpjuip:

14. Gpt hwpnGh GG uwnmwghnGup hwywlGulwbGmpyniGiiph wpdtpGhipp,
npnlip hwiwywwnwuhiwlnd 6 hwiwjwpgmd tnwd hwjnbphG, Jupb-
th £ hwyt) quiquowjhG vywuwpydwl hwiwlwpgh pninp hpsGwlywG
gnpownwiwl pGmpwqppp’ hwwhinpnGiph dnunph b Gph pwpudw@
wuwhbiph Judiwjwluwl ntuwlyitph hwdwp:

15. Uywuwpydwb dtY vwpp mGhgnn quiguowjhl hwiwjwpgnd unw-
ghnGwp héwyp tpjuwpuint dwiwbwjwhwnyjuwomd hwuwbbh t ,Gpp
ikYy dpwynp dwiwGwlyh pGpwgpnmyi dnunp gnponn hwéwhunpnGph dh-
ohG phup thnpp t ity dhwynp dwiwGwyh ppwgpmy uujwuwpyynn hw-
SwhunpnGlph dhophG pyhg L tpbk htipph tipywpmpymbp vwhiwGwithwy t:

16. Uywuwnpynn hwdwliwl vwppbph dhwynpmip jh jupnn hwiqtglby
dmwp qnpdny hwjywmbiph vywuiwG dhehG nnnmpywub Guqbkgiwn:

17. UG ‘hwuwnp, np gwiuyuwlGtpnmd wynndbphiubbph Jwpnpnlbpp
hptip GG Jhwglnmi L wiowwnmd phlquuniwp, hGupwynpmpymb t
wnwihu (guwljujwin ghanwplt npytu hGplwuwwuwpliw6 hwiwlwpg:

18. WywnnitipiGubbph YuywlGiwGp hunnlfugyud wnmwpwopp YJunptih b nh-
umwuplty nputiu quqyudw)hG vwwuwpyiwG huniwuwpg, npnud vupuuuply-
dwl hwiqmjgGhph pwlwyp hwywuwp b wyG ntntph pwiwyhG, npnighg
JmpuwpwGympp YJwpnon b ownwyby dkl wjnndbipGugh YujwGiwG:

19. Qbpwyuwympjwdp hwdwluwpgh vk wytith pwpdp qbpwjwnipjundp
hwjnp dnunp gnpdtipm nhwpnud uyywuwpymap sh jupnn pGnbwnyb):

20. Mmuwunljwl dnunpwjhG hauph GipwjhG hnupp Gnyujtiu wymwunGjwG t:

7/
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1. Uwwnphgujhl fjuwnbp

1. Gpym juwnugnnGphg joipupwlympp hp dnph n (1<n<5) puny
dww t gniyyg nwhu Gymupl L Shwdwiwbul wumd £ dwwbhph wyG phyp,
np hp Ywpdhpny gnyg Yunu hwywnwynpnp: Gph fuwnwgnnGbphg dbiyp
Gyt qniawljly, hul Gymup’ ng, wwyw w)l fuwnwgnnp, np Ghn b gniwlby,
unwimyi b Gpym fjuwnugnnGtph gniyyg njwo dwwbbph qnudwphl hwyjw-
uwp whmd: Uymu pnnp phwyptpmd Gpym jpwnwignnGhph pwhmdGepG by
hwidwnpynul GG qpnyuljwG:

w) Lwlh® yupybpuoybpy mGh jmpupwlynip fpwnwgnn n=3 nhupnid:
p) 9nbp fuwnh duwnphgp n=2 ntypn:

2. NpnGdwG 9wbpknh pwyfunmy: GpYypnpn fuwnugnnp n poheGhppg k-
ynid nplt wpwpyuw t wuwhmy: UnwehG huwnugnnp wmpuwdwnpmpjuG nwly
Jwl r (hGuopnnGhp, npnlp, wnwpywl qunibm hwdiwp wbwnp b pwpudbl
punn peheltiph: OphGwy, nbuh wrwehG pehe Ywpnn b6 mnnyty (r-1)
twpnn, bpypnpn pehe” kY thGwpnn, hul dmiu peheGlp’ ng np, L wy)G:

Glipwnpymd t, np hwjwnGh t npnGiwG pGpwugpmd dbYy thGwnponh Ynndhg
dtl pohonii wnwpywb qulhn hwjwlwywimpimbp (pt wnwpul wyyg-
wntn & qunGymu): Swpplp hGumpnnGhph Ynndhg wowplut qunGhip wilwhe
wwwnwhnjpltip GG:

Unwehl hmwnwgnnh pwhmip thGnpnnGhpph mpdwd puyfudwG ptiugpmd
wnwpiuwb qunbGbnt hwywbwywlnmpymGa t.

w) {w Yt wnwohl fuwnwgnnh Swpnp yupdbpuytpytph phdp:
) 4pbip fuwnh dwwnphgp:

3. Puqiwnwpyw npnGmd: Gpypnpg fuwnwugnnp m ube gGnhyGhpp wuw-
hmd £ n vunhnpGtpmy: j-pn vwhnpmy wwpmGuyyny gbnhyGupp plnhw-
Gnip phyp (ub L uwyhwnwl) hwjwuwnp b4, j=1,2,...,n: Gpypnpn fuwnwgnnp
wtunp b ul gGnhYGEpp pwtuh n uunhnpGtph dhol, pGr npmd jmpupwbyynp
uwthnpp qGnhYGtph pGohwGmp pwGwyp hwunwnmG b L hwjwuwp b4,
¢i > m: Quljwnwynpnp (wnwohG fuwnwgnnp), hGwpwynpmpymG mGbGuwny
unmqglim uwhnpGphg dbyp, wlnd E hwjnfwpbpb; wnwdbiugnmG pdm|
ub qlnhyGbp: i-pn vwhnpp unmgbihu wewehG wnwgnnp wWwnwhwpwp
(hwjwuwp hGupwynp) m hww qGnhy b pGuopnd £-pg U pp pwhnodp hwyu-
uwn £ m qlnhYylitphg yuqidwo pGunpwbpnid ul gGyhyGtph Jwpbiunnplyw-
YuG uwywubihh pyhG:
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w) Hhgmp' i-pn uwihnpmd wwhywd b p; hunn ub gGnhy: Lwyyty By hw-
Julwlywlmpymbp , np i-py uunhnphg Yytpgpwo r hunn qGnhyGhph funidpp
wwumbGwymd t ninhn j hwwa ul glghly:

P) Gnb uwnj dunnphgp:

4. QwhwonuhG wwyunwwlnpymbG: dwlwonuwjhG ww)wmuwlmpjub
hwdwywpgmyd Ywpny GG yhpuwnyl onwjhG Gywlwybwntpp fungbim Lplp
wmbuwypr dhongltp (1,2,3), npnlp wybtiwp t pwtuytit Gpym dbYGwpYw)hG
YujywGpGhpp dpol: Uhengltiphg jmpwpwlyympny pGpGwphn tungbim hw-
Julwliwimpymaabpp mpdwd GG htwnbyw) Swnphgmd.

12

1[0.3 0.5}
210503]:
310.1 0.6
Ghpwnpymy £, np hwpdwlnudp hGupuynp £ dhw)6 gty hGpGwphnny:
Unwoht juwnwgnnh whnuip hwjwonujhG wwwnwwingpjul hwiw-
Ywpgny hGpGupjhn fungbym hwyjwlwlwnipymGa t:
w) Gph juwnh dwunphgp:

P) Mwpqti, pb wpnyn’p qnympyntG mGh” dwpnip Jwpybjwlbputpny
|nomu:
5. Qulb] htwnljwy juwnbph wpdlpGlpp L hwjwuwpwlynnipywl hpu-

yh6wlGpp.
Y2 0 12
35
w) e 32102
33 [o 21 7/2}

3-24
-1 42
2 26

dwunphgny fuwnmd fuwnh wpdtpp v=2 L (x",y") qnyqn, nmntin x =(0,0,1),
y =(2/5, 3/5, 0), hwjwuwpwiynmpjwl hpuyhGwy t:

7. %hgmp A'(A") -p A dunphgh GGpwdunnphg t, npG utnwgymd t A
dwwnphghg dh 2wpp wnnnbp (uymGuyGtp) eGetiny: Sniyg wwy, np Ehpw Gl
vV, £V, €V,. wGhwwuwpmpymGGtpp, npnbn v, -p b v,--p hwiwyw-
wnwufuwGwpwn T, U T,- fuunbph wpdtpGpG GG

8. Fhunwplynud t [ %l é:) (3)3} dwwnppgny fuwnp: ownh wpdtipp' va=1, b

6. Unmgh],pb wpyn’p
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wnwohl fuwnugnnh ujwugmyb Jupytiultpuyp X = (1/3,2/3, 0)
ytywnp@ £ GGl Gpypnpn uwnwgnnh y - (wyjwenyl qupguybpyp:

9. 8nyg nwy, np glipwlw pnn Jupbpubpuyn gh jupng bulwi hGg:

10. Q-dwgpnptl oty nupjwd Yunnphgny fuwnp

-4 3 5-1§.
0 -2-3-1)

11. 8nyg mwy, np A dunnphgh 3-pn wmnnp gipwywyynn &, npuntin’

200
A=|0 8]:
45

12. 8niyg wnwy, tipk fuwnh dwwnphgG mGh ptpdwd mbupp wuyw wnwehl
ujniGwyh pGunpmpymbp hwiwpdtp t y=(0,1/3, 2/3) juwnp yupytipuytpughG:.
13 0]
203]
13. Oqumugnpdtiny qpwywmpyml hwufwugmpymbp, qulb] htimbywg
dwuphgny fluwnh (nionmdp.
17 21
627

516]

14, [mob) dhGuthnpd npnGiwl fuwnp: Gpypnpn uwnugnnp dh wnwp-
Yw bt wywhmd n poholGlinhg dtlnui: Unweohl futunwgnnp wyb thGupmd | wjn
pohoGliphg ukymd, pGr npmy, i-py pehomyd wnwpyw gubbint hwuwldwlju-
GnipyniGp hunjwuwn £ B;>0, i=1,2,...,n (wyG wwjdwlny, np nu wjGunbn t):
S8nyg wwy, np nhnwnpyynn wnp thngh6 fpwnt b Gunlb) pwnh nudnudp:

15. Gpym wnwpluwjh npnGdwG fuwn: Gpypopn pwnugnnp Gpyn wpwp-
Yuw £ wjwhnud n peheGtipnud (Yuptih & GpymuG ty gty pehomd): Unwopd fuw-
nugnnh Gywnwyb &t hwpnGwpbpt) gnGt dtY wnwplyuw, pGn npod, Gw hGw-
pwynpnipjmb nGh unmqbim gty pohe (i-pn peheomd Ukl wnwplw hwjwn-
Guptptint hwywGwlywimpjnlp hwjwuwp b B3>0, (wyl wwydwGm], np
wnpwpywl wjybnbn t): Gph i-py pphomd thwdwdwlwy tpym wpwpluw t
qufiymd, wyw npubg shwdwiwlGwyw hwymiwpbpiwi hwjwlwlwbm-
pymGp hwjwuwp k& [3;2: Upuwhuny A={04,} Swuwphgp, a=(i,)), i,j=1.2,...,n,
ntGh hbnlgwy ntupp.

.= 0, i=), 12k,

akaz Bi’ i=k, i¢j$

Oly,= Bj’ j=k, i;tj’

Oya™ Bi(z_ﬁi)’ i:jzk:
Lmob) wyu uwnp:
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16. Lmob} pwqiwnwpyw npnGiwG fuwnp (nbu 3-pn yuwpdmpyma):

17. ®Gwpnnh tpYthnpd npnGiwG fuwn:

Unypnpy fuwnwgnnp nplt wewplyw t wywhmd n peheGhphg dkynud, huy
wnwhl fuwnugnnp (GhGwpnnp) wyn wnwpywl hGopmd b hGwpwynpm-
pyntl mGLGwiny uvinmqbim peheGtiphg tpymup (GnyG peoh YpyGwyh unm-
qnud ) pnyjunpynud):

UnwehG fuwnugnnh dwpmp Jwpybpuybpybph pwqimpmip punju-
gwd t (i), i=1,2,...,n, j"=1,2,...,n shwipGylinn qnyqbphg L wwpmGulymy t

C, wwpp: bpypnp fuwnugnnp dwpmp Jwpybpuybpytph puqdngniGp
npnynud b k hGnbpuny, k=1,2,...,n L ywpniGwymd t n wwpp: SwhmdGhph
dwuppgl mGh B={bgj)x} mbupp, npuntin
B” _ T tplii=kjud) =k,
Gk10,  wy) pliwpoid

Lnwdk1,217,2  21,>0L /7, + /1> 1/1, bipwnpmpjwdp fuwnp:

20. Gpythnpé npnGiwl juwnmd phnwpylp wyl nhwypp, tpp wnwehl
fuwnwgnnp dwpmp Jupybjuybpybph puqimpymip pwnyuwgwd t papnp
hGwpwynp (1,)) qnijqtiphg L wpupmGuymy t n’ wnwnp:

lvwnp \mob) tGpwnptiny, np

n-1
Y1, /1, <1:
k=1

21. "Chnytym fuwnnui” (nb’u [3], 6.14twn,) gmjg nwy, np wnwehl fuwnwignnp
shzun mGh Shwl wywanyG Jupdbuybpug;

2. UGhwjwiwpwn fuwnbp

1. Gpym dhwynpnuiGlip ogunuwiywp hwlGwdnGtph himwhimqiwi wpfuw-
nwplbp GG juunwpmd n pyny hwlGpwyw)jptpmi: Unwehb L tipypnpn dhw-
ynpmuiGbph htnmwpumqiwl hhiGwlywl dhengGtpp Yuwqinmd GG hwdwww-
nwufuwGwpwp o L B i-pp hwGpwywpmd oguuwlwp hwGwonGbphg
unnwgywd Jwhnypp hwyjwuwp t ,>0: UhwynpmiGtph dhel pwhnypn puy-
fuyma t Ghpnpoudtiph SwuGwpwdhGGhiphG hwdwwwwmwuppwG: CGn npmd,
tipt i-nn hwGpunjwypmd dhonghtp Ghpnpywo skG, www i-pr hwGpwdw)phg
dhwynpmuiGipp pwhmjpGtpp hwjwuwp GG qpnyh:

w) Lywo ppwyhdwyp GYwupwqpt) fuwnh mbupny, jmpupwlyymp
dpwynpiwG pwhmip hwdwpbiny ponp hwpwywyptph oqunuwp hwGny-
phg unnugjwd plnhwnip whnypn:

P) Gt Lth hwjwuwpwlynnipjwb hpwghGwyp:
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8mgmu: H; pmbyghwyh gnquynpmpymbhg ogunyl) pun x-h L Hr-p’ pun
yh

2. PGwwwhywlmpjwl wnminy Gywlwlywihg ppwlmd juw n pyny
wpymbGuwpbpwlwl dtnGwpympymG, npnGghg jmpupwlyympli mGh dky
wnunnuiwG wnpymp: i-pn dinGwpynpjwl wpnwGbnynn Yewewlywup Gym-
ptiph q; unmmpjwG wpdtpp hwitdwmwljwb t win dinGwpynipjwl wipnng
wpnwGtimiwG 0 < x; < a;, i=1,...,n dwjuwyhb: i-pn dinGuwpynipywG Ynpniuwn-
Gipp wnwowlmd L6 wpnwnpnipywl puhnGGbph Ybpwdywliwa fi(x;)
dwhwbtphg L wpunuiw G hwpyhg, hGs6 hwitdwwmwlywb b ponp dkinGwp-
YmpymGGtph yGwuwlwp Gymptph gnuiwpwyhi q funmpjwlp: q dkom-
pymGp sh Yupnn qhpuqubgt; 6-Ghg' JGwuwlwp Gmptph vwhiwGuw)hl
pmyjuwnphith funmpjwl wpdbphg: {wlpunwl nhwypnud i-pn dtrGwpynipym-
Gp (pwgnighy S; iniquiGp k &wpm:

Upywd Ghiphwly hpuwnpmpimbp GYupugpl] n widwlg wlnuhip fuw-
nh wbkupny, ympuwpwlsymp dinGupympjul Ynpmunmb ppuGhny pGuwuwwh-
wwlwlwb shengurmiGtph gniiwpwihb dwjuubphG hwywuwp:

3. Gt ‘Utoh hunjwuwpwlpempjuG hpugh6wyGhph (Gupmp Jupt-
Jwybputipnd) puqimpymbatpp htnbjuy” A={a;} L B={b;} dwwnppgGtpny
(mXn) tpyJwuwnphg fuwnbpmd:

w) A L B dwunphgGtipp walyniGuqdwyhG 6 L nppuwljwG, wyjuhGpG

m=n, a;= bij= 0, l;tj haﬁ>0, bii>0, i=l,...,m,j:],...,n:
205 221
P) A=[223]’B=[078]
38 -1 134
Q) A=140 2|,B=|218
12 3 230

4. 8m)g wmwy, np

120 340
A={131],B=|132
221 130

dwuwiphgGtpny bpydwwnphg juwnmad (2,2) hpwyhdwyp hwywuwpwlpn k:
Upyn®p wyn hpuwygh6wlyp fuhun hwjwuwpwyzhn t:

5. by’
410 056
A=|275|,B=[702
601 261

dwwphglibpng tpydwwphg fjuwnmd qulh) dwpnp Jupybuybpubpny
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pninp Nwpbtnn-jujwqgnyyG hpwygh6wlyGbpp: Uju fewngmd wpnynp gnympmG
n(5°0 dwpmp qupybuwybpybpny hwjwuwpwlyynmpywb hpuyhswlybtp:

6. (H,,H,) YnpnhGwwnGpmd qpudhynpbG yunnlbply "pGunwGtijuG yas"
fuwnp quptwyspybpny fjuwnp pagonp hGwpuynp pwhndGeph aYunnpGtpp
(nb’u [1], Yt 1.4):

8nmgmu: UnwehlG L tpypnpn fuwnugnnGbph judwjwiwi x L y juwep
Jupgbjwybpytpp ywpnn 56 updt hwiwwywnwewGwpwp’ x = &, 1- §),
y = (n, 1- ), §, n€(0,1) mbupny: Aptyny fuwnp Jupdpwybpyny H, L H,
whnuiiiph pmGyghwbtpp L wwpwidbwnpbphg wponwpubinyg dkyp, vnw-
Gnid GGp hwwywolbph dtjuywpwitnpwih pdnwbhp, npnGg Yhwynpnudip
htGg npnGhh pwqimpymGG t (nbu 9.9): Gqph Ynpwqhd Jwup wjn hwwn-
JwdGtph pGunwGhph pGngpynnG t L SHY +5H2 -10H,H,~18(H,+ H,)+45=0
wwpwpnih dwup:

7 A u B dwwphgltpny htinbjwy tpydwnphg fuwnmd

602 607
A={043|,B=[040
700 230
qunlb] Uth thmfpG fuwnep hawjwuwpupnmpjwG hpudhéwyp: Uyu fuwnp wp-
rynp mG)® fjuwnp Jupybuytputipny hwywuwpulynmpyubw)) hpughdwyGtip:

Smgmui: LGwh qunGk) (x,y) (hndhG fuwnp hwjwuwpwlyynmpywl hpwyh-
Guyp’ x = (§,8,8:), ¥y = (Mi,Nz,M3), wyGmhtnl hwjwuwpwyznmpyw
w)Gwhup hpwyh6wy, nph hwdwp §;= 0 L wyG:

8. “3mpophGuly fuwn’™:

AYhunwpyymd £ n wGawig winuhGp I' = (N,{ X }ien,{ Hi}ien) luwnp,
npntin X, = {0,1}, Hi(0,...,0| 1)=g>0, Hi(1,...,1 I 0)=h>0 L H;(x)=0" djnu

pmnp nhiyphpmy: Qyunbn || GpwGp gnyg t wwihu, np thinfuwphGnuip ju-

wnwpnd b i-pg nbnma:
w) Uju fuwnp dbyGwpwlb; gnuqnh punwujwwpny:
p) quGt} hwyjwuwpwyrnmpyw (hnyhG fuwnp hpudhdwy:

9. “Gpwdnwlw wpnnGhp”

YuwG tptp wpnn, npnGp hwiwpwywpyws G 1,2,3: bwnmd GG tpym
luwnwgnn, npnGg JwpybjwybpwG' wpneh huniwnG pGupkG t: Loyl wpnnl
pGupym nhwypnud juwnuwgnnGliphg ny dbyp nghGs sh unmwlmd: buy tpb
Gpwlg pGwpwd wpnnGhpp nwppbp GG, www wjl fuwnwugnnp, ophGwy i-
nnp, nph pGwpwd wpnep widhgwwbu hwenpymd t j-pn fuwnwugnnh wpn-
nhG, whmd t tpym wiqud wyty, pw j-pn fuwnugnnp (KGpunpmad t, np
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1-hG wpnop htmlmd bt 3-pp wpnnh): Uwmwlmd LGp hbnlyuy
tipipfwinphg I'(A,B) huwnp.

L2) (2,1) (0,0)

w) Snyyg wnwy, np Ukh dhwy jhnyhG fuwep hwjwuwpwulynmpinilp
Jjmpwpwlgymp fjuwnugnnh Ynnihg wpnnGtph bwjwuwp hGupwynp plwn-
ponipymGa t:

p) 8nyg wwy, np hwdwwtin pwep yupdbuybpyng hwjwewpwlyynm-
pjntGG mGh htinlyw) mbupp’

0,0) (1L,2) (2.))
(AB)=[ 2.) (0,0) (1,2) |:

.. J1/6, tphi=#j,
L("J)‘{ 0, bphi=j:

q) 8myn wwy, np Lhzh hwywuwpwlempjwl hpuwyhdwybpmd yw-
hnuiGhpp (wywugmyGp 3G pun Mwpbunngh, huly hwdwwmbn fuwep Jupybjw-
Yhipwbtpny hwyjwuwpuwlyrmpymbp hwlqbgimd t (3/2,3/2) whmiGp),
nnnGp jwywgnyG GG pun Nwptiwnngh:

10. Oqunnwgnpdtim] Lb2h ufulivwb qunGhy

NERIEERE

dwuwnphglGbpny Gpydwwnphg fuwnh dhelGnpnuyhG jmonudp:
11. Fhunwupytip

B, B
a @) (12)
4. B) az[(z,l) (—5,0)]

dwwnphgny Gpydwunphg 2x2-fuwnp: Uju fuwnp "jpwgdbpmy” fjuwnph dlw-
thnfujwd mwppbpwyl t (wnbu [3], 263 L9, 1.4 Ytwnh 2-pn ophGwyp): Swppk-
puipymbp dhwyG htimbyjuyG t. dwppumwp (wnwehl fuwnugnnn) L ptinGuw-
nwp (Gpypnpn fuwnugnn) dbptGulbph Jupnpnbbpp wwpptp Yhpy GG
qGwhwwnnd Jpwph htwnlwGpGbpp (0 B,) hpwyhbwly): Smjg wwy, np
uwwnGwihph Jupybpuytipytph wbuwybnhg fuwnh yipgpompymip phjw-
pmud t (o 8;) hpwyhéwyp, wyuhlGpl’ pinGuwwnwphG ywpnGwyb] Gwiwuywp-
hp, hwy dwpruwwnwph’ YwGq wnlhi:

3. 4hppwjhG fuwnbp

1. Uuyugmgtip, np tpym wGdwlg JtpeGupwjwynp wihwywiwpwn phy
hpwgtiwip fuwnmd UG2h ponp hwjwuwpwlhe pupjugulud (ny pw-
njwgwywd) hpwyhSwyGtpnid pwhmdbGbpp Whijwlg hwyjwuwp GG:
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2. Ywnmgty tpym wGéwlg pwqiwpw)] wihwljuwiwpn lwwnh ophGuly,
npnbn wwwdh Jupytjwytpybpny hwyjwuwpwlpempjwi  hpuydhGuynug
wuwwdnn fuwnugnnG hGpl hptl wytih yun b yuwwndmy, pwl pGunppwd
mnnig 2w hwljwnwynpnhG:

3. Ywnmgl; Mwpnn (wywugmjl puqimpymGatpp (nt'u [2], Yhn 1.5
ophGuwl 4)

4. Gunmgt| pwqiwpw)] wihwjwdiwpn fuwnh dh wyGuhup ophGuly,
npunbn Lhh hwjwuwpwlynmpjwG ny dh hpwydhéwy MNuwpbnn jwywgn)i
tnuomuGtph jh hwlqtigGmy:

5. 8mjg wwy, np tpb ny puwgwuwywG (H; 2 0, i=1,...,n) puqiwpuy

wlhwywiwpn T uwnmd v({i},z) =0 poap i = 1,...,n L 2z€ JX; hwdwp,
i=41

wyw gwijugwd wwuwpnpw Yupng t hpugnpdyty ywwndh Jupydbjwybip-uk-

nny npkt hwjwuwpwlpyrmpjwl hpuyhwynd:

6. duwlwblwglly YunuwjwpiwG k-dwwpnuiughl Swnwibpy hwdiw-
Jwpgp uvnnpwywpquiphG fuwnh wtupny, npuatn i-pg (i=1,...,k-1) dwywpnu-
mu qunlynn Ywnwywpnn YeGunpnGp wwpwnpltpp i < k-1 ghypmyd puwyfumd b
hptG GGpwlw hwenpy dwlhwpnuiyh Ywnwywpnn YeGunpnGGhph dhel, puy
i = k-1 piypmy’ hptiG tGpwlyw wpwnwnpuywl vnnpupwdwiniGhph Shel:
Smpwpwlyymp wpnwnpuyub uinnpupwdw w6 Qwhndp Yupajwd b dhw)l
utthwiwG wpnwnpmpymbGhg, huy Ywprwywpnn YhGuopnGGiph ywhmdGbpp
hpkfig tGpwhw wpnwnpujw G vunnpupwdwimiGtph wpnwnpnipymGhg:

7. GGt LEh hwyjwuwpwlprmipjwl hpwyhSwyp 12-pn Juwpdnipyn-
Gnmy Jurngywd k-dwlwpnuly vinnpuwiwpqujhG Swrwlkpy fuwnnud:

8. 8nyyg unyy, np o = {V(N),0,...,0} ytjunpp wuwnwbmd t v(S) pGnipuqnhy
PGlyghunyny bplySwluwnnwly unnpuljwngushG Swnultipyy huunh C - Shemyh:

9. ChnuilynGwdl L unnpuwywpquhG fuwnmd, oquugnpdtinyg Lkyh
hwjwuwpwlempjwl hpwdhwlp, jwnmgb) pGmpwgphy pmbGyghw:

10. Ljwpwgpt) Lth hujwuwpwyypmpjwG pagnp hpuhéwyGbph pugq-
dnipymGp tpydwlywpguy dwnwibpy unnpulwpquphG fuwnmd: <wyh
wnGl B, B,,...,B, juwnugnnGbph ynnihg Ae YtGupnpplG "wwwndtipnd”
hGwpwynpmpymGp (ophGwy, i-p fuwnwugnnp Ywpnn b nunuptgh wp-
nwnpmpymGp, tpt wwpwplbph pwujwompymbp sh hwlwuwywnwuhuw-
Gn1d hp pwhtiphG):

11. GGk} juwnh ponp pwgwpdwy hwyjwuwpwiphe hpuwyhdwyitpp
puwn Lbizh (nb’u [2]. Yt 1.5, ophGuy 4):

/e




131

9.

GpuywlmpimG

. Uwhulpwb U. U. LmpppGhp. SGunbunipjwl ytipmompjwl dwptidunnh-

Julwi tnulwlyitp Uwu 1.-GplwG, EGUUGUULER, 1997.

Uwhwljjwb U. L mphpGtp. SGunbtumpjub Jtpmonipjub dwptdwwnhlw-
Juwl tnuGwuyGbp Uwu 2. -Gplwb, GhunmpymG 2001.

Uwhwlw U, Uwpquyub U, bupuybunywi . Uwpbdwwmpuyub opw-
qpuynpmy. -GplaG, GML, 1983.

3apoyc M., Ctenchunp I1. MeToasl NpUHSATHS pelleHUuHn

/Tlep. ¢ anra./. -M..FOHUTH, 1997,

INerpocsn A.A.,.3eHkeBuy H.A., CeMuna E.A. Teopus urp.-M:
BIII.1998

Taxa A. Beenenne B HccnenoBaduce oncpaunit.T.1,2, -M: Mup, 1985.
Hutpuaauratop M. MaTteMathdeckasi TeOpUsi OMTHMHM3ALHMU U 3KOHO-
MHU4yeckas Teopusi. -M: ITporpecc,1975.

Barnep I OcHoBBl MccaepoBaHusl onepanuit, T.T.1,2 /Tlep. ¢ aHra./
-M: Mup, 1973.

10. 3acraBckuit FO.A. CGopHUK 33pay MO AMHENHHOMY MpOrpaMMHpPOBa-

HM10. -M: Hayka, 1969,

11.Kammyctun B.O®. IMpakTuyeckue 3aHATHS MO KypCy MaTeMaTHYeCKOro

nporpamMupoBanust. -A: AI'Y, 1969.

12. Aanuunr Asx.B.AMHeliHoe mporpaMMHUpPOBAHUE,Er0 MPHAOXKEHHUS U

o606wweHus.-M:I1porpecc, 1966.

13.Kapp 4., XoyB Y. KoauueecTBeHHbIe METOALI IIPHHSATHS pelleHH B

yTIpaBA€HHH M 3KoHOMMKe./Ilep. ¢ aHrA./ -M: Mup, 1966.



luGnpughpp

Utiju Uwhwljjwd

SGwnbtunpjub Yyapnionipjub
dwpbdwmhjulwb tnuiwyatp

111

QnpomypGhiph hhmwqnunnuin
nGunbunipjwl yunwyjwpiwb fjulnhpltpnid

fulinhpGtip L yupdmp niGGhp

fudpwghp’ Uwpnghu UwpqujwG
Cwpunpwlph fudpwghp’ dpnyn QupwGywb
QwiwlwpgsuyhG 2wpjudp ‘Lwhpw UmpunjwG

Swyjuwp’ 8.6 my. dwdny.: Quwihup' 60X 84 1/16:
©mnpp opubip N1: SwwpwGuly' 1500:
<< QUU «G-hnmpynb» hpwwnmwpulympjwG nujupwi
Gplwl, Uwppw) Punpudjwb 24:



	00004
	00005
	00006
	00007
	00008
	00009
	00010
	00011
	00012
	00013
	00014
	00015
	00016
	00017
	00018
	00019
	00020
	00021
	00022
	00023
	00024
	00025
	00026
	00027
	00028
	00029
	00030
	00031
	00032
	00033
	00034
	00035
	00036
	00037
	00038
	00039
	00040
	00041
	00042
	00043
	00044
	00045
	00046
	00047
	00048
	00049
	00050
	00051
	00052
	00053
	00054
	00055
	00056
	00057
	00058
	00059
	00060
	00061
	00062
	00063
	00064
	00065
	00066
	00067
	00068
	00069
	00070
	00071
	00072
	00073
	00074
	00075
	00076
	00077
	00078
	00079
	00080
	00081
	00082
	00083
	00084
	00085
	00086
	00087
	00088
	00089
	00090
	00091
	00092
	00093
	00094
	00095
	00096
	00097
	00098
	00099
	00100
	00101
	00102
	00103
	00104
	00105
	00106
	00107
	00108
	00109
	00110
	00111
	00112
	00113
	00114
	00115
	00116
	00117
	00118
	00119
	00120
	00121
	00122
	00123
	00124
	00125
	00126
	00127
	00128
	00129
	00130
	00131
	00132
	00133
	00134
	00135



